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D995) DPNRY /T2 MPNAL NPT MDD DD ,OPRIPN DMDNY MNYP 1PRY ,MINK Mymn ™
O NO2IN NNONI VMY XY NN NITHINA

:(1.2 N91N) (random variable) RPN NINVN

ND) DY NNNIN P2 WP IRV DT At 0IPN MNYN DY XIPI) IRIPN MNYN
J197 XL Y 0T 0o MmNy XD 20N HOvnn 99010 INIPN
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mnon 1.2

AP DNI2INA AN NOY NP TPONNA NONNS NITHIN NPT

:(1.3 N919) (discrete random variable) 7973 'NYPNR NINVYN

NN’ =) MTTA NN 25 NN DY NPIVAR MXNN D87 OPRIPN DONYN MY
JODPN IN 9D NPNY 01D OPIVIN £ DY 190N IWNRD (MODND

:(1.4 N9159N) (continuous random variable) P89 'NIPNR NINVN

N YOPN DY MATHN MDD DY NPIVIR MININ 00T OPXIPN OOHNWHD NAY
.DWOPN Y GOIN

DMDN ONIPR MNYN (NPND N MRNIN 790N OY TTA ORIPNR MINYN) 1.1 onT
O ARNIND MHANON Pad ,{1, 2,3,4,5, 6} ,PP NPT NIRNN P2 WP

INIPN INVN (NPODIN NDI MINNIN D900 OY T2 ONIPN MNWYN) 1.2 ANt
J67 IRINN 53PS MIANDN PAD PP MPPN 190N P2 IWPNN DMNMON

OV NTIAYN AT P2 PN OMDN ORIPR INYN (PN ONIPR NINYN) 1.3 Ny
OV NOPNN MHANDNY NNMMDN NNON

mMon 1.2

PON  1.2.1

LTI ONIPR MINYN PPAND 11901

:(1.5 N95N) Probability density function (PDF)

N ANSIN SY MIANDNY 75, NONIN DY NRNN P WP

(1.1) px[zr] = PrlX = z;]

wpwnn (1) MIYY 0TI D373 1TV ,WITNY 2T NN [ D7IND3 viwn
DN DYDY Twnna

OXNY> MN9DA .DPNI DINYND DN T OHNYN 0) ONPNN PDF Hvin it NI12N2
NINYNIA 12TV WITND INIVNY probability mass function (PMF) DW2A 9NN AW Y9N
09720 YV NINP NPPO .T202 DN OHNYND NIV PDF awmn 0190 OMNA .T>T2

JN NavIa YA 01900 Pa

ON0TO N OPRIAPN OOHNYN DY TID> MNON

N0 PDF °2>9y 0NN :(1.1 N35N) PDF 949y 0NN

(1.2) 0 < px[z:i] <1Vi

PDF

D9y OINN
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N0 PDF D9y 0100 (1.2 N)15N) PDF 94y D190 0239y ©1I©

(1.3) > px[z] =1

:(1.6 N713N) Cumulative distribution function (CDF)

T PN TN MY IR OP X ONIPR MINYN TIYY ,mMI1anon

(1.4) Fx(z) =Pr(X <z), xeR.

P8 OWNN NN T TIY

oMY px|z] Yv DL Yy voann Iwpn (1.3 AM5N) CDF-5 PDF ya wp
T ST

(1.5) Fx(z) = > px[zi]

k:xp<z

SPP NP OV AR NN X ONIPR MNWN IR L Fx(3.5) 2wn 1.4 annt

22PN PND XNODN NIAND Y S )ZWINO

+ =+

1
2

=
|~
|~

Fx(z)= Y px[z] = px[1] + px[2] + px[3] =

k:xp<z

J00 NN ,NTIV XD NN CDF M9 (1.4 ANON) MYNINVSPND NNMIND

Fx(x1) < Fx(x1) 199 {X <11} € {X < 22} 07pnn 1 < 25 MY . DNWN

o”p z € (a,b] MY (1.5 AMON) YOpN Sy Manon P MY

(1.6) Pr(a < X <b) = Fx(b) — Fx(a)

onnNl) 0 < Fy(x) < 1 N0 CDF »9y 0NN (1.6 A99N) (P8pP) N8P 199y
O»PNN OV NP 2Oy MAY IWNRD ,(1.2.1 "NOND

(1.7) Fx(—OO> = 0, Fx(OO) =1

Pr(X >1z) + Pr(X <z) =1 0pnm N0 (1.7 0950) Aown mHaanon

(1.8) Pr(X > z) =1— Fx(z)




mNon 1.2 11

(Expectation) noMmn  1.2.2

STTI2 9901 Y ORIAPR ND2 PIAND 190N

(1.9) E[X] =) zipx[xi]

S NPNT NPNAN Yy 13010 .(aY) [Expectation 19N Yy 001N E MND Y D

4.1 P92, TYNNa NN M DY

N WP DY NOMNM ,TPINYD DD NN NOMIN (1.8 ANAN) NYMNN MNAN

M2PN N
(N1.10) ElaX] =aE[X]
(21.10) E[b] =b

$(1.9 N0N) IRIPR MNYN HY PPN HY NINN

(1.11) E[g(X)] = Zg(wi)px (]

;N7 ONNNA (1.5 NN

(1.12) E [Xz] = Z x4

:(1.10 NM5N) NIMN DY NONIN
(1.13) E[E[X]] = E[X]

NNONA NN E[X]| = b 280D 13 3P 19010 M NOMM INKRD DN

.(21.10)

,O”PNN (21.10) NADNY OXNNA :1.6 AT

(1.14) E[XE[X]] = E[X] E[X] = E*[X]

(Variance) mMwvy  1.2.3

IOMND 2220 ORIPR ND) MRNIN OV ND PARD 17900

INIPN NINYN DY MNY

(115) Var[X] = B[ (X ~ E[X])’]




mNon 1.2 12

(1.9 DYTIN) MAYN NITHIN - DMWY

(1.16) Var[X] = E[XQ] ~ EY[X]

A BTN

B|(X - E[X])?]

E[<X2 ~9XE[X] + E2[X]>]

(1.17)
- E[XZ] —2B[X] E[X] + E*[X]
AP OV MY VAP N99ON  :(1.11 ANAN) MNIVD MNAN
(N1.18) Var[aX + b] =a®Var[X]
(21.18) Var[b] =0

1.1 9900 NMDN NN ANINN DR

Var[X] = 0 0»pnn nn

" 955 J9INa
Elg(X)] # g (E[X])
Var|g(z)] # g (Var[X])
NONT
E[XQ] £ BY[X]

Var [X 2] # Var’[X]

Jensen's inequality X1p3 g(E[X]) ya% E[g(X)] ya oawpn Y »onma mm®

9010 I 1.2.4

INAPN N2 MIRNIN N mnm $(1.12 DON) NDNND MXRSIN TINN IWwN
ANAD J9IND ,YNINN 2N Y 99Mn NYNIN Y 2N M0 NIPNA 2, ..., TN
1 X
=1
1 N 2
(1.20) Var| X | = — z; — ElX
[X]= % Zl (i — E[X])

NTTIOIN MPNT Y D) MRHDIN MY wNa D720 PR |

YN YN
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DIV 2N Moo Mo P |

MY NYYann 1.3

OV PAN/NNND wNvN aMVN 9951 OV DPY Y19/ SV 2 TINY ORIPN TN
SNIPN MINVN

Bernoulli mvann 1.3.1

DPIVON NINNIN 2 DY MDY INND 1991

.1 —p mM1anon oy “0” NN O

.p MIAnNoN oy “1” NN O

(X1.1 9vR) 07pnn X ~ Ber(p) May
1—p k=0
k] =
px|k] {p k=1
(1.21)
=p"(1-p"" k=01
= (1 —p)o[k] + p[k — 1]
(21.1 APN) ©7pnn X ~ Ber(p) May
0 x <0
(1.22) Fx(x)=X1-p 0<z<1
1 1<z

.p = 0.5 "0 yaon” May 1.7 nnt

Bernoulli N1Y9NN S¥ MNYI NOMN 2wN 1.8 N7 MY NEMN

RARRD
E[X] = Z%’px [:]

= (k = 0)px[0] + (k = 1)px[1]
=0-(1-p)+1-p=p
Var[X] = E[X?] — E?[X]
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Fx k] px k]
A‘ A

L — 1
i :

L—ph--mene- —— L= p e °
| : | ‘

P+ L
‘ ! :
e T s >k L ek

0 1 0 1
CDF (2) PDF (N)

Bernoulli n1YoNN :1.1 9PN

(k = 07px[0] + (k = 1)*px[1]

"

(1.11) PNNVN
=0 (1-p+12p=p=p—p°
=p(1 —p)

.

nMIa nndann  1.3.2
FIVUND PONIPR N2 PON 1901
.0”5N >No2 0N n ONN) O
.Ber(p) ,p NN9¥N »>© Oy Bernoulli NYANN Y2 TNX Y5 O

NN 1 O"N0 NN ,prTa Y MRN k-5 mMN2onnn NvaTY O

0PN 3-5 NN NN P95\ X ~ Bin(n,p) May

n n!
LOMON N NN ,MNOYND k-5 Nmavan =——— D .1
k El(n — k)!

PP NN ("1 MINSIN) MNOYN k Sv mM1anon .2
(1 =p)" % 20 ("0” MNHIN) MNSYD 1 — k Sv MIanon .3

,71”MI2NDNN DYDY SV TN TN

(1.23) px[k] = <Z)pk(1 _ )t
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,1.2.1 N5MN 9"y PDF YW D120 21wN P KON N0 nvoa PR

-

0 z <0
[z]
(1.29) Fx(z) =4 Y px[k] 0<z<n
k=0
1 n<ax

\

10N 1995 1YY MY KN 0PN SYN || Yo

X ~ Bin(n,p) My

(1.25) E[X]=np
(1.26) Var[X] = np(1 —p)

PN 0PN ,(n = 1) TR M) Ny :(1.13 N5N) Bernoulli NASaNNY wp
X ~ Bin(1,p) < X ~ Ber(p)

J6 MNNIN PNV PYTAY MIANDN AVN .0MYI 6 1P P 1.9 T
AWNRD N = 6 TINN PYTI 0N £ = 2 DY DNONND 720D PYaN DX NDIY 1N I\ INO

P = § NN NN NNY¥ND NPD

1
X ~DBin |6,
m( 5

px[2] = (g) (%)2 <1 — %)6_2 ~ 0.20

NMYVNMINY Nvann  1.3.3

k002 ("17) PNSsND MNANoN Bernoulli NIDONN MOYA OPRIPN DD NAY 99N
20" bv omya (k — 1) 987 NN

:(1.16 NYTHN) MNY ,noMn ,CDF ,PDF

o7pmn X ~ Geo(p) , 00N NISaNN N1y

(1.27) px[k] =p(1 —p)* ' k=1,2...
(1.28) Fx[k] =1—(1-p)*

1
(1.29) E[X]=-

p
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(1.30) Var[X] =

770210 DY MNYNRIN MPPIR 6-2 6 IRNN D2APD KO MHIANON N :1.10 NNy
JYUNRIN 6 NYDND TY PPN DY M 1901 XINY X ONIPNR MINYHD T NND
Dpx[1] = § XN MY NP KPNT 6-9 N0 O

62% M12°D 2190 NNVYNRI NPPNA 6 KD DOV NP0 NIN MY NPPRIA RPNT 6-2 120 O
px[2] = 2 -1 ,mwn npaa

2
px|[3] = (g) -5 NN PWHY NN NPNT 6-5 N0 O

5
px[6] = <§> -3 NI TPWW 1PN RPNT 6-5 N0 O

, 01200
Pr(X >6)=1—Pr(X <6)

=1— (px[1] + px[2] + - - + px[6])

(1.31)
1 6
=1— Fx(6) = (1 — 6) ~ 0.3349
:(1.17 N9159) mode
Jo°0PN TIY 92PN PDF MY 1 TIY
(1.32) T = argmax py [z]
T

:(1.18 N915N) (median) 18N

T 8IPY -2 Pr(X = m) = 2 on Pr(X <m) > 1 o»pnn ymay m 7y
VSN

OPOPN YION PTINY 1PN PPV ON DY :(1.14 NNANY 1PSNY NYMN Pa WP

APSND NOMN P32
(1.33) ‘E[X] — m| < 4/ Var[X],

SY TIYN MY, DYSINN NMOWN DY TIYN N ,MeTNn DYInnD ) (111 Anndt
JPIVSN NNOWN
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MONY 1.4

(N1.18) PNYWHNN NN PO 1.1

Yy 2y {1,2,3,...} DPyav 090N YO GOIN TINN k£ DMDN YYIL 19DNY NIDN 1.2

mHINon
2 k=1
2
plk] =17 k=2
1 k—2
() " k=3

? p[K = 4] 7y n2on nn

V2P N OV NP NIRNIN OV 2IWND P8O0 MVYD v (PNO1D) 1.3
NI DNY 1 PN YIAVN NPPRD ITIN ONRIPN DN 1.4

79892 MTAN n-D ND0N NN (N)

Oye MNSY > MIXNIN N TiNnY ,mHanon »nn .omys N = 27 »onn Dy o nn (1)
9892 MTHAR 1 HNNX

=10 72y 1 MHI2NoN SV 90N TIY 2VN ()

AW MYNWYN L1073 SY AN N0 0y TIayd NN NNMON NNYPN Ny 1.5
NOIYNN DY DWNINIAN NN PITAD 1WOONN DY NINPY .02 1000-D NN

INOY 0 52091 V22 1000 TPV MPY (N)
Y 19209 V2 1000 Y MPY (2)
INDY 3 D20 v 1000 YTV MPY ())
MONY

R NMIPY OV INHIND MY MIANDN N (N)
72 MIPY OV IRHIND MY MIANON NN (2)

73 MIPD MY NV IX MINDY 3 NAY MIAN0N NN ()

:0N YN 90WN N 2023 Mva 1.6
N 8,027 SV ysmn 7OV O

N 6,543 DV VSN DV O

N MynNvnn

YN IOV TN INY 10V DDAPN DOVIND 2 (N)

VNN IOV MA) INY IOV DDAPN DVWIND T (3)
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JDNNN O8AY ,YNINNN SYNn 10V DYAPN DVIND '8N 1P ()
2IPSN ID0WUN TN NP 1OV D9IAPN DWIND 1 (1)
2IP8N TDWN MY INY DY DYAPHN DVINA 21 (D)

NN ONM PIPNN TIY DYN IOV O0IAPN OVIND NN, PP ()

NN MO (6,6) ARYINS MIANDNN NN .NP1P 2t MM 1.7
790 N LR M 10 MNAY MINR P (N)
Pt 10 TN L (N N NNX DY) NNX DYs MNaY (1)

P>t 10 TIDN ,T7a%2 DNR 0ys P ()
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S N 2.1

21 O L) AP YL A T I

21 (FP29yN) ONNIMNSOPN NIYaNN 2.2.1
2 NTNAN NYONN 2.2.2
25 e O NYONN 2.2.3

27 D 1 < P2 ) >A 2 1 B 2

27 e count WO  2.3.1
28 e e e probability WO 2.3.2
29 e e pdf »o  2.3.3
31 e D0 2.34

31 e e e et e e e e e et et e ettt ONY 24

PON 2.1

DN OTTI OONYN P OOTIAN TTND (N1

TIWY ,MIAN0N (DN DT 0ONYR Pa NNt (1.2.1 NITIN) CDF YW 17Tn
LT PNIN TN MY IR Yo X ONIPN MINYN

(2.1) Fx(z)=Pr(X <z), xeR.

D»PNN P87 PDF Ay :(2.1 1MAN) 987 PDF

(2.2) Pr(X <z) =Pr(X <x)
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:(2.2 N915N) Probability density function (PDF)

,TND 90N L 199y YD May Nt CDF NMNPNg 1

(N2.3) fx(z) = M

dx
(12.3) Fx(z) = J fx(p)dp

PDF/CDF NIT)N 9y 00aNNa  :(2.2 A35N) yopn Yy mHanon

(2.9) Pr(a < X <b) = fb fx(z)dx = Fx(b) — Fx(a)

D09y "O1DVY Oy OINN (2.3 N35N) PDF MN5N
(N2.5) () =0

fx
(22.5) JOO fx(@)dz = 1 = Fy(0)

JING IOYD M9AN0N NN CDF Y Mynunm) [, 7T ORIPNR MINWYN DY PDF DW Mynvnn
Jx(z) > 1 07pnnd 515 X7 ONIPR MINVH N1AY

,0°09Y NMUINI 92T INNND (2.4 NON) T2 7YY MHANON

(2.6) p(X =a)=0 VaeR

NNNNN NN PPN Y TTA MNWN DY PDF DIVID 1N

2.7) fx(@) = pxlz]d(z — ).

OOV NN P20 ,TTIONIPR MINYHD OV Dyopnd yap Fx(z) a1 awvpn 0w
.PDF-N NNV

PN ONIPN NINVHN OV NONMIN

(2.8) E[X] = J zfx(x)dr

—0Q0

(2.5 NMAN) INIPN MNWN SV PN YW NYMN

(2.9 E[g(X)] = f o) el

—00

Y PDF
INIPNR MINYN
I8N NY
mHanon
{99 19IN2
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OONYN YD NN XN ,NOMN NIRNDN DY DDANN (1.2.3 PI9) MNYN WM INRND
DM OO7TT72

:(2.4 N971>N) mode

PO0PN TIY Yapn PDF Ay ,xg TIY

(2.10) xo = argmax fx (z)

xT

DN T OOINYN NAY NN DVPNN TIY SV NITIN

NYNMIANNH 2.2

(TP299p9) WUNISNAOIN Nvonn  2.2.1

LAt DY) MONONINIDPN JOIND NINYH MIINDN ONAY MYNN PIIND 790N

" orpm X ~ Exzp(A) May

Aexp(—=Az) x>0

(2.12) fx(z) =
0 NINN
N0 NITHIN DY (Matlab-2 ©ON) MI902 ®
L) e=o
— ex —_ xTr =
@11 fx(@) =4 Pk ,
0 NINN

1
=S TN WD

X ~ Ezxzp(A\) 9wx5 , X 5w nomn avn 2.1 At
BARRD)
“ 1
(2.13) E[X] = )\f rexp(—Ar)dr = X
0

X ~ Exp(A) 9wNd  :(2.6 790N) M
(2.14) Var[X] = —
LRI

E[X?] = JOO A\z? exp(—Ar)dz

0

noMn

Dy
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1
=] 2eY — 2ye Y — 3

eVl =

diN

z=0 (2.7 195N) mode

In(2)

:(2.8 NY15N) median

X ~ Exp(A\) 2oxd , X Yv CDF awn :2.2 Ayt CDF

RARRAD)

Fx(x) zf fx(z)dz
—o0
(2.15)
l—exp(—=Az) =0
0 r <0

mISann 0"y NININND NDMODN NOIYNA NOPN DY SV DTN 2.3 et
1 1
ONRY A = 1555 [W—w] NS X ~ Ezp(\) mrow
A=Y nvopIme

0PN YN T INN (N)
?[1000, co] yar NN NSPNY N0 NN (3)
2M2YON YV MNYNRIN MYV 100-2 NOPNS NP0 1 ()
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(3.19) E[XY] = JJ zy fxy (z,y)dxdy

o0

(N3.20) fx(x) = J Ixv(z,y)dy
o0

(3320 foly) = f Fev(a y)da

(>3.20) Fx(I) = Fxy (ZL‘7 OO)

(13.20) Fy(y) = Fxy(©,y)

:(3.8 NH71IN) NOOLVVD OMYN NV DINYN

OPPNN OX PN ONX NVDVLLD DMON N2 DINRIPI OINYN

(N3.21) fxy (@, y) = fx(x)fy(y)
(23.21) Fxy(z,y) = Fx(z)Fy(y)

YD NYR0ANN TINN NOMYN NMIDANN Yapd 1N’y 7252 Mt NIPNa

nomn  3.2.2

(3.7 DM5N) NIMNN YV NPINIY
(3.22) ElaX +bY] = aE[X] + bE[Y]

(D987 DINYN) a = b =1 MNay NN . DNWD

EX+Y]= ﬁ(x +y) fxy(z,y)dxdy

_ ﬁ zfxy (z,y)dady + ﬁ yfxy (z,y)drdy

o0 Q0 Q0 o0
= f 5Uf Ixy (z,y)dy dx + J yJ Ixy(z,y)dy dx
—0o0 \—OO , —0Q0 \—CX) ,

~~ N~

fx(x) Ty (y)
= E[X] + E[Y]
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1(3.8 N5N) OMYN MDA ONNYN MNAY NOMN
oM g(x,y) = g1(z)ga(y) NMSM PPN ©MIN-NY2 DINYND AN NAY
Avpn Y’y NN

7aba 99N NYA DNNYN NAY VN YOID NIPN
(3.24) E[XY]=E[X]E[Y]

(N3.21) DNNVYND ONDNA DNOW

E[XY] = JJ zy fxy(z,y) drdy

(3.25) Ix (@) fy (v)
0 0
- | atx@is | ey
—Q0 —Q0
APAR DvaNN  3.2.3
"y PNY OMON-"NYA OINYN N DY DTN TTNRN-IT NIDINN SV PDF
1 1
. <z<bc<y<d
(3.26) fxy(x,y)=<b—a d—c
0 NINN

DTAN TPTON-IT INOAND NIAY :3.9 NPT
((3.18) NXNWN) M9 HY nOMIN Sv XNoN 9"y E[X ] awnd (N)
X ~Ula,b], Y ~Ule,d] oon->na1 0nwn ma 1 my ,mand v (1)

RARRD

glr,y) =1

E[X] = JT zfxy(z,y)dxdy

b1 d a+b
:L b—adxf dy = 5

[
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a+b c+d
2 2

E[XY]=E[X]E[Y] =

(OO
fx(@ = fXY(xay)dy
J —00
(1 41 1
= < <
=<b—a£d—cdy b—a asesb
0 NINN

(N3.21) MNNVN ONRIND OPPNNY ,NIRIND N2 D100

ym,a=c=0,b=d=10101979 0y NTNX THN-1T NDONN NIY :3.10 NPT

?CDF-N
AN

.

0 r<0,y<0

U dedy =2y 0<z<1,0<y<]l

(3.27) FXY(fan) = S(l) Sg dedy = x 0<z<ll<y

Y l<z,0<y<l1

11

kSoSodxdyzll l<z, 1<y

namvn MY 3.3

amTpn  3.3.1

Var[X + Y] awn :3.11 nnat

RARRD

Var[X + Y] = E:(X +Y - B[X + Y])Z]

- B|((x = BIX])) + (v - E[Y]))Q]

(.29 - B|(x = EIX))*] + B[ (v - EY))’]
Va;[(X] Vz;fy]

+ 2E[(X ~ E[X]) (¥ - E[Y])]

[ >
g

COV[X,Y]

LOPRIPN OONVN ONY P2 OINDD) WP PAND
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43

:(3.10 N972N) (covariance) NONIVN MNY

(3.29) Cov[X,Y] = E[(X - E[X]) (Y - E[Y])]
NI 90 Y19) N"O’]
(3.30) Cov[X,Y] = E[XY] — E[X]E[Y]
AP
Cov[X,Y] E[(X - E[X]) (Y - E[Y])]
(3.31) = E[XY] - E[XE[Y]] - E[YE[X]] + E[X] B[Y]
— E[XY] - E[X]E[Y]
(3.9 NM59N) NAINVYN NNV YV MNan
(N3.32) Cov|[X, X] = Var[X]
(23.32) Cov[X,Y] = Cov[Y X]
(33.32) Cov[X,a] =
(13.32) Cov[aX,bY] = abCov[X Y]
(n3.32) Cov[X,Y] = Cov[X +a,Y + 0]
(13.32) Var[X + Y| = Var[X] + Var[Y] + 2Cov[X, Y]

Cov[X,Y] =0 omn-nda onwn M1y :(3.10 NN5N) 05N 10 onwn

J3.31)-1 (3.24) MINNVYND DNDNNA . DNOW

:(3.11 NMON) (T393) 05N *NYA DINYN TV MY

(3.33) Var[aX + bY] = a*Var[X] + b*Var[Y]
.(13.32) XNDN2 1PN MXRID YNNIV WD, TPIRYD KDY NN 99D 192, naw |
:(3.12 7195N) Cauchy-Schwatz 1Y N
(3.39) E2[XY] < E[XQ] E[W]
(3.35) Cov[X,Y] < Var[X] Var[Y]
PIPY-IR IND) DN
636 B|(aX +Y)?| = B[X?] + 20B[XY] + *E[V?] > 0
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MY DAPNN O YNN TIVD
E[XY]
E[Y?]

(3.36) NNNWNI NN NANN

(3.38) E[X2] ~ Q%E[XY] 4 (%YE[YQ] >0

2NN covariance NAY , 0N .NYPANNN NRNIND NN DN NIAYN ,010°02
X > X —ux,Y =Y — puy nad5Nn Sy ooann

NONN MY IN (ORNND DTPN OVA O NT) PXONP DTPN
ORI NOMYN MNVY Y NI Pearson product-moment correlation coefficient

(3.39) Cov[X,Y]
. PXYy =
v/ Var[X] Var[Y]’
(3.3.1 050 9") |pxy| < 1 070 AwNd
JPIRYD MDD OOYa 0PN OINYN pxy = =1 MY (3.13 NON) MARPY MON oM>n
MINRYY
07PN PIRYY WP PR) PXONP oN X, Y May MYINP 90N
(3.40) COV[X, Y] = pPXy = 0

on ,07oN °NY2 0N X, Y 9UND  :(3.14 NON) I8TNP A0INY MYN IR A WP
JPNDMP 20N D)

MISONN SV 209 NIPND 1VINA) TAR PNPIA P XIN YNN - XONP 20N <= OMONONO2
{Tvnna ,oN)

5v aNNa

(3.41) E[XY]=0

DML IN NP X, Y o)nwn

Lxy AVYN 3.3 DONT MY :3.12 Dt
295 0»»aN 225V 50 2N YNT PNINAN WND

Cov[X,Y] = E[XY] — E[X]E[y]= 2 - T.2_ 3
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Pxy = = — ~ —0.327326835353988571899146

DI WP DY DINYND MNP 900

May Var[X], Var[Y], Var[X + Y], Cov[X,Y], pxy 2vn :3.13 04

X ~ U[0,1]
- X
RARRID]
Var[X] = (b I;) = %
Var[Y] = Var[(—1) - X| = (=1)*Var[X] = Var[X]
Var[X + Y] = Var[X — X]| =0
|

= —Var[X]

pxy — — Var[X] _ Var[X] _
\/Var[X] Var[ X] |Var[X]|

PNDMP 20N DAN 00N DN 90N
MMy Cov[X, Y], pxy 29N> v :3.14 Ny
X ~U[-1,1]
Yy = X?
MNINO

plx)= D g

&MxﬂzEwﬂ—QmﬁﬂzEwﬂ

1
1
EwﬂzEPﬂzf P —
1= (1)
or)
Ix (x)

= COV[X, Y] = pXxy = 0

de =0

JPNOMP 20N OMON OHNWYNIA TN ,D1D0D
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MONY 3.4

X, Y 0nvnn 2 ©RaN 0P 0NN (D) 3.1

(3.42) Var[X + 2Y] = 40
(3.43) Var[X — 2Y] = 20
(3.44) Var[X] = Var[Y]

Var[X], Cov[X, Y] nx m190n 2vn
(X, Y ©)nwnn P2 covariance NYIVN HY DIDNN D)

DONIPN MNYN DY NOMYN NNDANN NNN (DX TT2 DINYN DY P8O DTPNn) 3.2
A2N2 Mavann Yya XY o1l
Pxy TPNOMPN DTPN NN 2YN

plX =0Y =—1] =

p[X:_LYZO] :%
pxy|z,y] = <

p[X_ 1’Y: ]:%

pIX =-1Y =—1] =}

Y1) X; ~ U[0,1],i = 1...,n 09Nn-nY2 OPNIPR DINVNHD n NN 3.3
Y =X -Xo-...- X,
Z=X1+Xo+ ...+ X,
E[Y],Var|Y], E[Z],Var[Z] 2wn5 v
,OMYN MDY IPSPNS NN (N8O NP OTPN) 3.4

fxv(z,y) = exp (—4x2+ y) u(z)u(y),

PXY PNONP DTN RN .7DITA IONPND u(T) IWUND
AN LY = —6X + 22 ,0”NRIPN OONVUN P WP PNy 3.5
(3.45) E[X]=3
(3.46) Var[X] = 2
E[Y], Var[Y] awn (N)

D22ApNNN IRNMNN DX PRI/H200 XY ya oxonp o7pm Cov[ X, Y] awn (1)
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:Bernoulli DNYONN ’b)‘l 0”5nN-'noa OYNAIPN OINYN 300N 3.6
X1 ~ Ber(p1), Xo ~ Ber(ps), X3 ~ Ber(ps).

:DMI20NN VN (N)
p(X1 + X0+ X3 = 1) (N)
p(X1+ Xo + X3 =2) (3)
.pi # 0.5 39y May N0 Y INRNMIND NN P1TA0 v ()
Yy mnno v XY ~ U0, 1] ©05n-nba 0PXIPR DIINVND NNy (7PN9D) 3.7

PN NN PNINDD

1 Y 31
Pr{X3>=—)="=2=0.
r( 3 > 2) D) 0.96875

r ~ Ula = 1,b = 3] 95901 DOYTIV INT .DDwN HY DYTI MTDTH My 3.8
MR No3 AT IRV ATPTON 0~ N(p = 0,02 = 0.01) N0 N1 IR
avns v A = 7X2 0 nowy ,C = 27X NN 90 X = 7+ n Non TN IR

2E[C] 710 S3ynn Hv ysimnn 9pon nn - (R)
?Var[C'] ;77030 D39nn Sv 90 Sv mawv >nn ()
E[A] ;77030 Saynn v yimnn nov inn ()

.Cov[X,r] awny v (1)

O ~U[—m, 7] , ™ 3.9
(3.47) X = cos(0)
(3.48) Y =sin(O)
NP 00N 0N X, Y 0)nwnvy nooind v (R)
E[X?],E[Y?] avny v (2)

MYND I NI 070N ONO2 XD DNV DOINYNA 12TV ,NNNT Y MININD W ()
NNNYNI

E[9:1(X)g2(Y)] = E[9:1(X)] E[g2(Y)]
L7252 070N YN DHNYN NAY NNYPNNY



ar

YINID NN

2990 19N

L Vap Ty non 4.1
B9 e e e e e e e e e e e e e e e e YTIN=1T YINIY NN 4.2
-1 7010~ YINIY N 4.3
1 YONND VN 4.3.1

L mHNY 4.4

viap Yy vvn 4.1
SNIPR MNVH Y N8N 9N Ty 1701

9N VNN ,WNAP 'Y NN NKIN PIYN YOIQ NIPN AWM Mn
noMmn

m (EXPECtaﬁon)

NN N

A~

(4.1) Y =b,

20N AYYI MMy X DY ovIs NOPNn NN IYUND

JUOYNn NYSINND T INRDY XN VNN NN TN

:(4.2 DY1HN) NYNINN NWI NNNY

"y NITIN NPNN DV (square error, SE) MW NNV DIy TN

(4.2) se(b) = E[(Y - Y)Q] :

:(4.3 DYTIN) MUV MY ANV 121N NN

IYND ,(minimum SE, MSE) Nysnn My XY Y’y D770 NH0NN DY DWINIAN
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D000 NN TPYN DINDY 1NAY LD DY TIYD NN DWATH

(4.3) b = arg min se(b)
b

"y 1) SE NN NIpna
(4.4) se(b) = E[(Y — b)?].

D»IND NAPNS
se(b) = B[(Y — b)?]

E[Y? —2bY + b*]
= E[Y?] — 2bE[Y] + b*

,DOND NN DV ANV NP 7Y DaP5 170 D00 NN ANDYN INAY b OV TIvD

(4.5)

ose(b)
ob

(4.6) — —2E[Y]+2b=0

NNNINY DINANY
(4.7 bopt = E[Y]

MNYN NN N NIPNA NPNN DY (minimum square error, MSE) 1900010 1MW) NNDHY
(4.8) Semin = E[(Y — E[Y])?] = Var[Y].

NN 9NN ©I2TN NN 0ODD M)

MNP O"Y MONN SV NIPNa (4.1 ANAN) AP Y KD
JPOIYN TP ANAY NAY OMVIND MWNN NN NOMN O

N22APNNN NVNN NNV OO NNV O

YINN-1T YIRIY NN 4.2

2IW9 TRND NN N 2T DINWNN PA IR WP WHNWNY 9010

:(4.4 N7IN) INPY NN

NN N

(4.9) YV =az + b,

L on nwyy 1May X SY o099 0PN NN T AUND

.(linear regression) T’INYY MDY N (linear trendline) >INYD NIV 1P O NNON™

NYTN IWUND (minimum SE, MSE) NY1M0N 1P MRV Y DTN N0NN ¥ DYININ

mynvn
Y NaoN
MY

NN NS
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NN NN NIRNDY ONPND NN

(4.10) a,b = arg min se(a, b)
a,b

,DOND NN DY IRNYM NP0 7Y DAPS 1) D900 RN NNIYN ONIY a, b DIIYN
3onoo

se(a,b) = FE ()A/ - Y)2]
- E:(Y —aX — b)2]

(4.11) _
— ElY? - 2aXY + a2X% — 2bY + 2abX + b2]

- E _Y2] — 2E[XY] + a*E [XQ] — E[Y] + 2abE[X] + b

/
,[ f (g(x))] = [ (9(2)) ¢'(z) ,mwIwn 9932 VIV TIN ,NPHN Y HAPY 1) DI NN

W = E[2(Y —aX — b)(—X)]

(4.12) = —2E[XY] + 2aE[X?] + 2bE[X] = 0
dse(a,b)
— —F [2(Y —aX — b)(—1)]

(4.13) = 2F[Y]+2aE[X]+2b=0

TINNOWIVN NN DIV 1NN

E[X?] E[X]]| |a E[XY]
et o] e
NN DAPNNN NINN
_ BIXY]-FE[X]E[Y] Cov[X,Y]
(N4.15) Gopt = E[X2] ~ B [X] = Var[X]
(24.15) bopt = E[Y] — %E[){]

, 010D

DPRIPN DINWYN N P2 OIRYD N :(4.2 NMDN) DNNYN I Pa PINIT NN 0120
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X LBV R ah)
Y = AoptL + bopt
Cov|[X,Y] Cov[X,Y]
Sl St R A 0l ) P R . g
(4.16) varpx] 2t EV - < P
B Cov[X,Y]

"y NN MVNN NNV :(4.3 N21DN) NYSMNN NI ARNY = NDN NNRNY

(4.17) S€min = E[(Y — (aopt X + bopt))Z] = Var[Y] (1 — p§(y>

(1 — pky) 29 NI MOWN .(4.8) MXNWNI INNINT ANYN

(4.4 DNHON) NYNININ NNNY - NN NRNY

(4.18) E[Y — (aopuX + bopt)]| =0

D2p Y ND NN PN 28NN L,1P8OMP 0N 0NYn Sv Napna |

o»pnn onay Wi, Wy ~ U[0, 1] 051 'nba 07KXIPR DINVN 0t NNI 4.1 Innd

X =W
Y =0.9W; + 0.1W,

E[X],EY], Var[X], Var[Y], E[XY],Cov[X,Y], pxy 29N

4.1 PR DY PNINAN OV 1P NYNND NNO

B[X] = E[Wi] -

+ DN | —

E[Y] = 0.9E[Wi] + 0.1E[W5]

Var[X| = Var[W;] = Var[W;] = i

12
9\° 1 82 1 41
Var[Y] = ( — ) Var[Wi] + —Var[Ws] = —= - — = —— ~ 0.06833
arlY] (10) ar[Wal + gz VarlWel = 356 - 12 = Goo
E[XY] = 0.9E[W3] +01E[WL W]
( 91 1
W]+ B2 W] = — | = + =
Va‘r[ 1] + [Wl] 10 l12 + 22] 3
0.9E[W2] ~ 0.9 - =
: X< o o 3 0
J x de = ——
10" T 103
0

\

13 Wwp
NN NNNVY
oTPNnY
899D
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1 1 1 1
AE[WL E[Wa] = — =« = = —
OLEWIEW2] = 35575 = 19
Cov[X, Y] = B[XY]— E[X]E[Y] = (> + 2 ) - 2. 13 g0z
Vet S \10 40/ 2 2 40
3/40 9
= = ~ (0.99388
PXY T oa 2
12 600

gL, 8/40 1\ _1, 9 1
T2 y\"T2) T2\ 2

41 81 1
mse = Var[Y] <1 — p§<y> = (1 ) — ~833x107*

600\~ 82/ 1200
N = 1e3; FPNDION NAY MTIPON
Wi = rand(1,N);
W2 = rand(1,N);
X = Wi;

Y = 9/10%W1+1/10%W2;
Yh = 1/2+9/10*%(X-1/2);

0 0.2 0.4 0.6 0.8 1
X

4.1 DNNTN MAY MO NN 4.1 PN

M P00 ¥ . ONY DPTHN-IT DD 4 DY MININ MNN) 4.2 IPN2 4.2 IHNY
Joxy] X, Y 2 moxompn o7pnn Sv vomn Iy 9%y 0N SV 70N DR TN
LINWN NN PMY/Ha0nY W
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a b
, (a) , (b)
e © & o ¢
. 1 .’3_-.’? "‘{.v 9 1 . “'..v,..}'
0 ..‘..,'-:-'..;1.:: ‘.;.\ .‘::::.;:..u.\. 0 O . ..{: ‘:;.{:.é
.:;/?.:# 4
-1 o] feaale .
-1 0 1 -1 0 1
X X
c d
, (©) , @
1 . 1 £
- ) o< . “.&
T gt a PP e AR
0 [ K975 T3 S 0 O L
3 gn!“"'
-1 -1
-1 0 1 -1 0 1
X X

MM ,PNONPN OTPNN DY VIMN TIY 9”7y OMDNDN DV ITON NX DIV ¥ 4.2 IPN
4.2 IHINTO OXNNNA TN
2995 19IN2 NNO
1-9 21PN |pxy| DY " p May O
1-9 21PN |pxy| DY MOP” Mva May ,w p May O
:0N ©OIYN LDIVIVA TINK MPY AYND 1N’ KD PNONP MTPN
0.98621 (b) .1
0.90839 (d) .2
0.6233 (c) .3
—0.037787 (a) .4

212072 NPNY YV (Weight) Dpwm (Height) N2 YW 0NN) D02 DM 4.3 NNt
JNNNN2 XY Yy 0NN 1003 N DOINPN OYRPINN

Cov[X, Y], pxy 2vn (N)

.(mse) NOAPNNN NN NRHYN IR AWM X, Y P2 RS non ysa (3)

,(1.2.4 NDN) NOMN DIPNI YNNI Y'Y "y XIN MDD MIRNIN TINN 2NN NN
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APl
1 N
v
1 & 2
=1
1 N
EIXY] = % ) o

Il
—

1

AN Y IR T 9N 0wy Var[Y], Cov[ X, Y] Sv oawnn

Ex = mean(X): % E[X] :Matlab >y 21¥N NAY MNP VIV
Ey = mean(Y); % ELY]

Cxy = mean(X.*Y) - Ex*Ey; %Cov[X,Y] = E[XY] - E[X]JELY]

Vx = var(X); % Var [X]

Vy = var(Y); % Var [Y]

Yh = Ey+Cxy/Vx*(X-Ex);

Rho = Cxy/sqrt (VxxVy)

e =Y - Yh; J) errors

mean(e) % mean error: O in theory
mse = mean(e.”2)

mse_theory = Vy*(1-Rho~2)

4.3 9R23m X, Y 000y 5w o Yy nDapnnn IRIND VIVIVY

http://wiki.stat.ucla.edu/socr/index.php/SOCR_Data_MLB_Heig Twmm ™
(01-11-2020 P72)) htsWeights

140

130 - : 1

120 ' 1

60 Il Il Il Il Il Il Il Il
170 175 180 185 190 195 200 205 210

Height [cm]

LOMVINDN IRPPINN 912072 NIPNY OV DPWND NN P2 IVPNND NNIN IP 4.3 PN


http://wiki.stat.ucla.edu/socr/index.php/SOCR_Data_MLB_HeightsWeights
http://wiki.stat.ucla.edu/socr/index.php/SOCR_Data_MLB_HeightsWeights

YTNN-27 INYD NN 4.3 55

PTIN-29 INYY NN 4.3
DPODVLD DIVYP VIY 'Y DPNRIPN DNVN TINN ONIPR MNYN DY 1non 0900

Rulpiab]

YONNRN VN 4.3.1

T
n%) ,NPo5on Non o1 X = [Xl, Xy, X N] NN >THON-N OXIPNR MO NI
E[X;]=0

oNNYN) X ORIPX. MO N Y OXIPR DINYN DY OIRYD N v
nNm (X, Xo, .o, Xy

(4.19) ?=a1X1+---+aNXN

NTNA DY MHPNN NN OV 1NN

X1
(4.20) Y =a’X = X%a = [al ag - aN] X2
XN
T
VNN MTPN YN a = [al as - aN] TUNO

X; «— X;—FE[X;] ,n5mn naonn »”y 0 nOMN Dy Mnwno Tand 1102 RIPN MNwn 9
NN NI MPNN L0 NOMN OV NNIN KOO

Y=CL0+(11X1+"'+CLNXN

(4.6 NYTHN) NYNINN NI INDY

NN (4.1 NITHN) TP NRDY DX DIWID M%)

se(a) = E[(Y—Yﬂ - E[(Y—XTa)Q]

(4.21)
2
= E[{Y — (a1X1 + -+ CLNXN)} ]
(4.7 DYDY OIIN NYSHIN NI ARNY 12102 NN
NNNA (4.1 NITHN) NYSINND TP DRIV NN NDID %)
(4.22) a = arg min se(a),

a

VN ONTPN AVND NN NIVNN IYNRD
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NI N Y MONN MNTPN DR NN VYN N2

0
~—se(a) = E[2 (V = (a1 Xy + -+ + an Xy)) (—Xl)] —0
0
0
——sda:;EP(Y—«MX¢+-~+aNXN»(—Xg]:0
(4.23) day
0
~—se(a) = E[Q (V = (a1 Xy + - + an Xy)) (—XN)] —0
N
NNIVN NNND O Y'Y IN
E[X?]  E[X:Xs] - E[X;Xy]||® E[X,Y]
E[X:X,]  E[XZ] - E[XoXy]| || | EX:Y]
(4.24) ) 5 :
E[XiXy] E[XeXn] - E[XN] an E[XNY]
E[XXT] a = E[Xy]
NN ﬂbJPﬂDﬂ NNV :(4.5 NON) NVN NNNY
N
(4.25) semhlzaE[Ya]——E:adﬂ)QY1
i=1
(identically MI29NN NMN *Oya 07ON >No2 OINvN X, Xo, ..., X, PN 4.4 Nt

00 02 MM m NYMN 0Y ,and independently distributed)

_ 1&
X:ﬁ;&
szXj—)_(, j=1,....n
IOND W
E[Y;] =0
E|XY;]| =0
NN
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m? i# ]
o’ +m? i=j <« E[X}?]=Var[X;]+ E*[X,]

B|XX| - % NS E[XX] +% > E[XX]

(4.26) E[X:X;] =

i) ) =
cm:nu\;ﬁ -n —
1 2 2 2
= E(n(n—l)m +n(c”+m ))
2
-z +m?
n
_ 18
BXX;| = = Y B[X:x]]

@
Il
fu

MORY 4.4

NN TN MAINN P00 . ONY DX THRN-IT OND2 4 DY MIXNIN MNN 4.4 7PN 4.1
Jpxy| XL Y pa osdmpn 0Tpnn Hv vonn Iy 9%y oMoan YY ATon

OVDLLD OMON-NY1 XY ~ U[0,1] Doy DrRIPN DINVN Y 0Nm - 4.2
200N NVY A -1 32500 90 C viv )25 SV Myds DTN
:DNAN DOYON DY DY

A C -5 omva v Ll
A -0 C ya oneoampn NRavn 2
ANVY TINN 129NN G0 DY OIRYD TIIYYD TIT s .3

DIARYON TIIYYN DY TPODPNN NYNINNN NN DRIV DN .4

~

Y =az n8m X =z oo Y v RS »xen pny 0wn) 4.3
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a b
S , ®
:'f.;-:w."b ..;;;'s...;
ey, o
> 0 RO > 0 e
o (,'::._ . w\;‘v"
K Nl
sUene ol
-2 L/ 2 fages
-2 0 2 -2 0 2
X X
c d
, © (@
.,,'z-{-"_.."‘.' e e
D SEEAEN-A HRC Rk 2
L AR A o0 VTR,
SRR PO AL L X I
F . s '.,:.o
2 -2
-1 0 1 -1 0 1
X X

MDD ,PNOMPN DTPHN DY VOMN TIY 9”7y DMDIN DY 3T0N NN DIVID ¥ 4.4 PN
4.1 NONRYY DRNNNA 7MY

JPOYN DO NNV DY 1202 @ DY ODDVIN TIY AVND W (N)

ElY — ff] ,O2PNNN MY NIV VNS v (1)

~

E[(Y = Y)?] ,noapnnn mysinn 1y ANy avnd v ()

Y = az? nnsmn Y ORAPN MINWND X ORIPR NINYHON ONIN PNY - OINPD-RD 1vN) 4.4
NNDYD MV AYN TPDDIPN NYNIND TN NNV 12102 IOPVIN ¢ DTPN VN (N)

IOVNN @ DTPN NIAY NOAPNNN TPONND NYSHIND NIV

NN X, Y OPNIPNR DINYND NN 0NN D90 May

X =09W; + 0.1W5

Y

Y = W;
.0”on 'no Wi, Wy ~ U[0, 1] 2wxd
NYAPNNN NN NNNDY YV 0I90n TIY avn (3)
Y MINNDN
(z +y)* = 2% + 22y + ¢/

(x+y)? =2+ 32%y + 32* +9°
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(z +y)* = 2* + 42y + 62%y* + 4oy® + o

A

IRNIND DX RNV LY = ax + D DN INRYD DN ANV OV TIYN DX avn ()
PN OTIPN PYON DY IRIND NOAPNNN

D29y DY >TIN-1T ORIPR MNYN NN) (DT DINYN DY OIRYD MNN) 4.5

AYND W NNt MHANoN Ybya X = 0 1 2 2
' " Y ol 11]7]2]"|3

NYIYN NYNYONN (N)
NP9V NYNDANN DY MNYY NOMN (2)
TPNONP OTPNY NOMYN NNV (D)

DOINYNN P INYD N (T)

HANDN DY NPIVAN MDD NINNIN DY 1DV NNINY (DX 7272 OOHNWN DY MINDD "N) 4.6

X| -2 —1 0 1 2 -
N ol>[o | |3 |3 (a4l ""

Y
2 =1 M2y Y S5 INeOn non nn (N)

XL Y pa osomp oTpn nn (2)
MY 2 NN Y OV 0NN DY 10D0N0 NYSIND TN ANDY NN ())
(D72 DINVN DV IRYD NN) 4.7

YA DNAY NPIYAN MNNN NAY MNIANDN YV 1Y20 X, Y 00172 DINWN T )N
Pr[X =1,V = 3] = 0.2 nbaon 9"y ,nmnTH .4.1 nvava

oo
32
02| 0| o |1]
o1]o0z2| o0 |2]
X
0 [02]01]3|
0| o |o02]4]

4.7 NORYN MY NYAY 4.1 NSV

:AVNY WA

Pxy (N)

=3 My Y Sv Ny non (1)
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Hya X ~ Ber(p1),Y ~ Ber(pz) ,05N >nYa OPNIPNR DHINYN AN NN 4.8

,NOMYN NMIDONN

1, p2 227y 0NN (N)
LD900990 Py, pr PRYAT ¥, DXDYON I NAY

NVNN NNAY NN .TPO1N NN TP NI INAY b, »ap "y X Sv nvon waTy (2)

(4.27)

Z =aX +cY

No2pNNN

VPN P ()

NNV PN L, TPOPN TN DINDY NOAPNN YNAY b, Wap Y Z SV N v

DWNN

)2 DX 277PN0MP 00N »iv £, X ONwnnw 0T ,a # 0,c # 0 ©ap on»p orD (T)

252pNNN ONRIND NN



5 999

IMIVNI DNTINY DINYN

DY WP NPOINY NPXIPN D2 MIRNN N DY DT PONRD 1900

9999 199N

. N1NN-19 covariance NNVN 5.1
68 e e e e e e e e e e e e e NTNN-1T MOIRY NYann 5.2
67 e e e e PDF  5.2.1
69 e e e e e e e e e e e e e e MTNN-29 MOINY NIYaNNH 5.3
69 e e e PDF  5.3.1
7 noRY 5.4

N1999-29 covariance NNHVN 5.1

DY DOHNYN P2 MOMYN NMINY QOIN PTIND 17901

:(5.1 D975N) covariance NNIVN

X = (X1, Xs,..., Xn)T 0oNIpR 02nvn Mopn ynena

Cx =Cov[X,X] = E[(X — E[X])(X — E[X])"]
=E[XX"] - E[X]E[X]"

(5.1) Var[Xl] COV[Xl,XQ] s COV[Xl,XN]
COV[XQ,Xl] Var[Xg] s COV[XQ,XN]
COV[XN,Xl] COV[XN,XQ] s Var[XN]

(5.1 NNON) NV

(5.2) CX = C§ COV[XZ‘,X]‘] = COV[X]‘, Xz]
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JE[X] =09urd (5.2 1951) 0 nHMn by Danwn
Ox = E[XXT]
E[X}] E[XiX5] - E[Xi1Xy]
(5.3) | E[XeXi]  E[X3] - BE[XoXw]
E[XyX1] E[XyX,] --- E[X3}]
1782 XYY N DY Y2y Nt NAPN2a
Cxa = E[Xy]
(5.4)
a = Cx'E[Xy]
:(5.3 N5N) DNNYN DI HY N
N N N
(5.5) Var | Y1 X; | = > ) Cov[X;, X;]
i=1 i=1j=1

,N7TIND DNNN DN

3
M=
=
I
=
-
=
|
e
]
>

I
ey
M=
>
|
T2
ey
is)

NN DID0N IDNRND TR DD IWUNRD

(5.6) E[U0;] = B | (X - BLX]) (X; - BIX,])| = Cov[X;, X}]



TPTNN-17 covariance NXIVN 5.1 63

DPNIPN DINYN N DY DIDD NI :5.1 "Nt

2 2

Var[X1 + X2] = 2 2 COV[XZ‘,X]‘:I

i=1j=1
= COV[Xl,Xl] + COV[XQ, XQ] + COV[Xl,XQ] + COV[XQ, Xl]
= Var[X;]| + Var[X,] + 2Cov[ X1, X ]

(5.7)
:(5.4 N20N) PNYNP DN DINYN
Cx = diag [Var[X;], Var[Xa], ..., Var[Xy]]
Var|[ X ] 0 e 0
(5.8) 0 Var[X,]| --- 0
0 0 -+ Var[Xn]
DNOW
(5.9) Cov[X;, X;] =0, i#j
a = (ay,as,...,ay)T D900 NOPN PN (5.5 NIAN) MINDY I8P
(5.10) Var [aTX] = alCxa
.(5.5) NNNWNA WP SV 055 NIPRa TN |
DONIPN DOINYN I O TPINYD 71P8»IMIP 5.2 NNt
Var[Xl] COV[X1 X2] aq
Var|a; X1 + as X z[a a] ’
(5.11) [ 1 2 2] ! 2 COV[XQ, Xl] Var[XQ] a9

= ajVar[X;] + 2a;a,Cov[ X1, Xo] + a5Var[X,]

(5.7) DNNYWNA NRNIND NOAPIN a = as = 1 NAY ,)2Md

Y = AX qvpm A mounn naon 1n»Na (5.6 AON) MIRIY 119810900

(5.12) Hy = A[J,X
(5.13) Cy = ACxAT

Y ~ N(py,Cy) p11-29 01 mnwn Nnv X nay
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IUND

u

=  E[X] ysmn Sya X ORIPR MO N1AY DNW
Cov[X] = B|(X - )X - )|

Cov[AX] = E[(AX — Ap)(AX — AN)T]
~ B[AX - p)(X - p)TA7 |
= AB|(X— w)(X - p)"| AT

— ACov[X] AT,

M1PN-1T MOINY NIYann 5.2

9MWYNa 0»OINY OINYN M) XTHN-1T POIN) MNYN OV NITIN

‘ SOINY NMINYN NN O7MON-"NY2 OYDINY OINYN DIDD \

(5.14)

X ~ N(piz,03),Y ~ N(py,07) 0100 >052 ©INWH N2y 5.3 H9nT

aX +bY ~ N(ap, + by, a’o; + b’o))

W1, Wo ~ N(0,1) ,050 >N52 D»DINY DINVN NE P2 WP MININD 1) 5.4 D007

(N5.15)
(25.15)

(5.16)
(25.16)

(N5.17)
(25.17)

(N5.18)
(25.18)

N3N 9N

X1 = +ouWi + o12Ws
Xo = g + o1 Wy + 022Ws

,POIND N M2APNNN NPOIVA NPNOONN

X1 ~ N(u1,07)
Xy ~ N(pa, 03)

,oMn

E[Xl] = U1 + O'HE[Wl] + UlgE[WQ] = U1
E[Xs] = o

0N ONNYNN 1 OIVPN

Cov[ Xy, Xi] = Var[X{] = afl\/'ar[Wl] + anVar[Wg] = af
Cov[ Xy, Xo] = Var[Xs] = 051 + 032 = 05

oRnYN M
OPOINY
amwna
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(35.18) E[Xl] E[XQ] = 12
E[XlXQ] = E[(,Uq + oy Wi + O'12W2) (MQ + oy W1 + O'QQWQ)]
G +pr091 Wy +p1092 W

(75.18) =E| + poouWi +o1109W? +o1102W1 W5
+  peoeWsy  +o1109 Wi Wo +012022W22

("5.18) = U1lo + 0'110'21E|:W12] + 0120'22E|:W22]

(15.18) = U1llo + 011021 + 0120922

(¥5.18) COV[XQ, Xl] = COV[Xl, X2]

(n5.18) = E[XlXQ] — E[Xl] E[Xz] = E[XlXQ] — U2
(1V5.18) = 011021 + 012022

NI PNOMPN 0T

Cov[ Xy, Xo] _ 011021 t 012022

(5.19) =
P +/Var[X;] Var[Xs] 0102

Yy NN 19V covariance NYIVN X = (X1, Xy) XIPN MOPY Ny

(5.20) o — |Cov[Xy, Xi] Cov[Xy, Xo] | _ | o ponoa
. X = Cov[Xz,Xl] COV[XzaXz] B pPO102 O'g

:(5.2 NY71N) 9MIVNI DYOINY DNNYN M

GMVYNI DPOINY OPRIPN OONYN It DY N0

< [¥]

,NaMYN NMoaNn Y’y P9ND 1N

(5.21) X ~ N [’“] Cx

Vavn

aMmYNa 0»OINY 0N (09N PNYa X 0”ON) X1, Xo, ..., Xy DPNIPN O)INWN
TPARYD XPIMPN OX PN DX (NAMYN TTNN-N NPOIN) NNOONN *Oy3)
NVay, € R M1y o moadnn NN Zﬁzl X,

X ~ N(0,0%),Y = 3X ,07NIPNR DINWN IR 0NN :5.5 007

7(avnD *52) T8O DTPN NN (N)

AMwna 070X 0N X, Y onvny XN (3)
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20NYY NOMYNN NMIDONN N 2covariance NNIVN 1N ())
Lxy = 12PN MY 0y IRYD VP 59332 (NN

TPOINY NN DINYNN DY PINDD Nyamp (2)

a1 X + aY = a1 X + 3axX = (a; + 3a3)X ~ N (0, (a1 + 3a2)202>

(3

(5.22) E[XY] = E[3X?] = 3E[X?] = Cov[X,Y] = 30°
(5.23) E[Y?] = 3*E[X?] = Var[Y] = 902
| Cov[X, X] Cov[X,Y]| 5|1 3
5.28) Cory = [Cov[Y,X] Co[v,Y]| ~7 (3 9
X 0
(5.25) v ~N [0 ,Cx

,Cx = 0%, Cy = alCxa qwpn "y »on ,noon 17

ac |l
T3

DPOINY DOINWYN IURD (5.7 NNON) I8TNP 0N GMIVNI DYOINY DINYN
(DMON dNYA < TPNOMP MIDN) DMON PN DY ON ,PXONP DN DN 9MYNa

Y1) .Cov[X,Y] # 0 oy X,Y DPKRIPN DNV DN 5.6 AT
Z=aX+Y

SODPNIOT VAP NIN @ TYND
Cov[ X, Z] = pxz = 0 5w 280 1on» ONN (N)

aMena oPowX) X, Y May ompn yon Sy mn (3)

RARRAD)
Cov[X, Z] = E[XZ] — E[X] E[Z]
E[Z] = aE[X] + E[Y]
E[XZ] = aE [XQ] + E[XY]
Cov[X,Z] = aE [X2] + B[XY] - aE?[X] - E[X] E[Y]
= aVar[X] + Cov[X,Y] =0
Y _COV[X, Y]

Var|[ X]
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AMmwna o»owy X, Y may

(9MYNa 0P0INY DINYNN DV IIRYD PNPIANP) YOINY NI Z Mnwn O

1(5.2 NHON 9”y) ©OnN noa on X, Z oanvn O

NIV NYAON DY NN O) D7) INN NN DIV N2 NIV

X 1 01X
A a 1]1Y

DOHNYN DN 5.7 NINT

X ~ N(0,1)

0”on *'nva 1

Y =WX
O PO Nuvann oyl XY O
o oon XY O
Cov[X,Y] = E[XY]- E[X] E[Y] = E[X*W] = E[X?] E[W] =0
— ~—
0 E[W]=1-2+(-1)-3

JX| =1Y],05n 0O
JDAMUN TPDINY NIYONN *HY2 0PN O

05N *NYA D) 0N MPXONP MI0N DINYN ,NIMYN DPOINY NNYONN My -
INTNA) NN NNOANN NAY MIPY 1 RO p(X +Y =0) = % oV asn -
(o) D)

AMYNIA KO DAN ,IPOINY NNZONN 2Oy OHNYNA INTH D10

:(5.3 N97HN) PVAIN FINT NN

NN PRY L (02D0) IDPVAIN NN NIN IINYD NDNN ,GNIYNI DNDINY DINYN NIY
20N 20 ANy

PDF 5.2.1
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:(5.4 D515N) PDF amuna D»oOIRY DONHUN Mt

DPOIN) DINYN Nt OV M PDF-N

X1 N M1 U% pPO102
~ i 2
Xy Ha2 po102  0)

Y M)

1 1
(5.26) T1,T9) = exp | —
Fxx, (@1, 22) 210109/1 — p? P 2(1-p?)

X

(w1 — ) N (v — p2)®  2p(a1 — ) (w2 — pio)

0'% O'% 0109

GMVYNI 0POIN) DINYN DY NPOVN NPNYANN (5.8 NNAN) NPV NMYaND
PO YD

NMEN NOYOHN NN exp() TINA MYV 20 DWO I (5.9 HNON) PDF-0 NNy

(@ —m)® (@2 —p)*  2p(es— ) (@2 —p2) | _ o
o2 o3 0109

(5.27)

NP PN MY
20PN NMY NN NN ,7PNONP 00N 0N O0nvnn p =0 O

WP RN NNNM PIRYD WP p=+1 0

p1 = po = 0,010 = 0o = 1My, fx, x,(z1,22) pTON-3T >OINY MNWN Y PDF-5 NN
.5.1 9PN2 NYy’omn

X4

X ~ REa)ARN} YOIND INAPN nmnwn NNy 5.8 N
2

2
M1 o7 pPo102

OMN) covariance NNIVN DI MONMN WNRD N , 9
2 po102 O3

DN T, 5 MY Fx, x, (71, 72) 9¥ 7900 Iy 2WN .11PI90N NNNa

INID J9IND ,NONTD . T252 0719010 2N Y WINAD I NINO

mu
Cv

[mul; mu2l;
[sigmal~2 rho*sigmal*sigma?2;

rho*sigmal*sigma2 sigma272];
mvncdf ([x1; x2],mu, Cv)
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T2
o

p=0.9 (N
0.2

T2

T1

p=01()

MY L fxx(@1,22)  PTONAAT ODNY MNWH 5w PDF-5 apnT 51 PN

1 =p2 =0,00 =09 =1
NTNIN-29 NOINY NvYann 5.3

JPTNN-92 DITIND DTNN-I1T NITIN 2NN D901

PDF 5.3.1

(5.28)

:(5.5 N97N) YOINY NINYN Y PDF

My anm X = (X1, Xo, ..., Xn)T »101n-29 >0 mnwn S PDF

1 1 ron,
) = o e b R )
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X ~ N (p,Cx) 01205 . = E[X] ,covariance N0 Mt Cx IWUND

X ~ N(0,1) 5v >v19 NDIpna :(5.10 "an) X ~ N(0,1) Yw 2099 npn
D»PNN OMON *NYA

fx(x) =fx, (¥1) fxo (T2) - - fxy (TN)

_ 1 exp Al tai . +af
LG 2

- 1 xT'x
.29) —W exXp —T 9

o= 0V @oann 2570 MOMn MoPNn N non X0 Cx = IV qwaon 9wuno

DPNIPR DOINVN OV TPINYD NYINMP NAY  :(5.11 ANON) NIRIY 98NP
MNOPY NN a = (ag,...,a,)7 WK Y =al X s X ~ N (p, Cx) 070w

DYPIN PYNN
(5.30) Y ~ N(a’'u,a’ Cxa)

IYRD ,0710N YNV OHNYN DV PVIH NIPN NAY
o”pnn ’CX = dlag [Var[Xl] ,V&I‘[XQ] ) ,VELI‘[XN]] K= [:ula M2, - - 7,uN]

N N
(5.31) Y ~N 2 a; s, Z(aiaif
i=1 i=1

5S¢ moann o X, X, X3 ~ N(p,0%) 050 »nba oanwn onn 5.9 It
Y = X1 +2X5 + 3X3

MNINO
ElY]=(1+4+2+3)u
vmnjz(ﬁ+2?+§>ﬁ

Y ~ N (E[Y], Var[Y])

navann X, Xo, X3 ~ N(0,1) on9n »nda onwn oonm 5,10  nnd
SV NaMWNN

Vi =X+ Xo + X5
Yo=X1 - X,
Ys=X, - X3

DOIN) ONIPN MNYN NN OPOINY OPRIPR OINVND DV IPIRYD 7PNPIANP I\ NO
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,0IVID Y12 ,qoN2

Y3 11 1]|X 0 100
Yol = |1 =1 0| |Xe|, pmx=]0|, Cx=1]0 10
Y3 0 1 —1||X; 0 00 1
——
Y A X
3.0 0
C,=ACxA" =10 2 -1
0 -1 2

2099 191N

Var[Y;] = Var[X;] + Var[X;3] + Var[X5] =3
Var[Ys] = Var[X;] + (—1)*Var[X;] = 2
Cov[Y1,Y3] = E[V1Yj]
— BRG] - BT + B| X3 | - BT + BRG] - B| X3 |
=0

Cov[Vs, Ys] = —E[Xg] b= -1

nMoNY 5.4

ONYOs OPRIPN Onwn on XY (mow) 5.1

Nar[ X — Y] My »nva noin (K)

X 2
[ ] ~N [“ 1] , ’ o1 1P ] AMYNa 0»PoNy 0N X, Y Dnwne 3ny (1)
0102p0 0y

DNONNN 2NI9 SV EPNad E[X — Y], Var[X — Y] awn
X1 ~ N(m,0?), Xy ~ N(m,c?) DPRIPN DINVH DINN) (D7DINI DITNN-1T DINYN) 5.2
VTN OONYN T X, Xo P2 ;TN IR ANAY 119 RY
(5.32) V = X cos(f) + Xy sin(6)
(5.33) W = —X;sin (0) + X3 cos (6)
LOMON N2 VIV onnun ymay ,—7 < 0 < OY TIY R (N)

ov oonon I LV W ooanvn DY DY namwnin Maoann onn - (1995 yo) (3)
Pyon 6 Ty NN 1 8O LE[ X1 Xo] = b noand o Mt yoa 2nNtn mYann
0PN
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oTPn doya X ~ N (1/2,1),Y ~ N (1/2,2?) o»owd 0anwn at onny (CDF) 5.3
avn v Fx(z), Fy(y), Fxy(x,y) N7 CDF NvYpns ynyna .01 1/2 v mssmp
:MIANDN

Pr(-1 <X <1,Y < 1),
Pr(X <1,-1<Y)
3.7 DONTA NYDY ) ann

Noa 0N OO WRD X, Xo, ..., Xogp D102 Q87 1NY  (MN9M0 IR/ iIND) 5.4
P X, ~ N(1/2,1/2%) omon

Y =X +Xo+ ...+ Xono
Pr(90 <Y < 110) avnd> v

X1 ~ N(0,1), X5 ~ N(1,2), X3 ~ , 0201 DPNIPN DINVYN NN (7MPINRN) 5.5
0N oy x, = —= NN X, Xy P2 89 p 0Tpne T (N (1, 02) ywro) N (0, 1)

V2
Yi=Xo+ X3 ~ N(1,5)
Yo = = X1 +2X3 ~ N(0,3)
Y; = X1 4+ 2X5
Y, =3X; +2X,
72X T Xo DV ony»n oy INDY 12102 OOD09N PN NN (N)
7Y, T Y3 oW 1Dnoyn moyiaa NNDY 12102 00009 M0N0 NN ()

MDD ) N 200N ONDA 0N DX ,AIND W, DDINYHN NN TR 935 ()
Y1, Y5 v mamana

(5.1) X1, X3
(5.2) X5, X5
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DHYNIPN MMNRY HNTPN

M L(5.2 IPR) X(1) PN T ORIPR TOINA VIOV DY) ,DI2TD DN WNNND >T
ST YAt PONN DY ORYY 1) MONY ONIN

INIPN TOIND DNNT 5.2 PN

:0MPN TONNA POYNIV NORY DY 1PPON YY)
? x(t1) v NMvann >N O
X(t3) 91 X(t2) MYANMN NNV x(¢1) SV NIYONN ONN O
? x(t) Sv MW NOMN SV MyNwn NN O
X(ty) T x(t3) SW 7Y MNNS I ONN O
x(t) Yv poon oavNn PN O
x(t1),%(t2) TP ,ANY 0 x(f3) OV TIY NN Y OXN O
(1) M x(t2) ¢ "N IS X (t2) TN x(t3) SW NN MY W ORN O
MUY NN P2 PN N O
TMNIN WY NN PR O

297NN NN N NNIYD AT NN NP0 MY W ONN O
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DYNRIPNR NININY NN

DYRIPN MMN P7IND

9999 199N

75
76
77
78
79
80
83
83
84
85
88
90
90
91
93
94

ooooooooooooooooooooo

e & & e o o 4 4 e e .+ o o e e e e s s e o

.......................

.......................
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. DEYNIPR MMR DY DN
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R = | = )P ) 1

. . . Auto-covariance

....... MNONT

Auto-correlation

6.3.1
6.3.2
6.3.3

oo e o DIYNIRPSOVD DINTNN

....... PN

e DPANNINOD

WSS 29101 MNON

... DN Y20 WY

6.4.1
6.4.2
6.4.3
6.4.9

. DYURIVPID PODN MDY

e TP MANNN

6.5.1
6.5.2

6.1
6.2
6.3

6.4

6.5

6.6

DYNRIPR MMR Y DINPO

6.1

LDO9YN NMNSANM YN PN 97y NIN YDDIAN D

PN IN T2

:(6.1 NNAN) 7

P¥YIN T

(6.2 NMAN) Ty




T2 T 6.2 76

1193 7Y 6.2

D00 AT ONIPR NN DY TIY PARD) PTHIND 17900

INIPN MNYN NN ONIPN PONN OV TN TIY (6.3 ANON) T2 Ty

NITIN TIY DD 1Y DNND NIV pMPIY 0N NN n IR Lt |

)T N2OWAD NIMON PR LTTI IR PN AT PPV DTIPID DD NN "TTa 7Y
2NA90 MMRX T12°Y2 DTN RV 29D

TTA/PNT YA ©ONND NN NITHIN

(N6.1) Fy(z;t) = Pr(x(t) < z)
(26.1) Fy(z;n) = Pr(x[n] < z).

INIPN MNYN NAY NITHIND IMTA ,TT) NI 1T NAY ANY NITHNN

:(6.2 N1>N) PDF

NTIPIA ONIPR ND2) DY NRNIN DY NMIVAND DD DV yn NN NOMNN MyNvn
SN ot

0
(N6.2) fx(z;t) = &—xe(I,t)
(26.2) pxlzi;n] = Pr[x[n] = x].
M SV PNPND NOMN
(x6.3) Elx(t)] - f o f () — (1)
(26.3) E[x[n]] = Z Trpx|TE; 1] = px[n]
k

1A OV NPNSD MY

"NWYN M3
P9 RPN
yata MInwn
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X(t2) Y29 x(t1) P2 O0D0DVO WP DIAND PN 6.1 PN

029y MW 6.3

ONIPN TN SV 1012 NTA AN P2 WP PORD PTINY 90N

LOPNAPN OINVN N M ONIPN TONN DY DOy IR (6.4 NNON) DY MY

.CDF-) PDF "y 210 2,070 O DY NamMwnin NN2ONNN IR NN PTHND 1)

TTA/PNT YRR ©ONND NN NITHIN

(N6.5) FX<ZE1, T2; tl,tg) = Pl"(X(tl) < Jil,X(tg) < ZL’Q)

(26.5) Fy(1,29; 11, n2) = Pr(x[n1] < 21, x[ns] < 2,)

:(6.6 NY73N) PDF

TTA T SV NIPNnd HmTa

o2
N6.6 <(T1,T2;11,12) = Fo(zy, 2051, 1
( ) fx(x1, 2251, 2) 07102, (@1, T2 t1, t2)
(26.6) Px|T1, 23N, 0] = Pr[x[nl] = x1,X[ng] = :vg].

TON ARNND AWND ,MNNT n-2 NITHNN DX DNIND JN2) NPOOON NN DA )M
,SOTOM-n NNOONN NOAPNN

Fx(xy, 2o, . xp;ty, te, .o ty) = Pr(x(tl) < 21, X(tg) < 9, ...,x(t,) < xn)
DO OX .DINYN T P IWPN DY NANIND MINID 1) O2OY Mt DY MNON

X =x(t1)
Y = x(t),

M, 07NN oirann M1 E[XY ], Cov[X, Y], pxy ¥ mY»apnn nx »1nd 1m0
A1 =13 DV 2NN

nvann
namvn
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Auto-correlation 6.3.1

:(6.7 N9750) (auto-correlation) MININP-IVIN

"y MINHTN P2 WP PTHIND 1N

(N6.7) Ry(ty,12) = B [x(t1)x(t2)]
- _[fo (s,v;t1,t2) svdsdv

(26.7) Ry[ny,ns] = E [x[n1]x[ns]]

Y25 x[ng] Sv MY Nt x[ne] Y29 x[n1] P2 PN (6.5 N390M) I3 00RO
x([n]

(N6.8) Rx(tla t2) = Rx(t27 tl)
(26.8) Ry[n1,ns] = Rx[na,n4]

(N =ng =mnIN) t; =ty =1 MY :(6.6 NNAN) OYNT DN
(N6.9) Ru(t,t) = E [x%)]

(26.9) Ry[n,n] = F [xz[n]]

(6.8 NYTIN) DIINNVIN

DPPNN OOV X(t1), X(t2) MY

(N6.10) Rx(tl,tg) =0 t #t
(26.10) Ry[ni,na] =0 ny # no.

:(6.9 NYTHN) ©MYN KNV

O»pNn 0MYN N9 X(1), x(ts) My

(N6.11) Ry (t1,t2) = E[x(t1)]E[x(t2)]
(26.11) Ry[n1,no] = E [x[n1]] E [x[ns]]

D”MON YNYA O’°ONN NAY DIV 2D DWO wn | A9 myv

Rx(t1,t1) = E[x*(t1)] # E[x(t)]E[x(t:)] = E*[x(t1)]
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Auto-covariance 6.3.2

:(6.10 N97)N) (auto-covariance) NANIVN MY

3.3.1 DTN NAMYN MNY SV NATIND Twnna

(N6.12) Cx(t1,t2) = E [{X( DI {x(t2) — E[x(t )]}]
= E[X(t1)X(tz)] - E[ )] E[x(t2)]

(26.12) Cxlni,no] = E [{X[nl I} {xl E ]]}]
= E[x[m]x[n.]] — E[x[m]] E[x[ns]]

PNOMP-IVIN DY N0 NN NAOMYND MY (6.7 NNON) MSHNP-IOINY WP
noNnIIN

(N6.13) Cy(tr,t2) = Ry(t1,t2) — E[x(t1)] E[x(t2)]
(26.13) Cx[n1,n2] = Rx[ny,n2] — E [X[nl]] E [X[”2]]

P25 x[ng] 5w MO Nt x[ng]| P29 x[n1] Y2 PN (6.8 N399M) M2 0RO

x[nq]

(N6.14) Cy(t1,t2) = Cx(ta, t1)
(26.14) Cy[n1,n2] = Cxlna, n1]

SY NOMYN NIV (N = Ng =N )t =t =1 MY (6.9 NNAN) ONT DT
199 MNY NN YA TN NN

(N6.15) Cx(t,t) = Var[x(t)]
(26.15) Cx[n,n] = Var[x[n]|

MNP ONONP OTPNR VTIND N 2(6.10 NNMONY) NMINTN P2 NN DTN

mnITN
(N616)  prltita) — Cx(t1,t2) _ Cx(t1,t2)
AV Ox(tr, 1) Cu(ta, 1) \/Var [x(t1)] Var[x(ts)]
Cx[nh nZ] . Cx<t17 t2)

(26.16)  px[ni,no| =

VOl ] Culnama] ) Nar [xfny]] Var [x[n,]]

Jpx| < 1 o»prn yam>
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:(6.11 NYTIN) DINHNIP 0N

DPPNN PNONP MON X(t1), x(ty) NAY

(X6.17) Cx(t17t2> =0 t1 #t
(26.17) C’x[nl, ng] =0 ny # n9

:(6.12 DYDY 0 NOMN Koyl

o»pmn E[x(t2)] = 0 W E[x(t)] = 0 Sv n1pna

(N6.18) Cy(t1,t2) = Ry(t1,t3)
(126.18) Cx[n1,n2] = Ry[n1,ns]

MINHPNMT  6.3.3

IWND () = Acos(2mt) MmN NN AP TINIPR NTIOLINN DY TINN :6.1 INONT
awny AT .o E[A], E[A%] moond ymy oNApR manwn N0 A

E [x(t)], Var[x(t)], Rx(t1,t2), Cx(t1,t2), px(t1, t2).

WN6.2 PN D) INT NN

E[A] cos(2t)

&
=
=

I

Var[x(t)] = E [XQ(t)] — E? [x(1)]

= E[A?] cos?(2nt) — E?[A] cos®(2nt)

- (E[A2] - EQ[A]) cos?(2mt) = Var[A] cos®(27t)
Ry(t1,ts) = B [x(t1)x(t2)]

=F [A cos(2mt1) A cos(27rt2)]

= E[A?] cos(27ty) cos(27tsy)

Cultr, t2) = Rx(ty, t2) — E[x(t2) | E[x(t2)]

= E[A?] cos(27ty) cos(2mty) — E[A] cos(2mt,) E[A] cos(27t,)
— (E[AQ] - EQ[A]) cos(2mty) cos(2mts)
= Var[A] cos(27ty ) cos(2mts)

Ci(t,t) = Var[x(t)]
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pltnsts) = Cx(t1,12) _ Var[A] cos(27ty) cos(2mts)
o A/ Cu(t1, t1)Cx(ta, ts)  +/Var[A] cos?(2mty) Var[A] cos?(27ty)

= sgn [cos(2mty) cos(27ty) | = +1

927 DWW NNND N RO TTNRN .cos(2mt;) 3 0 NAY MIVAN 1N DOV IRYY NN
x(t) =0 77y T 2ym

t) = cos(2mt + 6;),0 ~ U[0,27]  x(t) = Ajcos(2nt), A ~ U[L, 3]

N VAR FARN -
\/, \ J/ \ 4
| N\, \N 7/ 7/ 1

Elz(t)] =0 E[z(t)] = E[A] cos(2nt)
2
2t ]
t t
6.1 N7 (2) 6.2 MON'T (N)

6.2 ,6.1 MINONT MY OIPN 6.2 TN

X(t) = cos(2mt + 0) TN PNI :NYIAP TPRIPR (MING) Yo DY TINN :6.2  HONT
2avn .0 ~ U[—m, 7] 9wnd
E[x(t)], Var[x(t)], Rx(t1,t2), Cx(t1, t2), px(t1, t2).

,TND OV NMAIYAND D2 121THY HDX2 NDARNND NOMNN .26.2 PN D) INT )\ N
TN INNS MY

E [x(t)] = E [cos(2nt + 6)]

s

= cos(2mt + 0) fo(0)do
ff (2t + 0)~—df — - sin(2 t+9)ﬂ 0
= » COS|\ 2T o = o SN\ 27 =
Ry(ti,t2) = B [x(t1)x(ta)]
=F [COS(27T'L'1 + 0) COS(27Tt2 + 9)] <« cos(a) cos(ﬁ):%cos(aJrB)Jr%Cos(afﬁ)

E [cos(?w [t1 — tg])] + %E [cos(?w [t1 + t2] + 29)]

v~

=0
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= %cos (27 [ty — t2])
= Cx(t1,t2)

1

2

Cx(tth)
«(t1,12) =
pxtr; f2) /Cx(t1, 1) Cx(ta, 1)

= cos(2m [t; — t2])

Var[x(t)] = Cx(t,t) =

NN MIN PN :(random walk) XNIPN TN OV IRIPN TONN :6.3 NHNY

.0”on 'noa wm], w[k] w7 5N NI n 93 My win] ~ A RO
29N

E [x[n]], Var[x[n]] )
DTN YV NDANN NN (1)
Rx[n,m] awvno v E[A] =0 5v nnina ()

RARRD

(6.19) e
= Y E[w[i]] = nE[A]
Var[x[n]| = Var Zw[z]]
(6.20) =

D»PNN RIINN 912X VAYND ONNNA D1TH PPADN n NAY

(6.21) x[n] ~ N (nE[A],nVar[A])

Random Walk
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n

Ry[n,m] = E | ) wli] '

=1 7

NgE

wij]

Il
_

RgE

E [wli]wlj]]

n

(6.22)
i=lj=1 "
E2A] =0 i+
E[42] 0=
= min(n, m)E[A?]

n = 50; % number of variables NP NINT
N = 1e6; % number of experiments
X = (randi(2,[n N])-1.5)%*2;
% X = exprnd(1l, n, N); % experiment results
Y = sum(X,1);
histogram(Y, 'Normalization', 'pdf')
title(['Mean = ' num2str(mean(Y)) ', Var = ' num2str(var(Y))])

DYNINPSVO DIMYNIN 6.4

JNYN NOTHIN OINN2 MMNX NHND DTIND vHYNN OPRIPR DXPONN DV NIPD-NN 17900
AN NINYN KD JNYY NPYYXDVVLDN MNINY MMNI 121D
2"V PN X[ng] ION X[ng] SV RIS N ATPn

CX [nl ) n?]

(6.23) X[na] = E[x[no]] + Cx[n1,n1]

(X[nl] - E[x[nﬂ])

A0N0 yAta MYN-N SV DMDN ANND VID PYYN KD M VNN

maTpn 6.4.1
(6.2 NNON) ONIPNR NINYN 1PN NN IR ORIPR MIX DV TIY 9D ,NNTN 29D
MNONN 95 AWYND L(6.2 PI9) TTa TIY NAY MOAPHNNN MNOND N T3 Ty

X(t 4+ ¢) Y2 MY NN NIY ) AP 30 x() SY NYvoLLVLON
22PN ,NNTO

(N6.24) Fx(x;t) = Fx(z;t + ¢) = Fx(x)
(26.24) fxlz;t) = fulz;t +¢) = fulz)
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MMONN 95 IWUND (6.3 PI9) THA TIY NAY MOIAPNND MNONY IMN) - DY N
tomr 95 My x(E + ¢) Yt MYV M Ny AP N x(t) Yv nrvovvovn
.DPIVAN
22PN ,NNTO

(N6.25) Fx(x1, 295 t1,t9) = Fy(x1, 9t + ¢, 12 + )

(26.25) fx(@1, oty ta) = fu(x1, a5t + ¢, 2 + C).

DWIN ¢ = —1y N ¢ = —t; NS Y)Y ,NPS5ON NSO DA

(N6.26) Fi(xy, 295 t1,ts) = Fy(x1,20;T)
(26.26) fx(@r, za5t,t9) = fu(w1, m2;7),

GYUND
(6.27) T = t2 — tl.

.6.3 AVPNI Y9 Nt NN

WSS »>onna x(t3) Y29 x(t2) P2 MY Nt x(t2) Y29 x(t1) Y3 WP 6.3 PN

DYMNINOD 6.4.2

:(6.13 NYTIN) 2NN 1212 NIRPSVD TPUNN

,(6.24) MINNYND MP»PNN OX P OX 2NN 121N DPNDIRPNVD DINRIPI ,D¥ONNN
.wide sense stationary Y¥ M2’ N WX , WSS NIN DN D¥ONNY Dpnn )0 .(6.25)

X(t+7) MY x(1) Y NPVDVLLD MNON NIV KD PTIA NNV NN NITHNN MYIYN

:(6.14 N97H1) 98 1213 MMNISVD TONN

95 May 1At AP MYAOT 1 DY NOMYN NOTIN-n NIDONN ONAY ,0°20NN
oOYpPNN Yn,n > 2 MIAW {; DI DV DPIVIN D’DIY

Fe(xy,zo, .. xpity te, oo ty) = Fx(xy, 29, .. xpsty + Tota + 7,0ty +T)

(6.28)

,SSS NIN PN OONND DNPNN PMD LIN 2N DPINNNVD DIONIN ONIP)
.strict sense stationary DY M2>N WX
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12NN TN ROY ,T252 WSS NNONA PONDNY N2 DPLVPIS DVIPY NN Dava
.= 2 MAY ,WSS-N NITHNA PONDI 21D .SSS-D

DN P ONX (WSS) MININSOD NI TONNN :(6.11 HNAN) NPIINISOD NHMD
DNIN DIVPN NN NN W 5192 .(6.25) ,(6.24) MXNWNN TPIN-12 MN»PNN

[(6.4.2 NMDN) yara MSN->No2 NOMN O

[(6.4.2 NN5N) 7202 O YINA NMION MPXONP-IVIN O

MR ION XNO2 NOMN :(6.12 NMON) NYMN

(N6.29) E[x(t)] = E[x(0)] = pux = const
(26.29) E[x[n]] = E[x[0]] = px = const

7222 OIOT WIND MIDN MPNONP-IOIN :(6.13 NNON) NINP-IVIN
(N6.30) Ry(t,t + 1) = E[x(t)x(t + 7)] = Rx(7)
(26.30) Ry[n,n + k] = E[x[n]x[n + k]| = R«[k]

T = |to —t1| -5 AN T =ty — t; PN ,(1DND 6.4.3 NNON) NIVD HHIA TIWND
NN DYDY NAON TIT

(6.31) Ry(t1,tz) = Ru(T = [ta —t1]), V1,12
(26.31) Rx[’l'Ll, TLQ] = Rx(l{? = |TL2 = n1|), an,ng,

WSS NI 6.2 NDNTA TMIND 6.4 NanT

O ONIPR NN XN A ~ N (0, 1) 2wnd x[n] = A ,7PRIPN DC NI :6.5 NnnT
WSS T°5NN2a 92)7TH DN

RARRD

Re[n.n + k] = E [x[n]x[n + k]| = E [A?] — R[] =1

0t 00N YNY2 DYIAPNNN D2OIYN YNV

WSS 2990 MMon  6.4.3

WSS 225NN 5¥ NYIRYN MIdN PNd

ONN NPTa
WSS
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:(6.14 NNBN) A IONWO

(N6.32) Ry (—T) =Rx(7) Ry [—k] =R«[k]
(26.32) Cx(—7) =Cx(7) Cx[—k] =Ck[k]

N

(6.33) =

NNDNN NYPIANNN NRXINND :(6.15 N215N) MNTNP-IVIND NONYN MNY )2 WP
ND INTPIN

(N6.34) Cy(T) = Ry(7) — 12
(26.34) Cy[k] = Rx[k] — 12

Y NN PIMNNVD IRIPR MNX OV YN Paon

(N6.35) P, = Ry(0) =E[X(t)2] = E[X(O)Z]

(26.35) Py = R.[0] :E[X[n]2] = E[X[O]Q]

:(6.15 NYTHN) YSHIIN PaYN

NNMON YA NTIPIA NOMYN MNYO NNV P2 WP $(6.16 NMON) N

(N6.36) Var[x(t)] = Cx(t,t) = Cx(0) = 0}
(26.36) Var[x[n]] = Cx[n,n] = Cx[0] = o

T DN YISNA TPXOMP DTPN :(6.17 NNAN) NISHND DTPN

Cx(7)
6.37 x =
(N6.37) Px(T) . (0)
Cx k]
(26.37) px|k] = o [0]
:(6.18 N15N) IOPN TY
(N6.38) R« (0) = |Rx(7)]
(26.38) R« [0] > | Rg[k]|

Davn
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,(6.6 DNTA M) TAD2 I DPANDINR DYINNN MMKX NAY NIN = YD NN
2> 2’02 72T NINN
hSIN
2
0<E [(Rx(t) + Ry(t+ 7)) ]
(6.39) — B[ R2(0)] £ 2B [Ru(O)Rult + 7)] + B | R2(t +7)]
— 2R, (0) + 2Ry (1) = 0
DPPNN P2 DYND IR/ DPIMNN KO MMN NAY NN NI
lim Ry (7), px(7) — 0
T—00
lim Cx (1) — px
T—0
DOPPNN DYONMNOVNIN X(t1), X(t2) MY
P, k=0
(6.40) Ry (1) = Po(T Ry|k] = Polk] =
()= R(r) Rk = Plk] =4 %
:(6.17 1Y730) NV 10N
OPPNN PNONP Mo X(t), X(t2) MY
(6.41) Cul7) = 026(7)  Cy[k] = 026[k] 0% k=0
. x\T) = o;0(T X = 0 =
0 k#0

WIAIPR MNWN A1 0 ~ U[—m, 7] 2R x(t) = Acos(2nt + 6) MR M) :6.6 N0ONT

.0-2 "Hn »nba

6.2 TMNT 0) NN NS

E[x(t)] = E [Acos(27t + 6)]

= E[A] E [cos(2mt + )]

_ E[A] J " cos(2mt + 0) fo(0)d6

0

™

T 1
=F [A]J cos(2mt + 9)2—d9 =0

—Tr

Rx(t,t + 7') =F [X(t)X(t + 7')] | cos(@) cos(ﬂ):%cos(a—ﬁ)-i-% cos(a+5)
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=F [A cos(2mt + 0) A cos(2m(t + 7) + 0)]

_ %E [AZ] <E [cos(277)] + E[cos(27(2t +7)+ 29)])
— %E [AQ] cos(2mT) = Rx(7)

6.1 9902 wam Ry (ty,ty) = Ry(7) 299 2w

YOINY JaY Wy 6.4.4

:(6.18 N97IN) YOINY 12V WY

(051 "N521) P8ONP N x[n], x[m] WNd x[n] ~ N(0,0?) 'NIPNR TON
SOINY 120 WY NI
:(6.19 NNON) YOINY 1aY WY MNON
(6.42) E|x[n]] =0
(6.43) Var[x[n]] = o?
0 #
(6.44) Rx[nl,ng] = 0'25[711 — ng] = 9 " 12
o ny = no
(6.45) = Cx[n1,n9] = Cx[k]
SPNOMP 20M NMON YNYA MAT 5O
LONNN2 MINOM NITHN PN I 120 wyId
INIAPR TONN PN 6.7 NINT
1 1
(6.46) x[n] = §W[n] + §w[n —1],

z[n] = hln] = w[n] 55900 0w NavH TIT LONY 120 WY NN W n] TWND
hln] ={3,3} 2ono

202
WSS NN X[n] OXD O
Px[k] 2wno v 0O
:0°277N YA NIN PND PINON ANND
(6.47) Ry[n,n + k] = Ry|k]
(6.48) Ry[ni,na] = Ru(k = [na — na)
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N NN NRXINN ,)32MD

~—
Rw[nl—l,ng]:a26[n1 —TL2—1]

1
= Z(Rw[nl,ng] + Rw[nl,ng — 1] + Rw[m — 1,n2] + 5w[n1 — 1,71,2 - 1J)

R

Ry [n1,m2]
= %25[711 —ngl| + %25[711 —ng— 1] + %25[”1 —ny +1]
Cx[n,n + k] = Rx[n,n + k] = F [x[n]x[n + k]]
— L [(wlal + wln— 1) (o + 1+ wln+ 5~ 1)
— i (E [wln]w[n + k]| + E [w[n]w[n + k — 1]]
+ {E [wln — 1lw[n + k’]l +E [wln — 1]w[n + k — 1]])

o28[k+1]

1
= Z(Rw[n,n—l—k]—i-Rw[n,n—l—k:—l] + Ry[n—1,n+ k| + Ry[n—1,n+k—1])

v

Rwlk]
O'2 O'2 0'2 0'2 0'2 0'2
= Cx[k] = Rx[k]
Cy[K] 1
« k| = = 0lk] + =dlk—1 5k 12112
pulk] = gy = 011+ 5Tk — 1+ 5Tk + 1] = {1/2,1,1/2)
1 k=0
=<5 k=41
0 1nINN
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90

N = 1leb; % Signal length
sigma = 2; 7 Noise std

w = sigma*randn(1,N);

y = filter ([1/2 1/2]1,1,w);

[c, 1g] = xcorr(y,5,'biased');
stem(lg,c)

Ry [k], Cx[k] M2y matlab-2 8910

% Noise realization
% Filtered noise

% Auto-covariance C_x[k], for |k|

MINIOPAD PADNH MasS 6.5

D IMNNOD MMN DY ITNA PO 991

N9 MNP 6.5.1

(6.49) X(F)

:(6.19 NYTIN) PYY M N NN

MY ANNY PN YR () MN SV N9 NINNN

Fla(t)} = foo z(t)e 12t

JHz] mmnea Hnvmr” 9Tn N0 FAwRd

£(6.20 NY7HN) T2 1ITa PN NNNN

(6.50)

"y NN (DTFT) T2 192 /NS NINNN

0

Z :E[n]e—j%rfn?

n=—0ow

X(59)

DTFT SV nNnvovnn NI 1NN .

SN0 TN XN f IWND

,NXI9) NN NIATHN IND»P

— Flalt)) = f; 2(t)e I dr,

[rad/sec] mTna "mxoN” M MATH NN Q UKD

N
o0

X(ejw> = 2 r[n]e ¥,

n=—0

[rad] mmra e maTn NN w WD

<= b5

NN
M99 NINNY
rih

NavN NI
vamn
mH9v2a
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91

91N 6.5.2

D1IVPAD SV NITHIND N2 WYNY I, PODPNIOT NN Ry (7), Ry[k] n»8pno anxn
INIPN TONN HY

SO N OV NS NINNN Y NITIN TONNN DY IPONRIVPOD PIDN MY
JPNONP

(N6.51) Sx(F)=F {Rx(ﬂ}

(26.51) Sx(f) = DTFT { R[k]}

ST9NN VPN DY OYPNN ,J2IND
,power spectral density D¢ M2’N PWYRI PSD NN WX DONNY YIpNn PO
2

%
.Wiener-Khinchin—FEinstein V9¥1N NIP) D) 1oND WP T, N — MPN2
z V4

:(6.21 NYTIN) YIRIVPID PODN MY

,PUNMY DPAYN NN PADN MY 79ND (6,20 N1DN) PSD MON

(N6.52) Sx(F) = Sx(—F)
(26.52) Sx(F) =0, VF
(36.52) Sx(F)eR

(76.52) Sx(f) = Sx(=F)
(n6.52) Sx(f) =0, Vf
(16.52) Sx(f)eR

(16.52) Sx(f) = Sx(f +1)

{(N6.52) NNV DY NNOIN . DNOW

= J Ry (T)e 92 Ft dt

~ | Ru(rycos(ePt)d - jJ Ry(r)sin(ZnFt)dt
—o

= J Ry (T) cos(2m F't)dt

—00

INTON Sin-) R PPN RX(T) -1 ANNND DONNN NIV DINOPND

PSD
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2(6.22 Y1) ( DD DY NANAN) YN Paon

Y TN MIND DY YN pPaon

(X6.53) P =E [XQ(t)] — R(0) = f " Sy (F)aF

(26.53) P =E [X2[n]] — R.[0] = J Su(f)df
,7THND DNNNA DN
Ry(r) = F 1 {Sx(F)} = f Sy (F)e*™ rdp
—o0

Ry (0) = f Sy (F)e? Fr=0gp — f Sy (F)dF

—00 —00

7NN DSB PONKD MN PN) 6.8 NNNT
z(t) = x(t) sin(2n Fot + 6),

0-2 51 n5 [T Ry (7) DY (WSS) »Navsoo N0 x(t) 0 ~ U[—m, 7] 27wrd
S(F), P, 29m WSS N z(t)-v ,nom

RARRAD)

R,(t,t+7) = E[z(t)z(t + 7)] sin(a) sin(B) = %cos(a —0)— %cos(oz +B)
[x(t) sin(2mFot + 0)x(t + 7) sin (27 Fy(t + 7) + 0)] — (3.23)

[x(t)x(t + 7)] E [Sin(QWFot +0) - sin(2rFy(t +7) + 9)]

= RX(T)EE cos(2nFyr) — %W]

_ %RX(T) cos(2r Fyr)

P, = R,(0) = B0) _ % = F S,(FYdF

—00

1 j2mFoT —j27FoT
&(F)ﬁ{zzxm ( — )}
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WND x[n] = swln]+ sw[n— 1] 'WIPR TOAN PN (6.7 NNNT DY NXD) 6.9 NANT

Sx(f), Pe awn 2o 129 vy N0 wn|

6.7 TONTO TYNNL NNO

2 2 2

Ry[k] = %5[@ + %6[1{: 1]+ OZ‘S[’“ +1]
Sy(f) = DTFT { Ry[k]}
- UZQDTFT{L% 1}

2 2

j27 f —j2nf
B <2 . 2u>

4 4 2
= %2 (1+cos(2mf)) < avm >wnn Sk(f)
: 1 ;
A== | s = | s =2 | sna

=0’ Jz [1+ cos(2mf)] df < J[l + cos(2mz)| dz = x + w
02 0
2
YOINY )Y wyy  6.5.3
| <(6.23 mrnm 135 vo S
D»PNN 1NAY WSS 'RIPN TONN
(N6.55) E[n[n]] =0 (N6.54) E[n(t)] =0
(26.55) Ru[k] = 05[] (26.54) Run(7) = 025(7)
NI PSD-N
(X6.56) Su(F) =0* VF
(26.56) Su(f)=0* - % <f< %

22 wya DY o019 NP NN PDIND 20 vy

:(6.24 NYTIN) YOINY 12V WY

,JPOIND MIDONN DY 120 Wy DY »0I9 NIPN
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oY N .n(t) ~ N(0,0?)

N,
(6.57) 042,
2
SapnnY 1o
N, 7 N,
(6.58) Ro(7) = 226(7) <& Su(F) = 7“ VEF

.white Gaussian noise ¥ ™M2°N YWYNXI ,WGN NN 1t TONND 529pnn )0

TPNDOMP 0N 120 Yy SV M TN

(6.59) Rn(tl,tg) =0 th #* tg Rn[nl,ng] =0 an # %)
YND2 0) )N WGN DW NMy»yT 00N PNdDa 0N PNONP 270N OYDIXRY OOHNYM NN
J”on

M0 WY NI D YYD VYN DNNT 90PN PODN HYa NI CVONINN 20 wyI
(DNIVPON) MONYN JYLVN IRV DY TEXIPNR NYIINI 1NMPNRY (Johnson-Nyquist noise)

2
IUND ,% ~1.7x1072°R [%] NN NIV VYN DY NYONIPID PADN MPAN L T0m2
MY SMYNYNn NN 9191 ,108 H 2z Sv ©9TNY Ty 0»pnn Mt wyan TN 9T N0 R

21T D9 2NN MMN

MIORY 6.6

Ry (t1,t3) = Rx(7) Yy ©0INN2 6.6 MONTI 20NN DY MmN (6.6 NNNT) 6.1

DPNIPN DXONN T NN (NPINRVNVD) 6.2

1 M 0 NOMIN DY ONIPN MNYN 1N A IWNRD
WSS 10 X[n] TONN OND (N)

WSS 10 y[n] 7onn oxn (2)

Ry [n,n + k] 2avn 0

9MwYNa WSS o»n x[n],y[n] o>5nn oxn ()

POAN MY YY1 0 NONMN NYYA X[n] , T ORIPR TOAN PN (D2DNN MNON) 6.3
MON 30 PONNN Sv M TN O8N LSk (f) = 1 + cos(27f) nNNn (PSD) WONIVPOD

7PN0MP

WND X[n] = wn| — p M, x[n] ,TTIONIPR POON PN (MPIINNLD) 6.4
,PXOMP-I0IN TPXPIA 2NN OUNN WAP M p-1 02 MNYI 0 NYMN Oy 129 Wy N wn|

PANNINVD PONNA 1T ORN Ry [n,n + k]
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nMNN , X(1) PRIPR PONN PN (DPRIPR DDHNN KV DIANRD MNON) 6.5
x(t) = Aw(t),

(0mM5n M9 A1y w(t)) Ry (1) = 026(7) oy a5 wyr wn w(t) -1 A ~ N(0, %) 7wKd
25%(F) ,7PON109D P90N MoaN N

WV MMNAD TAX O3 MY .OPNIPR MMN DY DNV DD 4 OV MR MNN) - 6.6
DINNINOVD MIND 1T OND Py O8O

100 200 300 400 500
n n

(c) (d)

100 200 300 400 500 100 200 300 400 50(
n n

.6.6 NONY M2Y MMNNOD NMINA IDTH ORN POID/PIND ¥ :6.4 PN

NN non-return to zero (NRZ) 10N AN *NI0 MN PN (DMYPN MIN) 6.7

0

x(t) = Z ang(t —nT)

n=—a

Pr(a, = 0) = Pr(a, = 1) = 5 K3 ,a, € 0,1
1 0<t<T
MR
0 »INN
AONY PR DY MIND OV RON'T

T amna 1 nana 99 wn g(t)

(1)

A

1

T 27T 3T VN W

() MND NONT :6.5 IIN Elz(t)] o)
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Py, Var[z(t)] ,mmen yxion paon (2)



7 919
DY2YNN P WP

MNNTN P2 IWPS NMTA DXV 20NN AN DY NMIVITN P2 VP PN PTHND 1901
LTPONN NN DY

200W MMN P INYD OO0 MUY 1) ONA,NVPANN NONY

P99 199N

L A mann 7.1
09 e e e e e e e e e e e e e e INIYNL DNIIRPSVD DIIYNN 7.2
09 e AN MW MNON 7.2.1
101 .. o 0o TNN MYNI MNON 7.2.2
108 e e e e e e e e e e e e e e e e e e e e e e mYNY 7.3

man 7.1

(7.1 9R) x(t2) 29 x(f1) P2 INPY WP AN 1901

X(t2) Y29 y(t1) Y2 20000 WP DAND PR :7.1 TN

x(t),y(t) o»NIPN 5NN M2y

(N7.1) Ryy(t1,t2) = E [x(t1)y(t2)]
(27.1) Ryy[ni,ne] = E [X[nl]}’[nﬂ]
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:(7.2 ©913N) Cross-covariance

x(1),y(t) DPNIPR DONN MY

(N7.2) Cxy(t1,t2) xy(t1,t2) — E[X(tl)] Ely(t2)]

=R
= Ruy[n1,n2] — E[x[m1]] E[y[n]]

(37.2) ny [nl, TLQ]

O)INAN

DPND D1 (AMYNI OPIMNINOD RPNT IND) DONN P2 WpPh

DPPNN OX PN OX OPONINVNR X(t), y() DPRIPNR DONN N1y

(87.3) Ruy(tits) =0 Wiyt
(27.3) ny [nl, ng] =0 an, No.

(7.4 DYTIN) DINHNP OIN

OPPNN PNONP MOIN X(t), y () DPRIPR DIOIN NaY

(N7.9) ny(tl,tg) =0 th,tg
(27.4) Cxy[n1,m2] =0 Vng, ng

0”pNn 05N N1 x(t), y(t) Ny

(N7.5) Ryy(t1,t2) = E[x(t1)] E[y(t2)]
(27.5) Ruy[n1,n2] = E[x[n1]] E[y[no]]

0N 0) DN O”ON PNYA VNN (7.1 ANANY) MSONPY MON-IN Pa WP
INPO-1T NIN AYPN INY NAMYN THPOINY NNDANN DY NIPNnd V9 P8O

A APATY
(7.6) Ciy(t1,t2) = Ruy(t1,t2) — E[x(t1)] E[y(t2)] = 0




GMYNI OPIINPNVD OIONN 7.2 99

GNIVNI DYNIRPNVO DUNN 7.2

(7.6 DYTIN) GNIYNI DYNINRNSVD DINYNIN

ON PN ON ,x(t),y(t) D901 P2 (joint-WSS) NAMWN NPIINRVPIVD PTHND N2
2ON0 ONINN Y5 ONYPNN

(WSS) »I800 x(t) O
(WSS) » 10800 y(t) O
, 7252 0NN WISNA MON MMND P2 Wpn O

(N7.7) Ryy(7) = E[x(t)y(t +7)]
(27.7) wlk] = E[x[n]y[n + k]] .

T2 MION OX INL,INONP 10N PAY NPMINNOD DY MITHN P2 WP PN

IO IVINI MOn  7.2.1

,(6.4.3 N)1ON) WSS MIMN MY MIVON NNV (7.2 N)DN) NHV190

(N7.8) Ryy(7) = Ryx(—T) Ryylk] = Ryx[—F]
(27.8) Ryy(—T) = Ryx(7) Ryy[—k] = Ryx[k]
SONDD
Ryy(7) = Elx(t)y(t + 7)]
Elx(t = 7)y(t)] = Ely(t)x(t — 7)]
Ryx(t,t —7) = Ryx(—7)

(7.9)

-¥ Y91 2wN NaTN T = to — 11 OWPNA 7T = 11 — o NITINA DVYNNVYNY , 02790 DIV
Ruy(ts — t1) # Ruy(ty — t)
M7 =11 — ty NITINA NVNNYN Matlab NN

D”PNN DX P ON DY9INVNN X (1), y (1) DPRIPN DONN MY

(7.10) Ry(r) =0 Yr£0  Ryglk]=0 Vk=#0.
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(7.3 DMON) PAON NHNHNY
(x7.11) | Ruy (7)| < 4/ Rx(0)Ry(0)

(27.11) | Ry (7)] <

NRDNA ,MNT )N TT2 30T MNONN

:(7.4 N9N) Cross-covariance

(7.12) Cyy(T) = Ruy(T) — tixpiy

(7.8 7YTIN) SYNP DTN

Yy (1) a5 x(t) ya mxonp oTpn

(7.13) Pxy(T) =

LIMIN R PN (7.1 T
x[n] = cos(won + ¢1)
y[n] = cos(won + ¢2)

MNINT) WSS 0N y[n] on x[n] 03,9002 .0”ON NO ¢, P ~ U[—7, 7| UKD
AMYNI WSS DX2°9NN N 12TNMY MININD Ryy [k] 20N5 v (6.6 ,6.2

,D29M0MN MNIND 12T \INO
Ex[n]y[n + k]| = E[cos(won + ¢1) cos(wo(n + k) + gbg)] — (3.23)

= E[cos(won + ¢1)] E[COS(“’O(n + k) + ¢2)]

— 0= Ryy[k] Vk

NODDN DY DD PINSN .((3.23) NNDY) 3.2.2 NNONN DY DOIANND NINAN
NOM N MNS N3N NN cos(a) cos( )

N Ly [n] = x[n] + bx[n — 1] "RIPN YN PN (6.7 NNINT DY INI) 7.2 PN
E[x[n]] = 0 ,Rx[k] oy WSS NpN THAN NN x[n]

WSS D901 M2 12TV MRIND Ryy [k] 2WND v 2(6.7 NONT) WSS NN y[n] ONN
amwna

RARRAD)

E|y[n]] = E[x[n]] + bE[x[n —1]] = 0
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Ely[nly[n + k]

E[(x[n] +bx[n — 1]) (x[n + k] + bx[n — 1 + k])]

Ry[k] + bR [k + 1] + bRy [k — 1] + b* Ry [k]
R[] = E[x[nly[n + K]

E[X[n] (x[n + K] + bx[n — 1 + k])]

FE

R

[x[n]x[n + k]| + bE[x[n]x[n + k — 1]]
<|k] + bRx[k — 1]

91NN WA MNOn  7.2.2

:(7.9 N7139) Cross-PSD

(7.14) Sxy(F) = F {Ryy(7)}

,7.2.1 1ON DY ©OANNA L,6.5.2 INONN NNV (7.5 N315N) PSD YV VN0

(N7.15) Sxy(F) = Syx(=F) = Sz, (= F)
(27.15) Soey(— B = 55 (F)
(37.15) Syx(F) = Sy, (F)

:(7.10 N97>0) coherence

Y (F) a5 X(F) ya 2700 Mwna iwsvnp oTpn

Sy (F)
Sx(F)Sy(F)’

(7.16) Yxy (F) =

Sy (F)] < 1 o7prm 9w

STNN MWYNA YYIN NPD DY MIYIARD DR APIND NN PN NNTH DY NIVN 9900

N PN 7.3 DT

y(t) = x(t) + n(t),

Lx, finy, Bx(T), Rn(T) 25¥2 ,0m5N >nda (WSS) D»mexvo on x(¢), n(t) Iwnd
o

Cxn(t,t+7),Cxy(t,t +7), Ry(t,t +7),Cy(t,t + 7) :awnd w
Sy (F) 2vnd v iy = fiy = 0 5w nMina
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RARRAD)

Ryn(7) = E[X(t)n(t + 7‘)]
()] Bat )] = st

E
Cyn(T) =0 «— 7.1 N15N
Ryy(t,t +7) = E [x(t)y(t + 7)]
= E[x(t)x(t+7)] + E[x(t)n(t + 7)]

R
R
Chy(t,t+T) = Ruy(t, 1+ 7) — E [x(1)]
R
&

= Ry(t,t —I—z) + flx/in — {E’[X(t)]E[X(t +7)] = E[x(t)] E [n(t + 7)]

Ry (b1-+7) 2 P
= Ru(7) — pix
= Cx(7)
Ry(t,t+7)=FE[y(t)y(t+7)]
= E[x(t)x(t+7)] + E[x(t)] E [n(t + 7)]

+ En(t)] E[x(t +7)] + E [n(t)n(t + )]
<(T) + Rn(T) + 24xin

Ry (1) By (t)]
= Ry(7) — pi + Ru(7) — 113
= Cx(7) + Cu(7)
Cy(t,t +7) = Rx(7T) + Rua(7T) < tix = tin = 0

Sy(F) = F {Ry(7)} = Sx(F) + Su(F)
DT MMNX IV P AT WIS 2IWND NOXY 1NND NN IPND NNNTN DY NIVN H90n
E[x(t)] = px = 0 nomn oy (WSS), MINIWNLD X (1) 'NIPR THIN NI 7.4 AONT Y9N 2wD
WPN PM T Ry (1) dy:y | V3O

y(t) =X(t—t0). MMN

CX(T)v RY(T)7 CY(T)v SY(F)7 RXY(t7t + 7-)7 CXY(T)v Ryx<7-)7 ny(T), avn 0
RyX(_T) = ny(T)v Sxy(F)>SyX(F)77xy(F)apxy(T)

02 MY DY, TTA 10N PO 129 Wy NN X[n] IR Ryy |k, pxy k] 290 O
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RARRAD)

Ry(1) = Ey(t)y(t +7)]
= E[x(t — to)x(t — to + 7)]
= Rx(7) = Cy(7)
Sy(F) = Z{Ry(r)} = 7 {Rx(7)}
= S (F)
Ryy(t,t +7) = E[x()y(t + 7)]
= Ex(t)x(t + T — to)| = Rx(t,t + 7 — to)
= Rx(7 — to) = Rxy(T)
Cxy(T) = Ruy(7) — 115 = Ry (7) = Bx(T — to)
Ryx(1) = FE [y(t)x(t + r)]
= E[x(t — to)x(t + 7)]
= Ry (T + t9) = Cyx(7)
Ryy(—T) = Rx(—7 — tg) = Rx(T +t9) = Ryx(T)
Ryx(—=7) = Bx(to = 7) = Rx(=(to = 7)) = Bx(7T — t0) = Rxy(7)

Syx(F) = Sx(F)e*™0 = Sy (—F)
 So(F) S(F)esr
V/Sx(F)Sy (F) S(F)?
= sign(Sx(F))e 7™ = |y (F)] = 1 VSk(F) # 0
ny)(T) ~ Ruy(1)  Bx(7 —to)

ProT) = VCx(0)Cy(0)  Bx(0)  Rx(0)

99 Ry [k] = 02d[k] 125 wya May

Ryy[k] = Ry[k — ko] = 026[k — ko]
pxylk] = 0]k — ko]
MWD NN
2ANDD 98D NI DTN P2 PN O

19 Ryy (7) 9V 19000 900 mintd Y1) O
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Zo-n 7 OV TIY NpNan oy "Opopnn” vn 0

Cxy (T) W) pxy (T) DY 20NN ,(6.38 NMNNWYN) PDDDPNN TIY DV NNONN Y931 O
"0t 0N DT MMIN P2 Lty = 7,000 W9 Nt wnvn (O ROD

DWY W 7.2 PN NYam y[n] = x[n] — 50 May ot vI9n 2wND Matlab nONT
NIYN) O YIS NITHIN OV TN JOIN D32 NTIPON TN x, vy DV MY IT00 10

(7.2.1
x = randn(1,1e6);
y = [x(51:end) zeros(1,50)]; %yln] = x[n-50]
[C, lags] = xcov(y,x,200, 'biased');
plot(lags,C) % kO = 50

0.8

0.6 -

0.4

Cay K]

021

02 ‘ ‘ ‘ ‘ ‘ ‘ ‘
-200  -150 -100  -50 0 50 100 150 200
k

y[n] = z[n] — 50 My ot wvI9IN WNY IDNT 7.2 IPN

.XCov NTIPAN YW 020N Tina AnnT AN

MIORY 7.3

020NN DXNNY  (NPIINPNLVD) 7.1

(7.17) y(t) = a1x1(t) + asxa(t)
(7.18) z(t) = bixy(t) + baxa(t),

29MwNa WSS 0 0N y(t),z(t) OXN .9Mmwna WSS on x; (1), xa(t) WK
DRIN DPRIPR DONN ONNI (DYRIPR DONN DY DIPIND MNON) 7.2

x(t) = At?
y(t) = A*?

A~ U0, 1] ;AR 259000 'NIPR MINWND 1N A TWUND
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:2WN
E[x(t)], Rx(t1,t2), E[y(t)], Rxy(t,t + 7), Cxy(t,t +7) 1
PNNPYOD NN X(t) TOINN OND .2
29MYN2 OPINNNLD 0N x(t), y (1) 029NN oNN .3
p(y(t) > 3|x(t) = 2) awn 4

M2,y (1)-) X(t) DPRIPR DIONN NN (DPNIPR DXIONN Y DIPIND MNON) 7.3
"Oya WSS , 079N

<
=
l
ol
=
_|_
S|
<
=

WSS N0 V(1) OND .1
WSS N w(t) ONRD .2
79MYUNI DPIMNNVD YNNI INTN ORD Ry (t1,t2) W Ryy(t,t +7) 2wn .3

Ry (7) = Ry(7) 10»N2 ,0793mM0 NN v(t), w(t) yay a v Ty 2vn .4

k
, Rw[k] = exp (—u> 5y2 W[n| RIPN MN PN (D200 P2 WP) 7.4

Elw[n]] = pw = %

10
JDONN AT W n] DwY T yod VI PNYOD NYANNN Yya

.072vM WP Aw, wy TYRD ,MMN T 0NN (N)

x[n] = w[n] cos(won)

y[n] = w[n] cos([wo + Aw] n)
29MYNa 0P INNLD 0N x[n], y[n] mmx oxn E[y[n]], Var[y[n]] 2wvn5 v

Nom MY O ~ U[—m,m] 20K ,07arm opap Aw,wy IWRD ,MMN AN NN (2)
w[n]-2
x[n] = w[n] cos(won + 0)

y[n] = w[n] cos([wo + Aw]n + )

79MYna 0P IMNNLY 0N x([n], y[n] mmx oxn LE[y[n]], Var[y[n]] 2wn5 v
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Aw ~ U[=1,1],0 ~ U[—m, 7] 2R p20M 2P NN wy IWURD ,MMN N 0NN ()
w([n]-2) 02 05N Nva

[1n] cos(won + 0)

il
=
I
g

[n] cos([wo + Aw]n)

=

=3
I
g

VXD Y NRIND IR 1T E[y[n]] 2wnd v

29MWYNa DPINNNVD 0N X[n], y[n] MmN OXND

IM2ONN HYA 1a% WY XN W n| IURD PPN YR NN wy TYRD  MIMN I 0NN (T)
wn] -2 mdnonva 0 ~ Ul—m, 7] v .wn| ~ U[—1,1] ,APnN

x[n] = w[n] cos(won + 0)
y[n] = cos(won + w(n])
VXD My ARNIND NN 7179 Ey[n]]| awns v

79MYNa DPINNNLY O X([n], y[n] MmN ON

PR ION PNO2 MINS NNIWI DSB NN DY NNMYPN NIIYN DY XXM MNX INNY - 7.5
FAYRD ,TINNI

NN NI ONRIDN RN MX O

x[n] = w([n] cos(0)

D2I9NN DY NIPN TN NI W[n] yTnun MN O

B[wln] = s = 5 RulF] - eXp<_|1£O>

JOMPAIY MOANN Sya wn| yTHn mx O
w[n]-anononva 0 ~ U[—7/10,7/10] O
:AVND WA
E[x[n]] @
P, poon (2)
WSS NN x[n] MmN orN ()

MY ONTIPN DYON DY IRND v (7)

y[n] = w[n] cos(0[n])

moa wyIn .0[n] ~ U[—7/10,7/10] ,n1nR nvonn Sya 125 vy X0 O[n] Twnd
w[n] -2 n9n
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MR NN (N)
z[n] = w[n] cos(won + 6[n])

292 ION-N02 IN NN DINNIND OND .E[z[n]] avnd v



8 P19

NININ HY N9 "IN

L2y INNN MN2)T DY DDANNA WSS MRIPR TONN SV > PNY TIY NN :H901

7999 19N
108 v et e e e TP 8.1
109 & i e e e e e e e e e e e e e Wiener-Hopf MRV ~ NI NN 8.2
115 v e e Moy 8.3

mTpn 8.1

:DXNIN OAND DY WY xX[n]| TYNN PN
WSS O
tx = 0 N5Mn ndya O

L2 W) W Ry[k] O

:(8.1 NYTHIN) INIT NN

MYOT TN DVY NONN .0+ 1,820 PN NAY PONNN SV IR NHN VAT
1NN NN NN . n — 1,n — 2, ... ,(93yn MndyT) MnTp

x[n + 1] = apx[n] + a1x[n — 1] + ... + ayx[n — N]
(8.1)

= Z amX[n —m]

,PNNANP OV NN O) NN DX 0IWID N2

8.2) X[n+ 1] = h[n] = {x[n],...,x[n — N]} < h[n] = {ao,a1,...,an}

2NN MY {ag, ar, ..., ay} HY 027 2WNY 7900



Wiener-Hopf MRNVYN - MINPD "N 8.2 109

DMNMNIN N ST PN 8.1 T

(8.3) x[n + 1] = apx[n] + a1x[n — 1]
JPOYN NN WA INDY DNAY ag, ap DIVNID RINND W
INON 22OV NS

VN DNV L]

SE — E[(x[n 1] - %[0+ 1])2]
(8.4)
= E[(x[n + 1] = aox[n] — ar1x[n — 1])2]

,DAND NN NRNYN Y PN IRV OV 011D .2

5%0519 = B|2 (x[n + 1] = agx[n] - arx[n — 1]) (~x[n]) | = 0

E[x[n]x[n + 1]] = aE [xz[n]] + a1 E[x[n — 1]x[n]]

Rx[l] = CL()RX[O] + Cble[l]

%SE = 0 = Ry[2] = agRx[1] + a1 Ryx[0]
1
(8.5)

LDOOY) 2-2 MINNYN IR NIN PINON

Wiener-Hopf MINNYND - NPT NN 8.2

DIANPD VN MNDTPN VN (NI0N

:(8.2 N72N) Wiener-Hopf NINIVN

"y DNTPNN P2 PN DX PTHIND 1)

N
(8.6) Ry[k+1] = aoRy[k] +arRu[k — 1]+ ...+ anRu[k— N] = ) apRy[K].
k=0

NNNAN TPODPN NYNINND TP DRIV 121N DN NNV IvwN .1 A BTN
. 2
mse = E [(x[n + 1] = x[n + 1]) ]

=F [(x[n + 1] — apx[n] — a1x[n — 1] — ... — anx[n — N])Z]
(8.7)

Y¥I5 ) OYn NN MY MY L {ag, a1, .., an} YV 0IYN 1WN .2
L(IP028 NN VIDKY) NIWIYN 5952 vy Tin NN Yy
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[/ (o) = 7 (90)) 9'(2)

MNXNYN NOIYN PINS "y 5apnNn ON»Nn

%mse =F [2 {x[n + 1] — apx[n] — arx[n — 1] — ... — ayx[n — N]} x[n — k]

= %7 [x[n + 1]x[n — k]| —ao E [x[n]x[n — k]| — -

. J/
v v

Rx[k+1] Rx[k]

- aN? [x[n — N]x[n — k]l =0

Rx[k—N]

Ryx[—k] = Rx[k] nmsnm (6.4.3 N215N) 17101000 NNONO 15 WY v

1123 (8.6) NNNWYN DY DMV DIPN (8.1 NNON) Wiener-Hopf MNRNIVNL Wiy
1NN )9IN2 DWW

k=0 — Ry[1] = aoRx[0] + a1Rx[1] + - - - + ayRx[N]
= CL()RX

59 k=1— Ry[2] [1] + a1 R«[0] + - - - + ayRx[N — 1]
8.9

k=N — R[N + 1] = agRx[N] + a1Rx[N — 1] + - - - + an Rx[0]

ARYD MRNIYN N + 1 5v noyn SY PIanan M’y a,, DNTPNN NN NINND 1N
ooy N + 1 oy

[ R[0] Refl] - RN | a0 | | Re1] |
R[1] RJ0] - RJIN-1|| @ Re[2]
Ry[2] Rl - RJN-2]|]| as Ry[3]
Ry[N —1] RN —-2] --- Ry[1] aN_1 Ry[N]
JAN] RN —1] - Ry[0] an Re[N +1]
(8.10) o - - -
(4.2 DON D) NNI) (8.2 NNON) NYNINN NNRNY - NN NNNHY
(8.11) E[x[n+1]-x[n+1]] =0

Nyxmn i AN (8.3 MDN) NYNINN VI NINNY - NN NNNY
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"y N13IN) NDNN OV ONIIN

(8.12) msemn, = E [(x[n + 1] — x[n + 1])2] = Ry[0] — i apRx [k + 1]

MhawnNn MIIN

MNYWY NaANY MY N NoTn L(6.4.3 NnON) Ry[0] > Ry[k] 2wpo ornna O
Ry[k] 5v mon> ©ivp 059y 712y MmN TIND JOP

29521 neNn IR Y9vN KO N nOn Ry[k] = 0, k > ky »>7y May O

TN NNDY 1210 OODVNN IRYD NN NN Wiener-Hopf MNXNIWN OW 1INaN
(4.2 P90 NMITA) POYHN NYNINN

TI7T PN) MOMVAN NN NIN Wiener-Hopf MNNWN v NINSN ,0”0IND D2ONN NaY
(MY 20 "ND

DIYIMON NIPI NN NPHVN’0N NN PNAVYN2I I'\P'lbﬂ MNXNVNR NOWNN DY D2uin NINAN
.Levinson-Durbin

Jinear prediction coefficients (LPC) N a,, *27y2 NaDN OV

N2°9N ,(positive semi-definite) T’2°YW NO ,IVD NN Rx NNIVNN 2D N0 1N%)
.D0»20VW KD D»NNY DY NYY

NN WSS MIX MDND 5T PN 8.2 T

~

(8.13) x[n] = agx[n — k]
2ag OV TIYN NN

RARRD

SE = E[(x[n] —apX[n — k’])Q]

-

aTLkSE = —E[x[n]x[n — k]] + akE[x2[n - k:]] =0
Ry[k]
ai = R[0] = px[k]

.DOPIN RO PXONP/ON MTPN 0N Ry [k] 127pw AN NN mynwn

OTM PN (7.2 NONTO TVNNI) 8.3 HNNT

A~

(8.14) x[n] = w[n] + bw[n — 1]
JOINY 12D Wy NN wn| AwNd
x[n] Y¢ nSMn N1dN2 M O

2px[k] S TIyN I O
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b YV TN M pi[l] =7 7YY T 0
MINO

E[x[n]] = E[w[n]]| + bE[w[n —1]] =0

R.[0] = Var|x[n]] = 1Var[w[n]] + b°Var[w[n]]| = ¢*(1 + b*)
Ry[1] = E[x[n]x[n —1]]
= E[(w[n] + bw[n — 1])(w[n — 1] + bw[n — 2])]
= Ry[1] + bRy [2] + bR [0] + >Ry [1] = bo?
Rilk] =0 k=2
pxlk] = ng
b
1+ b2
o Lt V1—4r? Lol
2r T2

IWYIN DY DPSPIAMP TR0 DY MIN DY DN MYYD MIVON MY’

for 6 ~ U0,27r] 2wrd x[n] = cos (27 fon + 0) 'NIPR TOIN NI 8.4 DN
NP
Oy DN TONNN DV PNIIP-I0IN NOEPNN NONINVY (6.2 NONT INI) T ,q0N2

E[x[n]] =0
= cos(27 fok) = Cx[k]

TONNN NAY (MMSE) 1000000 NYSIMNN 1PN NNV 12102 2IRYD 0N MYYD v
NN

x[n+ 1] = ax[n] O
x[n + 1] = ax[n] + bx[n — 1] O
(8.12) ,(8.10) MNNVNY DNXNNI IO

x[n+ 1] = ax[n] O
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113

=1 — cos*(2m fo) = sin®(27 fo)

(4.2 ,4.2 MNON NND) OINYD NMPN DY NRNIND NDAPN O) MINID ) :NIYN
X =x[n],Y = x[n + 1] yo) ,2%wnn 780

Y = E[Y] + C;);[r—)[%/] (x— E[X]) = x[n+1] = g:%x[n]
Mmsemin = Var[Y] (1 — piy) = Rx[0] — gj(lﬂ Ry[1]

x[n + 1] = ax[n] + bx[n — 1] O

R0 R[] [a| _ [ Rul1]
R[1] Ru0]| 0] | Bx[2]
1 COS(27Tf0)_ al _ —COS(Q'/Tfo)
cos(2m fo) - _cos(47rf0)
[ ] _ _2COS(27Tf0)]
_b_ I -1

MmSemin = Rx[0] — aRx[1] — bRx[2]
= 1—2cos(27 fy) cos(2 fo) + cos(4m fo)
=1- 2 cos? (27 fo) + cos(4mfy) = 0

/

fcos(47rfo)
NPND DWW NNNYND D10

x[n + 1] = 2cos(27 fo)x[n] + (—1)x[n — 1]

ANINND NN TIY 220 MXTN X MY 7252 DNN NNDT TN DY IDNNYO
NN YN M) 1991 POTHN I9IND T RN ,MTIPI M N»NA ,TTND 8.1 IPNA
.DOVIN
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z[n]

A cos(2mfon £ 6)

7N

L7253 NN ATIPIN PN MR 22DD MINTN ONX 8.1 IPN

1:20; f = 1/4; :matlab-2 MPND NXI90N NNONT
cos (2xpixf*n + rand(1)*2*pi);

for m = 2:max(n)-1

hx (m+1) = 2%cos (2*pi*f)*x(m) - x(m-1);

“ B
non

end
mse = mean((hx(3:max(n)) - x(3:max(n))).”2)

NN (11.3 DONT) OWIHN NIRNYN NOYI NOIYN NINN) 8.5 NPT
x[n] = ax[n — 1] + w[n],

al*!

Ry[k] = aﬁvl 5 lal <1 powa 125 vy nn win] ~ N(0,03, = 1) 7oK
—a
17X MM WA
x[n + 1] = apx[n] + a1x[n — 1]
,(8.10) NNNMWND ONNNA O NS
Re[0] Ry[1]| |ao| | Rx[1]
Ry[1] R«[0]] |a: R.[2]
,ONNNA NN MPN NRAY )20
mse = Ry[0] — agRx[1] — a1 Rx[2].
O
1 a ao a
1—a2 1—a2 | 1-a? a| |a
a 1 - a’ = as| |0
1—a?2 1—a2| L% 1—a?

O”PNMm AINND ,NYPINN NN NAIWWDN

x[n + 1] = ax[n] + w[n + 1].
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,W[n]| NP0 Wy NN PN ANDY 12D O

mse = Ry[0] — agRx[1] — a1 Ry[2]

o2 o2a )
= —a =0

1—a? 1—a? w
n = 10000; PNOWO VY NNNTN DR PITAD YN
w = randn(1l,n);
a = 1/2;
x = filter(1,[1 -al,w);
xhat(2:n) = a*x(1:n-1);
mean(x - xhat)
var (x - xhat)

MIONY 8.3

OPNIPN D2ONN NN (FIR Moyn) 8.1

1 v Sya oy 125 Wy NN win] IWRO

Ry[n,n + k], Cx[n,n + k], Ry[n,n + k], Cy[n,n + k] 2vn (N)
7D7DNPYVD DPHNNA 1T DN
x[n], y[n] Sv yswmnn paon n

Ryy[n,n + k], Cxy[n,n + k] 2vn (2)
29MYNI DPIMNNVY X[n], y[n] oND
1PNY/NN 209N YN N/ TPXDNP 20N IR/ DPONNVNINR ONN X[n], y[n] OND

? x[2],x[3], y[4] 5v namwnn nucann »nn ()

-2 VIPY D 10N NN DNTIPN DYDY MAIVNL WHNWND 1% :NIYN
27900 TIY N KOO Ry[n,n + k|, Ry[n,n + k|, Rxy[n,n + k]

NN x[n] T y[n] Sv 005 N2 NV 12102 O9DINVNIN INRIN NAY W (T)

~

y[n] = aix[n] + asx[n — 1].

2a1, ap OV DXIIYN 0NN
-1 VIOV D NIV NN DNTIPN DOYDD MAVNL WHNWND 107 DY
27900 TIY N KOO Ry[n,n + k|, Ry[n,n + k|, Rxy[n,n + k]

POINY PINNONOD NI MNON Yya x[n] TONN PRI OINYD »non) 8.2

E[X[n]] =0
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R.[k] = 4eXp<— ]k\)

YNIPN TONN N
y[n] = x[n] + 2x[n — 2]

.p(x[n] < 4) M2y MIANDN YN (N)

x[1], x[3] OPNRIPNR DINWYN P2 PYONP DTPN DY 190N TIY N (1)
E[w[n]] avn .wln] = x*[n] NN PN P (3)

WSS Ponn win y[n]-v o (1)

D <y[n] > 4) ,p(y[n] < 4) M2y MIANoN avn ()

N2IWVNN IR PRYND 1 ?y[1], y[3] DPNIPR DINWN A covariance NNIVN NN (1)
27901 WY N va Ry|k] Sv 'mad

9MYNa 0PIMNNOD 0N X[n], y[n] 29NN ORN Ry [n,n + k] 2wn (v)
NN N MY Ly [n] I x[n] SV IR NN MYYD 0NN (D)
x[n + 1] = apy[n] + ary[n — 1]

Ry[k], Rxy[k] 9% m3p093 ag, a; Y D27yN DX 70N 2wN

NNXIN ONIPN TONN PN OIRYD "vN) 8.3
z[n] = x[n] cos(won) + y[n] sin(wen),

,00D2N70T) INIPN XD WIAP TN NIN wy IYND

:aWND W

WSS NN z[n]-v NN (N)

?2z[n] Yv yxmnn paon nn (1)

29MYNa DPIMNNVD 0N z[n], x[n] OXA (3)

2wy = m/2 My z[n],z[n + 2] Pa 07900 TIY) PEONP OTPN M (T)
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NYNNN TPV DRIV 1IN IDVNN NN N ,z[n], z[n—1] ©9y yN»na (PI 25) (N)
(7M¥N DTN VIV TIN NIWNN DN DAY N 2z[n + 2] Sv (MMSE) nvon»m
-2
E[x[n]], E[y[n]], E[2[n]] , Ru[k], By[K], Ralk]

ma7Y ,z[n] S¥ NMIYaNN NN ,DPOINY DPRIPR DINWH 0N X[n|,y[n] -v ynrna ()
7(D»77900) DIVNION

T PYDA DN OIDN KD :NIYN

NINNN ONIPN TONN nny 84
z[n] = x[n] cos(won + 0) + y[n]sin(wen + ),

MNY ,CVDIYPNIVT) NIPR KXY MNP TN NN wp ,DPOINY MMN 0 x[n], y[n] 2wxd
PN ,Q0NMA MMNIN NN NS PN L0 ~ U[—7, 7] RN mdann

:PYT20/2WN0 WA
7P, PavN N PIPNOVD NN z[n] O8N (N)

MINYD NN MY %) ONN 2(joint-WSS) MmN 07 INNsvVL 0N x[n],z[n] oxn (2)
IMMND P2

Pr(z[n] > 0.5) 5w mIanonn ()

1E|(z[n] — z[n — 1])?] nv>an v 77y 0 (1)

DYNIPN DONN NN 8.5
Ri[k] oy x1[n] ~ N(p1,0%) , om0 399m0 x;[n]| O
Rok] 0y xa[n] ~ N(pg,03) 0 39910 Xo[n]| O
x1[n], x2[n] Y2 M5N N MO Y O

ONAN OVYP DM
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WSS N y[n] -v oD v (R)
27292 puy, flo, 01, 09 DIVNINL VIDY TIN POON DIVAY TITN NN 7P, Pavn N (1)
2Oy [k] v ()
ry[n] 5o ndann s (1)
2y[0] + y[1] Sv mnoann >nn (N)
?joint-WSS 0N y[n], z[n] oxn (1)
NN @ IOPVN PINYD NN OTPN NN .y = e = 0,722 Nt Pyo Nay (v)
22[n] = ay[n]
DPNIPN DONN DN 8.6
Ri[k] oy xi[n] ~ N(p1,0%) ,momd 399m0 x;[n] O
Ro[k] oy xa[n] ~ N(pg,03) O 39910 Xo[n]| O
MM N NN ) NY) Ryo[k] 2Hya joint-WSS 0N x4 [n], x2[n] O
NN DIVP DN

y[n] = xi[n] + x2[n — 1]
xi[n — 1] + x3[n]

N
—
S
—_
I

P,

v PADN awn WSS N y[n] -v ,noimnd v (N)

Cy k] awno v (2)

2y[n] 5w mavann >nn ()

2y[0] + y[1] Sv nndann >in (1)
?joint-WSS 0N y[n], z[n] oxn (M)

Z[n] = NMEM @ OWVAIN PINYD NN DTPN NN POINI 120 W x4 [n], Xo[n] My ()
ray|n]



I P5n

NN



9 P49

P39 I - LTI Ho9yn

INAIPN TN DY LTI NOIYN Nyawn v mnmn

9999 199N

120 b i e e e e e e e e e e e e e e e e e e mpn 9.1
120 e e e e e e e e e e e e e e e e e myan 9.2
12 I YD 9.2.1

123 TN MW 9.2.2

120 e e e e e e e e e e e e WYY MN ONN Pavn 9.3
126 0 o e e e e e e e e e e e MNY MM YY XM pPa wp 9.4
120 i e e e e e e e e e e e e e e e e e e mMoORY 9.5

mTpn 9.1

o»pnn A(t) 0505 NANN NOYa LTI NdIYN 12y N A0 NN
navvn

x(t)—  h(t) —y(t)

(9.1) = Jw z(s)h(t — s)ds

,2 7DD MY N1
(9.2) Y(F)=H(F)X(F),

AYUND
(9.3) Y(F)=Z {z(t) = h(t)} = y(t)e 72 at
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"N 9.2

LTI MDIyn 5¥ XX MY MDD P2 OIVP IND

TAN O¥PNN ON P ON DY LTI NOIYN AN (9.1 NdN) WSS NOd
:D90NN 2 D) OPPNN ,)1PN0 DXNININ

WSS N NP5 Ponnn .1
WSS NI R8N PONNN .2

AMYNIa WSS 0N RNM ND2D .3

DD DNMIN WSS MMN I (9.2 NM9N) NIMYN NPMININVD YV NNV
LTI Do9yn Y X¥MY NOD THa neind

Patn N 9.2.1

noMIN DY NYAON NIN NIIYNN R¥NA WSS TONN NOMN - (9.3 N15N) NHNIN
"y PN ,NOIYNN OV DC 723N 9190 NOIYNO NOIO2a

0
(9.9 py = e | B(5)ds = ),
—

DC 923 D) XIP)N ,DC 17N NTIVYanx nann M H(0) Iwrd

,PIDANPN DNVYPNY NOMN OV ITO PONND JN2) .DNW

E[y()] = E [ J " h(s)x(t — 5)d5]

—0o0

_ foo h(s) E[x(t - 5)] ds
—_—

—ao0

= lix J h(s)ds = uxH(F = 0)

MN) ND)D MNX P2 OIWVP (9.4 NNON) 1IN MY - RNINY NDN P DY
(NXID

(N9.5) Ryy (T) = R
(29.5) Cxy (1) = C:

) %
—~~
S N
~— ~—

nave
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(39.5) Ryx (T) = R (1) » h (=)
(19.5) Cyx (1) = Cx (1) # h (-
9.5 Ry(r) = Re(r) =h(r) < h(=7) = Rey(r) + h(=7)
019.5) Cy (1) = Cx (1) * h (7) * h (—=7) = Cxy(7) * h(—7)
DN
Ryy (T) = E[X(t)y(t + T)]
—E [x@) fi h(s)x ((t+7) = s) d8]
(9.6) 0
— f_w h(s)E [X(t)x(t +7— s)] ds
- fi h(s)Rx(T — s)ds = Rx (7) * h (1)
Ryx (1) = E[y(t)x(t + 7)]
_ El(;((t) . h(t)) x(t+ T)]
-
(9.7) o0
-] h(s)E[x(t — s)x(t + )] ds
= B h(s)Rx(s + T)ds
= [ (= () Rutolis = Rutr) ()
LJTIND DMYT N TMNDOHN AN MAY NN

x(t) ~ N(0,1) mx .oy 8O A(t) 0505 Nann ndya LTI NOIN NNy 9.1 "nnT
() NS wnwd N1 VIVIVIY NNV AR LY () = x(t) = h(E) 120 vy NN

x(t) h(t)

El] =7

RARRAD)

7290 2WVN
MTvma by
0]
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= h(70)

(9.1 9PN) 7; 097y G0N MY A(E = 7;) SV DIy HAPY ) 01D

A h(T)

————————’

.
|,
|
|
|
I

| | »
|

T T2 T3 e T

=

VAN 935 D27 A (7;) SV 2N My nYapNN ONY NAVN :9.1 IPN

9NN v 9.2.2

.D2301 DY MPIINND D02 - TNN MYNI NOIWNN RINND NOID PA WP NN

SV ATNN NIANN PN (9.5 NNAN) ATNN MWN - REIMY AN PA WP
:0n o wpn H(F) = .7 {h()} nownn

(N9.8) Sxy (F) = F {Rxy(1)} = Sx (F) H(F)
(29.8) Syx (F) = Sy (F) H*(F)
(39.8) Sy (F) = Sy (F) H(F)H*(F) = Sy (F) |H(F)|”

:INONI VIV TIN ,PY J9IND DHNOWN
, 07N N0901N NN IR PP O

H*(F)=Z{h(-7)} O

noya ,PIVN NOIYN NNNIY (NINK TITA PINS L7.4 NNDNTN Sy NMNY 9.2 PNt
h(t) = 8(t — to)

Sy(F) awn
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RARRAD)

y(t) = x(t = to)
H(F) = ef?rfto

(
2
Sy(F) = Sx(F) [H(F)|" = Sx(F)
7.4 IONTY AN NN N2IWNN 19N

s, Ry (T) = 711 00019 oy x(1) mx pny 9.3

VI+4m2F?  |F| <2

H(F)| =
| ()| 0 NINN

Loy Ry (T), Py :awno v

RARRD

5(F) = 7 (R0} = 1 e
5,(F) = SulF) [P = 42 1=
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(11.4) = > h’[m]Var[x[n —m]] yora mbn xS

= 0> h’[m] = Cy[0] « Var[x[n]] = Cx[0]

oV MXTN P2 (MON X)) PNOMP 0N DY ODDIAN (11.4) INNYHNI MNY VN
.(3.33) MNNYNND ORNNA )20 wy)

D) NI NYDT M NAY (114 ANON) SOINY MR Y NINT N NNYann
WIPNR NOPY TN 1 L X = x[n], Xy = x[n + k] T2 202 (10.1 nonT
Py N mamwn nvmv oy X = [ X, X5]7
COV[Xl,Xl] = COV[XQ, XQ] = Var[Xl] = Var[Xg]
(N11.5) = Var|[x[n]] = Cx[0] = o2

noMn

v
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(211.5) COV[Xl’XQ] = COV[XQ,Xl] = Cx[k]

NN NYAPNNN covariance NYIVN

o 1 pxlk] Culk] _ Ci[k]
= @ [Px P ] ] <= px|k] = 0] = o2

Z Hvna Mny  11.1.2

MMN NAY PN NINNN VIYDO NNMITI ,Z NNWNI O Yy ©2IWNN NN MYYD J12)
DTFT NNNN2 VWM 987 19 MMN N2AY Laplase NINNN2 VINIWN TURD ,PNT )02
NN MNS D290 0”73 NI TT2 It MMX MY

TIND DT POONN O .(9.8) ,(9.5) MNNWND NMTA DAPD N0 TT2 I NN DIVPN
LINTD MMND MM Z NINNNA YNNYNY 112,012 .9.3 NNONA ITHNY NN

A1) Ry lk] = Rk <hk] So(f) = Sc(NH(f) Seyl(z) = Se(2)H(2) .

AYND
(11.8) Sx(z) = Z {Rx[n]} .

AWPN Y NI Z NINNN

(11.9) H(z) = Z {h[n]} = i h[k]z7*.

k=—00

:(11.5 19AN) PNHAND

(11.10) ol = ol = ] 2 W) = i p(s)
:(11.6 N19AN) M2 PPY
(11.11) Z{h|-n]} =H (z_1> = H (1/z)

:(11.2 79730) LTI N29YN Y HNONN NNSPN

Y'Y NN NN SY NNONN NIEPND

B(z)

(11.12) H(z) = Z {h[n]} = a0

o»pNn 0791
(11.13) Z {h[n] « h[-n]} =
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NN 2WND VN M VPN

(11.14) Ry|k] = Rx[k] * h|n] * h[—n] Z, Sy(2) = Sx(2)H(2)H (27

Py = Ry, [0] yno ,0m50 o2wm

TIN2 oy A(z) Sv DYVNVYN TN NN NOIYN MY :(11.7 HNON) MY
DR Dvn

11,11 I5ND NdY avpn Y93 NN NNoNN

FIR M29yn 11.2

0bNY M0 NAVN DY MOIYN  :(11.8 NN5N) FIR
h[n] = {bo, bl, 600 7bN}
NN NMNN Yya N + 1 7Na

(11.15) H(z)=B(2) =by + bzt 4+ -+ by

2% PN FIR MOIYN ,0N71THnD ORNNA $(11.9 DN5N) My

(6.9 MONTN Sy NN AN PA) 111 AN

NYY3 NN TIT 2 MK (WGN) "0 129 wyd X0 x[n] ~ N(0, 0?) no2d MmN
Aln] = {11} o5n5 nann

:aVND W

y[n] moann P, paon Var|y[n]], E[y[n]] ()
Sy (f) mONIVPAD pavn Mmooy (1)

Ry[k] o)

y = [y[nl]] 5% namwn Mvann (1)

OVIT WIS

6.9 NNNTA TYNND )20 VYT DY NPIINNOD NNONI VDY WYY 6.7 MHNTA O
STHN MNON VY NYY)

0YN SV MNONA YIDY TN DNNTN DX NN oD O

(11.16) E[y[n]] = BX<]> h[m] =0
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1\2 1\ o2
(11.17) Var =0 th = <2> +(§) =5

(11.18) P, = Ry[0] (6.4.3 n1Tan)
= Gl0] <~ E[y[n]] = 0
= Var|y[n]]
(11.19) yln] ~ N (E [y[n]] = 0, Var[y[n]] = %2>
Sx(f) = 02 4Sy(f>
|
|
| Py
|
|
’ -]
1 1
2 2
ATHN MY NN
(11.20)  h[n] = %5[71] + %6[71 — 1]
(1121  H(f) = % + ;eﬂ“f ;e inf [e”f +e ]’Tf] = e cos(mf)
2 _ 1 e—J2nf 1 jons
(11.22) |H(f)| = H(f <2+ 2 )( +5¢” )
% [1 + cos 27rf)] = cos*(nf)
(11.23) Sy (f) = o?
(1129) Sy (f) = Sk (f) [H(f)|" = DTFT { Ry [k]}
o? 0?1 , 1 ,
=5 [1+4 cos(2nf)] = 5 l— exp{j2rf}+1+ 3 exp{—ﬂwf}]

(11.25) P, = f Sy(f)df = f f Sy (f)df

t\:m—‘

= o2 f; [1+ cos(2n f)] df

sin(2mx)
2m

(11.26) 1 J[l + cos(2mx)| do = x +

:Ry[k] 2000
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PR NN PINIANP IWN - N 7T O

N-1
= Ry[k] = D hlnlh[n + k]
n=0
(11.27)
— 0%[k] « {%%} . {%%} _ 02&%%}
2 9 )

:Matlab "y h[n] = h[—n] ¢ 21N
conv(h, fliplr (h))

PNNIANPN DWND Z NINNNA VDY -2 71T O

(1128) Ry [k] = Ru[k] « A[n] = h[—n] <Z> Sy () = Se(2)H(z)H(="")

2D2ApNNNN WM

(1 1 1
=0 | -2+ -+ -2 |z| # 0,0

00970 Y MY NNT NXD NAIYNN [, AmMD

(6.9 "MONT) O”¥pn - "X 77T O

Rylk] = DTFT " {S,(f)}

MNINSN TYNN

y [E[Y[nl]]] - E[y[nl]] _ E[Y[TLQ]] -0
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Cy[0] Cylk]

Y=l oyl

k= |n1—n2\

05N N2 0N y([n], y[ne] ¥ ©wn k= 2 Sv napna ,Cy[k] 2w°n> ornNa
ke = 2 N0 (10.3 NITIN) DPNONMP DY XD D) N2 PXDNP 20N DYONNVIN
Pe < 0.5 My

N NN NOYA (MONVIN) NIIYN) YOIND 120 WYY NINY W[n] MN PNI :11.2 DT

-1

x[n] :%[W[n]+W[n—1]+--~+W[n—N+1]] _ %NZ wln — m]
m=0
VN .(10.3 NONTO NDAPn NHNT)
x[n] = h[n] * w[n] no9ynn Sv 0515 Navn O
Xx[n] Sv Mdann »vNIS O
05N> NANN O NINO
h[n] = % AL, 14
H(2) =%[1+z_1+- +2 (N‘l)] z#0

W[n] Sv mMNINK MNT N SV N yNan noIynn

n) *

Ih[n]
N1

Z W -'RJ7T7 0

2|~

h
0 N-1 —(N=1)

Sx(2) = Sw(2)H(2)H(=™")
=c?H(2)H(z™ ")
Rylk] = 71 {S(2)}
NI NS NI Z MY NI NINSN M NIPNI

10.2 NNONN DY DOANN 2NN RN NN -’72 7T O

E[x[n]] = E [w[n]] Zh[n] = Elwn|[H(z=¢"=1)=0
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Q
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>
=
=
E)

+
&

Ruf0] = 0 3 12[n] = o? (% $>
=~ = Cy[0] = Var[x[n]]
x[n] ~ N (E [x[n]] =0, Var[x[n]] = %)

1 N-1
Var[x[n]]| = ~ var w[n —m]|
N m=0
| N
= — Y Var[w[n —m]]
N? m=0
L/, 2
=Nz <0’ +--t0o )
1, o’
TR

SNY N0 NN RNIND MNY N MY N OV TIyw 535 0100 O

w = randn(1,1e6); Var[x[n]]| >v momob nonT 0
N = 5;

x = filter (1/N*ones(1,N),1,w);

var (x)

N2Wad TINY NMIT It MND NO2IN DY N0 TN MN ONPOYD NN O
1/N 5w M0paa nvaonY VIS NIIYNN DV
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IIR MI9yn 11.3

NYNAN NINNN 2OYa ,0ON0 PAODIN NIANN OY MOIYN  :(11.10 N»5N) IIR

B(z)  bo+biz7 b+ + by
11.29 H = =
11.29) () A(z) ag+azt+ - +ayz ™™

NN ONIPR TOAIN PNY (113 NS
x[n] = ax[n — 1] + w[n],
2O 125 Wy NN wn] ~ N(0,0%) KN
DANNINVD TONND NN M O
E[x[n]] awn o
Ry[k], Cx[k], Px 2awn O
DTPN MM O NN

X(2) =az'X(2) + W(2)

H 1 z n
(2) = a1’ |z| > |a| <= h[n] = a"u[n]
; 1
— — pJ2nf) —
X() =X (s=emf) = — . ol <1

JH (2) 59 Mmoo »Nand 91pw x[n] May WSS-2 »Nann WSS X wn]-1 InNn O
NIIYN NAY DN MVYD 13 KO (11.1.2 N 9.2 1NN INI) [a| < 1 v
N2> NO

(11.3) MNNWN 9"y - N TIT - NYMN 2WN O noMmn

(11.30) fx = pig Y h[m] =0

x[n] Y WSS nn5n Yy ©vann - 'a 7717 - NOMN Wwn O

E[x[n]] = aB|x[n —1]] + E[win]]

(11.31) Ux = Qlbx
px =0
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'N 777 - Px poom Var[x[n]] manw :wn O MY

Var[x[n]] = Cx[0] = R[0] = Px

= Var[w][n]] Z h*[m)]
(11.32) B N 1
o mZ_O (a ) nZ_Or ! Ir| <
1
:021—(12

(N5MN 2e’n Yv '3 7179 1M Ta) 2 717 - P paom Var[x[n]| maw 2wn o
Var|x[n]| = Var[ax[n — 1] + w[n]]

(11.33) = a’Var|[x[n]] + Var[w][n]]
Var[x[n]| = a*Var[x[n]] + ¢°

Sx(f) 2N "y 21NN Mwna (3 777) P poon 2wn O

DTFT N0NNY Z NINN P2 IWpY ONNNa

X(f) =X<z=ej2“f>

B 1
1 — qe9%f
2 1 1 1
X — - . - = T T
‘ (f)‘ 1 —aeJ2nf 1 — qei2nf elv + e Iv
14+a?2-2¢g———
2
B 1
1+ a?—2acos(2rf)
2
Sx(f) = Sw(f)|X ()]
o2

1+ a? — 2acos(2m f)

1/2 1/2
Px=f sx<f>df=2f Sulf)df

—1/2 0
1/2 o2
= 20" d
? L 1+ a? — 2acos(2rf) /
. . 1/2
- Zﬂm arctan(l i Z tan(ﬂf)) 0
1 T 1
_op2 v T 2
Ow(l—a2)2 1@
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N MYN - 'R 71T - Ry[k] w0 O
Ry[k] = Rw[k] * h[n] « h[—n]
(11,39 = 0%[k] » (a"u[n]) = (a~"u[-n])
= o” (a"u[n]) » <a‘”u[—n]>
VP RYND VAN 105 M) TR XD NN PY 1IWN

h[k] « h[=k] = > h[m]h[m + k]

(11.35) = >, a u[m]a™ Fulm + k]

>IY2 PRI 25vA TPNNnd Y Ry[k] = Rx[—k] Sv m0m0 nndn Y531
:0”pnn oMy Lk =0

a0 a0
1
11.36 k 2m kLl = k 2m _ _k
(11.36) amz_joa u[m + k] amz_oa T
, 01200
Ry k] = 2% 0
(11.37) Ry[k] = Rx[—k] = Rx[k]
2
g k
= ] _a2a| | Vk

J1.2 (89 y9t) 9.4 MINDNTO T XN AT PINS

DWIANA NN - "2 3T - Ry [k] 2wwn O

noMN ©2avNM x[n — k]-2 MxN AR 929

x[n]x[n — k] = ax[n — 1]x[n — k] + n— k|
E [x[n]x[n — k]| = E [ax[n — 1]x[n — k]| + E [w[n]x[n — k]|

w[n]x

Ry[k] = aR[k — 1] + Ewin][E [x[n — k]|
Ry[k] = aRy[k — 1] = a®Ry[k — 2] = a®*Ry[k — 3] =
Rylk] = d Ry[0] = a* iﬂ k>0

220 ,w[n| MRS OrNND (I8T) 1) AWRD Z MWD - 3 AT - Ry[k] 2wn O
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1
H(Z) = 1——CLZ_1’ |Z‘ > ‘CL’ novnn 97
Sx(2) = Sw(x)H(2)H(=™")
1 1
= 2 . —
"1 1 -az a>’Z‘>‘a’

g 2 1

z—anl—az
A A
:0_2|: 12 n 22

z—a 1—az

] = Az —aA2? + Ayz? —aAsz = 2
A 1

(Ay —aAy) 22 =0 L= 12

(A; —ady)z =z Ay = a

1—a2
B o2 1 1
o 1—a?|1—azt 1-1z1

a

2NN NN VYD 11”100 ONDO-Y0IN NN H (z—l) PN NN H(2)-) InNn
7252 >°N2°0 2VIP NAY

o? 1
X k| = !
sz[o] 1—a25f {1—@2—1}

Ry[k] = Ry[—k] = Rx[k] = al*

1—a?

, MY ONDO-S0VIN PON SV WD MYYD 0) 1N%) )2

o N e
].—EZ

2WN YNIY N TPONNN ITIN NN - T 7T - Ry [k] 2vwon O

Ry[k] = DTFT' {Sk(f)}

sigma = 1; a = 2/3; 89D - N 7T - Ry[k] w0 O

w = sigma*randn(1l,1e6);

x = filter(1,[1 -al,w);

[R,lags] = xcov(x,10, 'unbiased’');

stem(lags, [R; sigma~2/(1-(a)~2)*(a). abs(lags)]"')
legend ('Simulation', 'Theory')
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MoNY  11.4
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N22APNN VN NNV NN
y[n] 5v yvmonn paom Ry [k] avn .3

noyn NNy 4
ha[n] = {h07h1}

ho, h1 # 0 Yv ©37y DIw OND .z[n] -2 NIIYNN XM PO Xx[n] NDId My
1TNIVN NN NN .7PNONP 0N 0N y(n], z[n] mmxD oMay



MONY 11.4 155

IXPNS NOYA NN TIT 1 win] ~ N(0,1) >0 125 wyd Py (xOmo) 11.3

1 nMonn

H(z) = o=

x([n] -2 Y2990 N>YNN R8N
Ry[1] Yo 71y moxomo "y awnd v

280D W LTI NOIYN TIT NRIPN MN I2Y0 NNID NN DNIND DV NI0N (M85 D) 11.4
0”310 0”901 O2IY 2XINN TIND DVNION DI2

02 NV Sya 'oINd 129 vy NN x([n] ,noaynd nonon O
y[n] -2 y2on x8m N O

H(f) 7700 manm h[n] 0505 nann noya noayn O

9NN DX ONIN 22PN GNN ORN Ry [k] ,ND220 MmN SV P8ONP-I0IN AWND W (N)
POININNN

H(f) 2700 nanm An] ,noapnnn 0509 N2nn »Nn v .BPF HPON 1ONY wATY (1)

x[n] TN Y 2NN NDDIIN IRNINN ONN NN MN SY MNYI YN 2Wn v (3)
2((11.4),(11.3) MxNWN) hn] 0519 NAVN Sy DDIANN 2NN DY IRNINN IR NONIN

PDF-9 NNNYN Ma7Y pOINY NN NSIND MNX NNIYONNY |, N0 'y MNIND v (1)
.DTIPN PYON O0NI DY PONNRNN

:ININ ODITNN MIAPNN MRNN OV INNYND INTH (DNRIAN DY ¥t

OOV 2TNN NARM Afn] 0NN YW MI90nN 051D NANN NDDIAN IRNIND O
YNNWND GWAN) NPOIINND MNNDN ODIAN M NIPNA Moo wnn H(f)
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y[n] ,PONNN KX MIN NODINN Y WD NINNND O

PY 2N NDDIAN DINNMND OND ‘Ry[k] NS MIN DY PNOMP-I0IN AVND W (D)
NNDNN Y DDIANN 2NN DY ARNINN DN DN y[n] M (xcorr NTp9)
NPINTAVY (11.27)

oV NIRNM ((9.8) NNNWN) ]H ( f)\2 NODIIN IPONRIVPAD PADN MY NNNYND v (1)
Welch periodogram "y Sy (f) 219N

NN NINRHNN ONN . Ryy [k] NN MIND ND2ID MIN P2 7P8ONP-DINP 2WnD W (1)
NNONN DY DDIAND NN DY INHIND IN TN X[n], y[n] Tn e 2wn
?Ry[k] * hn]

NIIYNN XYM ("2 PYDY NMITA GO PON PINO ¥2) 9APNA BPF 2300 8 MM (N)

Rya[k] Nm MND 1D MIN P2 PONP-OIP 2WND v z[n]| -1 YD Hvn

2NN SV IRIND DR NN y[n], z[n] T v 2%0 NODIAN ARNINN DNN
2((N9.17) NNNWN) Ry [k] = hy[—n] = he[n] XNDMN Yy DO1ANDN
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NN © = {g )PNIN Y2 MIND POON O

(12.2) P, = y*(to).

UYOPN YYD MK DN NOYa A(t) NIV NINND 7900

P, P,
12.3 NR = —
(12.3) n]fll(ax SNR = 2 P,

Vlt=to

LONINN PON NIPN DN NOIWNN & =ty YR

PORN M 12.2

ANYOD WY MAY PONN NV OV MNP (1901

wyao MmN ON M 12.2.1
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,AN PN
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(12.4) w .
J X(F)H(F) ™ tqF
—op —~———

(12.1) PNNMNYNI Y9N WYIN Paon ,NMmT 191N

:(12.1 N979N) Cauchy-Schwarz 11YY-"N
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X*(F) _.
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Y(F) = X(F)H(F)
= X(F)X*(F)e 72rfto
(12.19) = S, (F)e i?mFto
YA NN DAPNNN WP
y(t) = FH{Y(F)}

PONH NN
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w .
= J Y (F)e* FtdF
w .
(12.20) — J Sx(F)BJQﬂ'F(t—tO)dF = Rx(t _ tO)

Y(to) = Re(0) = P, My Hopn 7Iy Sya Nm

NI WY MIN DN :(12.3 1ON) WYY MR ON oA
N 2 N 2 2
(12.21) SNRz—J X(F sz—J z(t)|” dt = —F,,
N, | X @) N, | =] N,
Z(t) MR YV 73RN I E, IUND
7 amna o519 P 12.1 Nt
1 0<t<T
(12.22) z(t) =u(t) —u(t—T) =
0 »Inx

VY DYINIAM HAPNNN OXINNN PIONN DN NMID W .DXITH ISR Mt u(t) IWRD
JOIN) 320 vy May

Y NN XMV £y NAY ONRINNN PON O RARRD

h(t) = x(ty —t) 1 to—T<t<t
(12.23) =
= u(to — t) — u(t() —t— T) 0 »IPN

NID YUY MIN DAY NOIYNN DY N¥N O 'y NN
NnoYvn
y(t) + o(t) =h(t) = [x(t) + n(t)]

(N12.24) = (m h(t — s) [z(s) + n(s)] ds

J—00

0
= ( z(s +to — t) [z(s) + n(s)] ds
J—00
~t—to+T t—to+T
(212.24) = x(s)ds +f n(s)ds

t—to t—to

(

J < J

i Y
signal y(t) noise v(t)

NN OWIY Y At — $) IWNRD

h(t —s) =x(to — (t — ))
=[I)(S + 1y — t)
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(12.25)

(12.26)

(12.27)

(12.28)

(12.29)

=u(s+ty—t)—u(s+tg—t—T)
=u(s—(t—1tg)) —u(s—(t—to+T))

NMNXNND MNOIVIPNI 92YTN 0Ny

x(t) + n(t)—»

t—

to+T

—2(t) = y(t) + v(?)

NN NN MNX O

'

to—T

to to+ T

oapnn t = tg Nay

NN WYIN SY noMn O

N PavnNMm

vy n mnn
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to-2 15N 'nYa vy Pavn MaNd

NIN (12.21) ANNWN 9Y YApNNn wyId MN On O

2
y*(to) 2 2
12.30 SNR = =—F =-—T
( ) P, Ny Ny

T 1= SNR 1,050 nayn

YIS TINDS T NI TTA PR ONIND PO MION  :(12.4 ANAM) T 0t
NN 92APNNN PONN TWRD P8I

(12.31) h[n] = z[no — n]

PN ONINNDN PONN R VAP AN O»DOW/0»I2PN OO a8 PNI :12.2 NPT

12.2
u] u] u]
0o 1 2 3 4 5 6 7 8 9 10
u] u]
u] u] u]
12.2 IONT :12.2 PN
D20 124

:NINAN MION Oya NN ONIND PON

h(t) =0,t <0 pnro O

NN PONN POINY )20 Wy May O

(12.32) H(F) = X*(F)e 7> L h(t) = x(to — t)
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oy

2 (® 9 2F
(12.33) SNR = —f X(F)| dF = ==
NO —oo‘ ( )‘ NO

MO TN Op 2”72 O

1) MTIVDINN "ONNY”  PON? MM MTIVDANN "PrNn” Ponn O
MORY 12,5

WDIPNIVT MN PNy 121

z(t) = u(t) [exp (—at) — exp (—aft)]

T MR NN u(t) ) o, f > 0 DYIap IUND
Sa(F) = Np/2 mORIOPAD PADN MY HYa YOINY 120 Wy 01 MIND

? h(t) ,MND MY ONXINND PON I (N)
7 o T2 PONN KNI MKD PADN M (2)

222pnNN SNR NN 20NN RN WyIN Paon nn ()
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PSD DW TIYWY Nyvyn Mo 0900

2990 19N
168 . e e e e e e e e e e e e e e e e e e e e e e e e e mph 13.1
B - Periodogram 13.2
B Modified Periodogram 13.3
167 v e e e e e e e e e e e e e e Bartlet-Welch Periodogram 13.4
B MYNY  13.5

mTpn  13.1

X[n] WSS »XIPN TN Sv M T N mnm)

:(13.1 D7) 989 112 PSD-) I8INP-I0IR - DPVDINNIVT MMIN

0N OAYPN DPXRAPN NO MmN May
(13.1) R, (t) = x(t) » x(—1)
(13.2) S.(F) = X(F)X*(F) = | X(F)[

NN (1/N wviapa N9950 »75 TY) DTFT Nnn "’y 112 22 DYpaAnNnNn ﬂb’:lpmﬂ
(13.3) R.[n] = z[n] * x[—n]
2
S.(f) = ‘DTFT {x[n]}’ — DTFT {R,[n]}

2
N-1

- ’X(f)f — Z [n]es2wm



Periodogram 13.2 165

Periodogram 13.2

:(13.2 N9757N) Periodogram

periodogram NNIPI 1PNY MXNDNN NODIAN NDDAN NOVIWYN

2

1 N-1 ‘
(13.4) I(f) = + > a[n]eIn
n=0

,(TJNN8N 9"y DDANA TI9Y DY DFT NINNN NNV ,TTA TN NYPIANNN N2°apnn
NN DY192 2WND NUNYNN

(13.5) Sylk] = %‘DFT {ﬂﬁ[n]}‘2 = %!XU{?]!Q

.PSD 92959 12092 yMIN MOYS  ,MIND DET NINNN yNAD NN 198N

oNN Sy 2”72 ODIAN NTIPON MY WNN .periodogram NP 'y Matlab-2 v
€ [0,7], f € [0,1/2] o1

w
'— =21 NN TN P IWNRD L1-5 0 P2 NONIMN NN Matlab SV TN MINON I
™

NOVN RN PITAD NN NIVNN o2 =1nmav SYa >DINY 12D Wy M) :13.1 DNy
ONT LN NOTIN DY MRNIND NPYWO NN " Nn” AURD ,NNY N Mind)T 1901 Nay

x = randn(1,128); % 128 samples of white Gauszﬁ]glnn}%?i]gévn M1y ‘npb
periodogram(x) % plot periodogram

Se(f) =1 200 moNRn ARNMNN O

DN DPAPN DTN PI .13.1 9PN M NY N 209y T2y S92 IRINN O
A(76.52) NNNYN) PSD DY P00 0N NoN Yoia

N nSTN DYy NI9NYN KO NVXWYN DY AIRNIND ,NNNTH 010D O

10N DVINIANY  ,MININD 1Y :(13.1 AN5N) periodogram ¥ WIS

JOTPRN” TIYO DIONN ysmn O

(13.6) lim E[I(f)] = S:(f)

N—o0
, V-2 091 'N52 191N TIND M) NINYI NOW O

(13.7) Var[I(f)] ~ S2(f)
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N =64 N =128
E[I(f)] = 0.99, Var[I(f)] = 1.1 E[L(f)] = 0.95, Var[I(f)] = 0.99

0 01 02 03 04 0 01 02 03 04

N = 256 N = 512
B[I(f)] = 1, Var[I(f)] = 0.91  E[I(f)] = 1, Var[I(f)] = 1.1

. "IH‘ l
Bclic v , Lo Ul
0 01 0.2 03 0.4 0 01 0.2 0.3 0.4
f f

.periodogram N’V YOIN) 12D WY OV PSD 21wND NnnT :13.1 9PN

Modified Periodogram 13.3

LDNDND N )IONA NO9ON NADIN Y NNTIPN NVXYN DV IRNINN NN NI9VN NOVN
.Hann )50 >

2(13.3 N97>N) Modified Periodogram

1 N— 2
—27rfn
(13.8) =N Ez J

9N 1IN PONN DY PN TN periodogram NTP Y matlab-2 v |

AP NOODIIN NINTN :13.2 anT

Sy(f) = S<(f) [H(H].

MY YavIn NND NNR PVNRD J9INI MNSD) KX PSD ,NDID2 YOINY 12D Wy NaY
J09YNN DY NTIVONN NANN
Y PADN MNN NAY PSD 2IWND MOYWWN P2 ARNYND DNNT MM 13.2 PN
H(DINN2 MYV NPPTAS MYNYN NMNVDMN) MOIYN I NAY
x[n] = 0.75x[n — 1] — 0.5x[n — 2] + w|n]
x[n] = 2.7607x[n — 1] — 3.8106x[n — 2] + 2.6535x[n — 3]
—0.9238x[n — 4] + w[n]
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= 256; % number of samples NI TPNOMON NAY TIPD NNT
= randn(1,N); % white Gaussian noise

[1 -0.75 0.5]; % filter coefficients

= filter(l,a,x); % filtring of x

win = hann(N); % Hanning window

periodogram(y,win) % plots modified periodogram

< X =
1

Periodogram Modified Periodogram
20 —— 20 ————
g
— 0
A
5]
A
-201
0O 01 02 03 04 0O 01 02 03 04
Periodogram Modified Periodogram
50 e 50 g
)
=,
) 0 0
N
Ay
50— 50—
0O 01 0.2 03 04 0O 01 0.2 03 04
f f

029N 92 NAY MN’XT 199N .modified periodogram NVWA PSD 21WND NNNT :13.2 IPN
DOV PITY DAN PMYNYN MNPT NNV OY 210 INY N¥P NTTMMN NVwn N = 256 N0
D210 Wnn NO

NOYN D10

PSD-1 ©°NN 07V 0y INY NV MTTNNN O

R’ TINg P2 TY ORNNN O

Bartlet-Welch Periodogram 13.4

:(13.4 D9450) Bartlet-Welch Periodogram

NN NOYN

D1PN INR YD Lo 7Na ov oyopn M-D npnn MND IR POND O
.02 50% TY DAMN NPYND DD DYOLPNY

.modified periodogram nvwa [, (f), m = 1,..., M avinn yopn 55 May O
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VM0 N O

1 M
(13.9) Salf) ~ 77 > La(f)

PY DN’ NIVP MNVY  MININD 112 :(13.2 N995N) periodogram YV DINda
,DY0OPN 19010

(13.10) Var[I(f)] ~ %Sf(f)

13,3 NPT ININND DN YN TN DINP DYOPNR [, TTND

29TPN NP2 MITHN .pwelch NTIP "y matlab-1 NVXWYN VI
.DWOPN 8-00 MINN YV NPwN O

.DYOPNN A 50% DV NYaN O

.Hamming 9N 0O

J13.3 9PN OOV DYOPN 2OIY DOy NVWN MAY 13.2 NHNTH DY NRN :13.3  HNNT

DWINIAN DY TPMYNYN NYavn )ONN NO) DYOPN I9DN/YOPNN TIND

N = 2000; % number of samples

x = randn(1,N); % white Gaussian noise
a=[1-0.75 0.5]; % filter coefficients

y = filter(l,a,x); % filtring of x

win = hann (250); % Hanning window of length 250

pwelch(y,win) % plots modified periodogram

NN Pt "Prapn” 21X WSS MIMN MY NNOMN/NATYIMN NVWN PN ,D1D0D

Matlab SV NTIPON DV STNN NI2 XINY Hamming PNON OIPNA Hann )ON2 WNNWND

mMoRY  13.5

NTIPON Y ATINN LPF 0N Y'NI9D PNON TIT 12N IRIPR YDINY Wy (MXOMD) 13.1

f

= designfilt('lowpassiir', 'PassbandFrequency', .32,
'StopbandFrequency', .34, 'PassbandRipple', 1,
'StopbandAttenuation', 70, 'DesignMethod', 'ellip');

.Welch periodogram Yy MR INN NN NI PO YN W
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0 0.1 0.2 0.3 0.4 0.

m

o0 . . . T

0 0.1 0.2 0.3 0.4 0.t
f

Hann window (2)

TN MNN TN Bartlet-Welch periodogram NV’ PSD 21v0ND NNNT  :13.3 9PN
ND YNINNN AR ,INY PON 97 IWIARND (DYOPN INY) INY YOP YOPN TR LN = 2000
JOrmNN” ©09yYY DIONN
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NIYRYY NINIINS

A1.17) xwn N2 Y = aX + D 2800 v 00770 1.1 NORWD PIND

plk = 4] =1 - plk < 4] 1.2 NONWN NINO

plk =11+ plk = 2 + plk = 3]

B 77 8) 56

MRNN NNAN DD NAY MOIAPNND MXNNN 900 DR NADD W 1.3 NONYN NN
.DMD2N 2"ND "y KN PNIAPR ND DY NMNIVIND

:1—

N

N = 1le6; % number of random experiments
x = randi(6,[1 N1);

y = randi(6,[1 N1);

zZ =Xx + Yy,

empirical_cdf = sum(z == (1:12)',2)/N

bar (empiricam_cdf)

Y k£ MNSNN 1901 IUND TP 09NN Yyavn MpPIt DY MRNN 1.4 NORYN NN
;0 PPt 190100

X ~ Bin(n,1/2) = p = px[k = n] = (Z)pn(l —p) = (%)”

MDD YO3 MTNNX GN¥ID NPD TWUNRD 1PN IDONN NDNIN DY NN DY IRVIN N 77T
NI INY IR DNR DNONND N0 002 N OINR .OTPN Pyonn p NN

Y ~ Bin(N,p) =p,=1— PF,J0] =1—-(1-p) :1_(1_(§)>

mNoNN 0-9120
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n
1 - (%) MTNN 7 DY 87 KOO NTTIA ND) NNIND N0 /2 77172

n
SO 9D NAWN 20D .(1 — (%) > MTAN Q87 N9Y ND) MNNN N-9 12D

210

1 10

1.5 NONRWN PINS

X ~ Bin(n =10%,p=107"%), px[0] = < )po(l —p)" ~0.37

X ~ Bin(n = 10%,p = 107?), pXUJ=:<n>p%1——pw_1%(l37

X ~ Bin(n = 10%,p =107%), p(X = 3)

1-— Fx[Q] =1 —px[O] —px[l] —pX[Q] ~ 0.08

(0 ,N) 1.6 NONWN PINS

1.7 "ONWN PINS

1
X~Ge0<p—%)

Fx(9) =1—(1-p)°
Pr(X >10) =1—Pr(X <9) =1— Fx(9)
(BN Y
B 36/ \36
78815638671875

~ 101559956668416 0776

,9 TINN 'MNSNTY 0 S N2 21N "y Naon 17T

X~Bm(&%)
px[0] = (i)poﬂr—pfg= (§g>9

X ~ Bin | 10, L
36

10\ /1\° 1\
pﬂm=<0)(%)<F—%) ~ 0.754493

)2 ooyo
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Pr(X > 1) =1— Fx(0) = 1 — px[0]

= ({0 - (3) (- )
<

9
) ~ 0.21557

C»D|r—t
O
CO|CO
Y| Ot

Fr(x) 2.1 NORYN IN9

2.0¢
1.5}

1.0}

-3 -2 -1 0 In2) 1

2.1 NONRWN MY fx(z) DY 9 2.9 N

fx(z)dr =1
—Q0
In(a) 1 In(a) 1
= f GQZdl’ e2m _ —CL2 — 1= |a| _9
—0 —© 4
In(a) 9931 25w Nrnd 5120 KO a YN
T T 1 1,2z < 1 2
Fx(x) = J fx(z)dz = f Ry n(2)
—© —o0 2 1 x > In(2)
In(2) 1
E[X] = J x - —e*dx
—» 2
1 In(2)
= —e* [22 — 1]
8 —
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1
=3 2@ [21n(2) — 1]

4

1
=n(2) — 5 ~0.193147

1 In(2)
E[XZ] = — f 2’ dx
2 —a0
In(2)
1, |2 2z N 2
= — . e —_— — JR—
2 2 22 23
—0

n*(2) In(2) 1
'4[ 2 2 +4]

1
= 1n*(2) — In(2) + 5 ~ 0287306

Var[X] = B[x?] - B°[X] =

Pr(X <0) = JO fx(x)dx = fo %ehdx

11,0 1 1
— Z .l - (1-0)= =
5 3¢ L, 10 =7
1
Fx($0>=1—Fx<xo)=§
]' ]'Qz 2
FX(%):§:16 0 =M =2 = 25=1In(2)

1n(2
T — ng ) < 0.34657359

Pr(0< X <1)=1-Pr(X <0) = >

1 ln(2)1
= | fx(x)dx = f —e*dx
0 0 2
1 1 In(2)
_ .2 _1(22—1)
2 2 0 4
_TL
N
3
n:N-Pr(O<X<1):100,OOO'Z:75,000
A n 1 1 3 1 3
5)=——" =P X<l)—=2.22=12
fx(05) = Grp = Prl0<X <D =777

2.2 NORWYN PINS
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px = py = 1uz = =2 (N)
ox <0z <Oy (2)

WNA Fy(z) = §° fx(z)dz won norwa oy fx(z) DrEpan N »sn 19n9 IwN
Hx = py = piz = 0959 517 nwys (b) WK ,NPN fx () NYIPNS NN (a)

0.8 w (@) 0.8 (b)

0.7

.0 N5MN Sv NaxN NN PDF ‘M9 (b) ,PDF N9 (a) :2.10 TN

2.3 NONVYN PINS

E[X] :% 2
Var[X] = %
B|X?| = Var[X] + E* [X] = %
E [X‘*] _ LOO 2 (a)de = LOO e Ny — i—‘j
E[Y]:E[X2+1] :E[X2]+1=%+1
Var[V] = Var [X2 + 1] — Var [X2] - E[X“] _ E? [X2] - % - % - %
\ :% (2)
E[Y]= 25 +1=09
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10 T T T
— Simulation
— 9.5 Theory |
)
8.5 . . .
10° 10° 104 10° 10
N
350 T . ~/-g\\;\;;vuvu
— Simulation |
Theory
10° 10° 10* 10° 106

N

NoaAPNN MXIOY NPNT 2.11 PN

rng (42)

N = 1e6;

x = exprnd(2,[1 N]);

y = x.72+1;

M = round(logspace(2,6,10));

for k = 1:length(M)
E(k) mean (y (1:M(k)));
V(k) var (y(1:M(k)));

end

NG ON LN DV Ty NOTIN DY DPONIRN DDIYD 29PNND DNNN MNY NoMn ()
N =105 may 0 NPT NPR PITY 1IN ININD

2.4 NORYN NIND
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>

=
a
~

le6;
rand(1,N);
nnz (X.~(1/4)

Var[aX + Y]

Var[X]

Cov|[X,Y]

CZXY

0.3

0.25

02

0.15 1

0.1F

0.05 -

20 25 30 35
Trials

% number of random experiments 2.5 NNV N9

% random experiments

> 1/2)/N % numerical mean

3.1 NONRWYA PINS

_E [(aX + m/)?] ~ E*[aX + BY]
= o*Var[X] + 2a8Cov[X, Y] + f*Var[Y]

Var[X +2Y]| = Var[X] + 4Cov[X,Y ] + 4Var[Y]
Var[X —2Y]| = Var[X] —4Cov[X,Y ] + 4Var[Y]
Var|[ X] = Var|Y]

I
N
S

=6 = Var[Y]
20

= — =25
8

,N1220 5V NN 99NN IR DY) 3.2 NORYD NINID

T Y Pxv|Te yjl

1 0 1/3
1 -1 1/6
0 -1 1/3

11 1/6
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,D”0WN NN NN 2VWN) NONN

pxvie) | PIX =01 =3
pxle] = >, =<{p[X =-1]=1
! pIX =1] =5
plY =0] =3
pyly] ZZPXY[%Z/] =Y =-1] = %
! plY =1] =3
X 5V nomnn 7o OX DYV MOMNN 0) 199 oMt Y -1 X Sv oondonv 10 oow)
Y
1 1 1
EX|=F|lY|=0--4+(-1)-=4+1-=—=—=
[X] =E[Y] F() gl =g

YN Y - X Sv namwnn mnvin
Cov[X,Y] = E[XY] — E[X]E[Y]

= nypX,Y[l'a y] - E[X]E[Y]

z,Y

1 1 1 1
=0-(=1) =+ (—1 — 411l =+ (=1 (-1)- == [—= —=
0+ (1) g+ ()0 g4 11 g D (D (—5) - (-3
11 2
3 9 9
,PNOMPN OTPN 0100
Cov[X,Y] 2 2
P T Nat[X[Var[Y] (5.5 5
¢a§

3.3 NORYN PIND
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E[Z] = BE[X\] + E[Xs] + ... + E[X,] = g
| X?| = Var[X;] + E%[X{] = % G) :%

Var[Z] = Var[X;] + Var[X3] + ... + Var[ X, ] = % — (3.33) nNNWN

PN2D ,IPNDNP 20N OINYNI TRV MININD N2 3.4 IOV PN

Fror(@y) = Fx @) (o) = lexp (-%) u(x)] lexp (-3) u<y>]

= COV[X,Y] =0= PXy = 0

N NINNIND N2 NITHIN 290 2N 20D

Elg(X,Y)] = Hg(w,y)fxy(x,y)dmdy

Cov[X,Y] = E[XY] - E[X] E[Y]
—_—— ——

— JT zy fxy(x,y)dedy — fj zfxy(z,y)dxdy fj yfxy (x,y)dzdy

=0

3.5 NORYN PIND

E[Y] = —6E[X]+22 =4
Var[Y] = Var[-6X + 22] = 6°Var[X] = 72
E[X?] = Var[X] + E*[X] = 11

Y] = E[-6X? + 22X] = —6E[X?] + 22E[X]
—6-114+22-3=0
Cov[X,Y] = E[XY] — E[X]E[Y]
=0-3-4=-12

E[X
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T =

Cov[X,Y]

p= = —1 OINYD WP
+/Var[X] Var[Y]

p(Xi+Xo+Xs=1)=p(X;=1) p(Xy =0)-p(Xs =0) 36 NONYN PN
+p(X1 =0) p(Xo =1) p(X5 =0)
+p(X1 =0)-p(Xo =0) - p(X3 =1)
= p1(1 = p2)(L = ps) + (L = p1)p2(l — ps) + (L = p1)(1 — p2)ps
(X1 + Xo + X3 =2) = pip2(1 — p3) + pi(1 — p2)ps + (1 — p1)paps

le6; % number of random experiments 3.7 noxwn NN

rand(1,N); 7 random experiments
rand(1,N); %
nnz(X.~(1/3) > Y/2)/N % numerical mean

3.8 NONYN NIND

E[r] = —2

[r] ==
b—a)? 1

Var[r] = ( 12@) =3
2 2

E[#] e “3b T Var[r] + B2[r] = = ~ 4.3333
(2.19) Nxnwn

E[n]=0

a+b

E[X]| = E[r] + E[n] = +p=2+0=2

E[C] = E[2rX] = 2rE[X] = 47

Var[X] = Var[r + n| = Var[r] + Var[n] < ombn »n5a
(b—a)® o _ 1
= = — . 1 I . 4
B +0 3 + 0.0 0.3433

Var[C] = Var[27rX]| = 47°Var[X] ~ 1.37337% ~ 13.55425671

- E[(J?] e

= 47r2E[X2] — (47)?
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E[XZ] — Var[X] + E2[X] ~ 4.343
— B|(r +n)?]
— B[] + 2B[r Bl + E|n?]
= Var[r] + E*[r] + Var [nQ] + gEAm]

1
=3 + 22 4+0.01 ~ 4.3433

E[A] = nE [XQ] — %w ~ 4.34337 ~ 13.644984002

E[Xr] = E[(r + n)r]

- 0 13
_ B[] + B[ — E[Tz] = 5 ~ 43333

— B|7*| - (B[] + E[n) B[]

=F :7“2: — E?[r] = Var[r] =

3.9 NONRYN NINS

B[X] - f " cos(a) folw)da — f " cos(x) (%) de = 0

-7 - ™

E[Y] - J sin(z) fo(z)dz — % ﬂr sin(z)dz — 0

—T

E[XY] = Jﬂ cos(x) sin(x) fo(z)dx = ﬁ JW sin®(z)dx = 0

1 s

=1 _W(l + cos(2x))dx

10N PNDNP ONTPN 4.1 NORYN PNIND
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(a) —0.98902, (b) 0.99683, (c) 0.81416, (d) —0.94313

4.2 NORYN NN

A C -5 omua mwd 1l

;NS

C =2X +2Y
A=XY

A -5 C ya oanompn NN avn .

,2IM199) [a, b] yopa PN AR 129 Sya X K7D SW ND9N MY NYEPNIY PO
NN Y9N N (X ~ Ula, b]

1 <x<b
fe(ey={b—a 577
0, Otherwise
1
i cu(b—x) - u(r — a)

,(0"N2) MOLDVLVLD DMYN-"NJ2 OPRIPN DHNYN NV 0N Y -1 X -v D qona
L IM0D [ 7PNOMP 270N DY DN N

E[XY] =E[X]E[Y]

Y -1 X 5w awn vammm nOMnn DX 2w .D2WNY May) MM 1D Ty
NN DYS 2WNY PaDn M 191N D990 DNY D

1 2 !

E[X] :J_OOOO zrfx(x)dr = L xrdr = % 0 _1!
E[Xz] =£1 2% fx(x)dr = Ll idr = %3: = %

A - C 5y mominn 21vnY Ay
E[C] =E[2X +2Y] =2 (E[X] + E[Y]) =2

E[A] =E[XY] = E[X]E[Y] = -~
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VA =9 C'pa o8OMpPN NN 2VNY [ NYD .NOMNN NPIRYDN Oy DXIVNN
E[AC] =E [2X2Y + 2XY2]

—2(B[x?v|+ E[XY2D

VA -5 C ya namwnn mnvn )09 .NOMNN NPINYON 2

2 1 1
Cov[A,C| =E[AC] — E[A] E[C] = 37376
0V NApna L3
A Cov[A, C]
- E —— L (a—E[A
€ = B[C) + = (o — E[AD
NMVYN ,T0 OX LA YV MNvn 7250 D0IMYIN DOTIN DO NN NIAVN DTIPN PYyva
VA DY
Var[A] =E )42] ~ B2[A]
—B|x?v?| - B*XY]
—E *Xz] E [Y2] ~ EY[X] EY[Y]
o117
9 16 144
, 795
A Cov[A, C]
_2+24 Sy 24 +8
r\"Ty) Ty

A NN 10N DY IR IRNND @ IYND

0V NIpna 4

MSCmin =E[(C — (MoptA + nopt))2] = Var[C] (1 — p%¢)
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,C' OV nmvin NX 2w
Var[C] =E[C?] — E*[C]
=E[(2(X + Y))Q] —E[2]2(X +Y)

_4B| X2+ 2XY + Y2] 4 <E2[X] 1 2E[X] E[Y] + E[2] [Y])

PN PNONPN TN

_ CovlAC] g :m%0.92582

PAC =
/ 7
+/Var[A] Var[C] T2

NN TPONPNN NYNINNN TN NNV 1D

2 42 2
msemin =Var[C] (1 — p4e) = 3 (1 — E) = 57 ~ 009524

4.3 NONYN NIND

mse = E[(Y - ?)2] - E[(Y - aX)Q]
—E [YQ] — 2E[XY] + a*E [X2]

dimse — 2B[XY]+ 2E [Xz] —0
a

E[XY]
E[X?]
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4.4 NONYN NIND

mse = E :<Y—Y)2]

_E :(Y—a)@ﬂ

_E _YQ] — 94E [XQY] + a’F [X4]

a—aamse — B2Y —aX?)(-X?)| = 2B [X?Y | + 20| x']

=[] 220 se] o (SR) e
o)y
R

= ~ (0.185611
18000 0-1856

E|x|=E [(%Wl + %WQYI
(i) =
+4 (1%)3 (1—10) E [Wf’] E[Ws)
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Sl

+ +
(@) =~
7~ N 7 N
Sl

PN N N

+
I
VR
cho

+
N
S
\_/ o
o] =

8677

= ~ 0.17354
50000 0-1735
83111
= —— ~0.0014781
mase 76996 960 0.00147813

10 10

9\?% 1 1\?1 41
_<E) E+<1_0> E_@No.0683333

Var[Y] = Var [Wf]

Var[X] = (3)QVar[WI] ; (i>2Var[W2]

-] - o

_Lot_ 4 0.0888889
5 32 45

Cov[X,Y] = E[XY] — E[X]E[Y]
- %E [Wf’] ey [Wf E[W,] - E [Wf] (EE (W] + —E [W2]>

91 111 191
© 104 1032 3\102 102
mse = Var[Y] (1 — p%ky)

v ( coixy] Y
= VarY] (1 <\/Var[X]Var[Y]> )
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97

= ~ 0. 182
11760 0.0065718

A2N2 NI PN DY PR D) NN ,MINS NN DIRNN IINYD NN

1.2

D20 NN DN OV 4.5 NORYN NIND

Y PxvlTr, y;l

Ty
0 0 1/4
11 1/4
2 2 1/4
2 3 1/4
7 k=
px|i] = % k=
3 k=
1 1 1 5
E[X]=1-0+4-1+3-2=7 E[V]=
1 | 1
E[X2]:—-0 L T
10T Ty
1 1 1
E[Y?]==-0+--124-.2?
V=g 0k g2
d 1
VM[X]ZE[X]—E[X]:l—6

pylj] = 3
4_11.04_%.
14
3 =—
4

N e i N N o

j=0
j=1
j:
j=3
1
Loy

NN
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Var[Y] = E|v?| - E*[x] - % - (2)2

1 1 1 1
%ﬂ&ﬂzEMH—EMHmﬂzg

v BY]+ Cov[X,Y] Cov|[X,Y]

[E—

PXYy = = 0.943

tfi:w
| =l

)
4

0
Var[X] = % ((—2)2 + (=1 +0+ 1%+ 22> =2
1

ElY]=-(0+0+3+3+4)=2

Var[Y] = = ((o — 22+ (0-2)2+ (3-2)°+ (3—2)

ot

14
=4+4+1+1+4= i 2.8

1 11
E[XY]=3(0+0+0+3+8)=3=2.2

QMXHzEMHz%

N 111 11 1

Y =24+ "1 =924+ __.1=3—=31
LTy 303
1
u 9

5

msemin = Var[Y] (1 — pyy) = 0.38

X [-2 -1 0 1 2]

Y [0 0 3 3 4]

Ex = mean(X)

VarX = mean((X-Ex)."2)

Ey = mean(Y)

Exy = mean (X.*Y)

CovXY = Exy - ExxEy

VarY = mean((Y-Ey)."2)

rho = CovXY/sqrt(VarX*VarY)
VarY*(1 - rho~2)

41
Var[X] e Var[ X] [X] = [T

4.6 NONYN NIND

+ (4 — 2)2>
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4.7 NORYN NIND

px[k] = {02, 0.1+ 0.2 = 0.3, 0.2+ 0.1 = 0.3, 0.2}
~0.2, 0.3, 0.3, 0.2
py[k] = {0.1+02=03,02+02=04, 0.2+ 0.1 =0.3}
~0.3,0.4,0.3
E[X]=1-0242-03+3-03+4-02=25

[ X2

2.02+2%2.0343%2-03+4%2-02=173

Var[X] = E [ ] E?[X] = 1.05
E[Y]=1-03+2-04+3-03=2
[ 2]: 0.3+22-04+3%-0.3 =46
Var[Y] = E[ ] E2[Y] = 0.6
E[XY]=1-3-02+2.2.02+2-3.01+3-1-01+3-2-02+4-1-02=43
Cov[X,Y] = E[XY] - E[X]E[Y] = —0.7

E[XY] - E[X] E[Y] _ VT s

gpxy = 3
\J(B[X2] = B2[X))(E[Y?] - E2[Y])

Cov[X,Y]

y=E[Y]+ Nar[X] (z - E[X])

4.8 NONRYN NN

px[1] = pxy[1,0] + pxy[1,1] = p1 = 0.6
py[1] = pxv[0,1] + pxy[l,1] = p2 = 0.8

by = E[X]=p1 =06

E[(X - bx)Q] — Var[X] = pi(1 —p1) = p1 — p* = 0.6 — 0.6% = 0.24

b, = E[Z] = aE[X] + cE[Y] = ap1 + cps
E[(Z — bz)Q] = Var[Z] = a*Var[X] + ¢*Var[Y]

= a*[pi(1 = p1)| + 2 [p2(1 — p2)] = 0.24a* + 0.16¢2




190

ElX]=m
E[XQ] = Var[X] + E2[X] = pi(1 —p1) + 92 = pu
E[XZ] = E[aX2 + cXY]
— aE [XZ] + cE[X]E[Y]

= apy + cp1p2

= pi(a + cp)

Cov[X,Z] = E[XZ] - E[X] E[Z]
= apy + cp1p2 — p1(apy + cp2)
= ap1 + cpip2 — ap} — cpipa
=a(p1—pi) #0 Va#0

—uE [XQ] + cB[X]| E[Y] - E[X] (aB[X] + cE[Y))

—a (E [XQ] o [X]) — aVar[X]

.3.11 PNTA DY oM NNDINN 5.1 NORYN NN

E[X =Y] = — po
Var[X — Y] = o? + 05 — 2po,0,

5.2 NONRVYN NIN9

JPINYY 0191 °nY2 ,0n PN ,0n ,Cov[V, W] = 0,857 700 0»00N) 0nwn O

Cov[V, W] = E[VW] — E[V] E[W]

E[V] = E[X; cos(6) + Xssin(f)]| = E[X;] cos() + E[X>]sin(6)
= m [cos(6) + sin(6)]

E[W] = E[—X;sin (6) + X5 cos (6)]
= m [cos(6) — sin(0)]

E[V]E[W] = m? [0082(9) - sin2(9)] = m? cos(26)
E[VW]|=FE [(Xl cos(d) + Xosin(f)) (—X sin(6) + X cos(@))}

=—-F [Xﬂ sin(#) cos(#) + E[XQQ] sin(f) cos(d) 0

+ E[X1X;] cos?(0) — E[ X1 X,]sin®(f) <« cos(26)
= E[X1X3] cos(20)
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COV[‘/,W]=0=>COS(29)=0=>9=%71*%, nez

NYP2IVN NPVDONN 120 POINY MNYN NN OPOIN) OINYN OV TPINRYD NP O
Y = [V,W]T 5v nomwnn madanm ,V ~ N(my,0), W ~ N(my,o3,) 10
NI Y ~ N (py,Cy) DD

T B

Cov[W, V] Cov[W, W] Cov|[V,W]  Var[W]

oy — [ Cov[V,V] Cov[V, W]] _

Var[V]  Cov[V, W]]

Cov[V, W] = ( - m2> cos(26)
Var[V] = E in] ~ B[V
- B :(X1 cos(6) + Xy sin(@))Q] — B2 [V]=---
Var[IV] = E :WQ] ~ B2 [W]
—E :(_X1 sin (8) + X; cos (9))2] B W] =

,(3.17) INNWNS ONNNA 5.3 NORYN NN

Pr(-1< X<l Y<l)ea=—-1b=1c=—-wd=1

Pr(-1< X <1,Y<1l)=Pr(-1<X<l,—-0o<Y <1
= Fxy(b,d) — Fxy(a,d) — Fxy(b,c) + Fxy(a,c)
= Fxy(1,1) — Fxy(—1,1) — ny(l, _OOZ + FXY(_L —0)

J

g

=0 =0
= Fxy(1,1) — Fxy(—1,1)

pX<l,-1<Y)ea=-wb=1c=—-1,d=w
p(X<1,-1<Y)=Pr(-o<X<1,-1<Y <)
= Fxy(l,0) — Fxyl—o07%0) — Fxy(1,—-1) + F =
= Fx(1) = Fxy(1,-1)

SV MHANONY DWN
Fx(—=w0) =Pr(X < —»0) =0= Fxy(-,—®) = Fxy(-»,-) =0

5.4 NONYN NIND

PNOWPD Y VN (N)
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N = 1e6; % number of random experiments
X = normrnd(1/2,1/2,200,N); 7% Each random experiment is 200 numbers
Y = sum(X,1); % sum of 200 random numbers

nnz(find (Y >= 90 & Y<=110))/N % numerical probability

E[Y] =200E[X;] = 100 YOMNN N (2)

2
Var[Y] = 200Var[ X;] = % =50 <« 3.3.1 0N

~(90—E[Y]\ (90— 100
p(90<Y)_Q< Var[Y]>_Q< V50 )
p(110 < 1) :Q<110—E[Y]> 4 (110—100)

Var[Y] /50
p(90 <Y < 110) =p(90 < Y) —p(110 < Y)

—-10 10
¢ («—5*0) ¢ (r@)

10

qfunc (-10/sqrt (50)) - gfunc(10/sqrt(50)) PN Y NMI1900 NN NI
1-2xqfunc (10/sqrt (50))

5.5 NONWN NIND

E[Xf] — Var[X,] + E*[X1] =
E[Xg] = Var[X] + E2[Xa] = 3
1 Cov[Xy,Xs] Cov[Xy,Xs]
prax = V2 0109 12
— Cov[X1, Xs] = % ~1

E[XlXQ] = COV[Xl,XQ] + E[Xl] E[XQ] =1
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E[Y3] = E[X1] + 2E[X;] = 2
E[Yy] = 3E[X1] + 2E[X,] = 2
Var[Y3] = Var[X;] + 2 - 2Cov[ X1, X5] + 2*Var[X,]

—1+4-1+4-2=13
Var[Y,] = 9Var[X] + 4Var[X3] + 2 -3 - 2Cov[ X, Xo] =9+ 8 + 12 = 29
E[YiYi] = E[(X) + 2X,)(3X; + 2X,)]

- 3E[X12] +AE [Xg] 1+ SE[X, Xs]
—3.1+4-3+8-1=23
Cov[Ys, Vil = E[YaYi] — B[Y] E[Yi] = 23— 2.2 = 19

Cov[Ys, Yi]

Y, = E[Y,
L= BV =

(yz - E[Ya])

19
=2—- — -3
13(y3 )

19

Pysy, = 350 ~ 0.9785

Var[Yz] = Var[—X; + 2X3] =3
= Var[X;] + 4Var[X;] — 2 - 2Cov[ X4, X3] =
= 0% + 402 — 4Cov[ X1, X3] = 3
=1+4—4Cov[Xy, X3] = 3 = Cov[X1, X5] #0
Var[Y;] = Var[ X, + X5] =5
= Var[X;] + Var[X;] 4+ 2Cov[Xs, X5] =5
=2+ 1+ 2Cov[Xs, X3] =5 = Cov[X2, X3] # 0

6.1 NORYN NIND

Ry(t1,t2) = E [x(t1)x(t2)] cos(a) cos(B) = %Cos(oz - 06)+ %COS(O& + B)

= E[Acos(2mty + 0)Acos(2mts + 6)]

= %E [AQ] E [COS(27T [t; — tg])] + %E [AZ] E [COS(Q?T [ty + t2] + 2«9)1

.

"

= %E [A2] cos (2 [t1 — to])

= Ry(7)
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6.2 NORYN NIND

E[x[n]| = E[A] =0 WSS NnITHNY OXNNA O
Ry[n,n+ k] = E [x[n]x[n + k]| = E [A2] —1
WSS wn x[n] 195
[(-1)"A] = (-1)"E[A] =0 T 19N O
ly [n]y [n + K]] N 777

Ry [n,m) = Ely [mly [na]] = ()" E [ 42 = (<1 a9

(_1 ni+n2+ni—ni

) (1) = (1) (-1
— (-

WSS wn y[n] )99

Rey[n,n+ k] = E[x[n]y[n+ k] = E [A : (-1)"*’24] — ()™ o

AMwna WSS orr x[n], y[n] oo

6.3 NONRYN NINS

Se(f) =1+ %eﬂ”f + —e i
[ee}
= > Ryfk]e Ik
k=—o0
1 k=0
= Ry[k] = % k=+1
0 1»INN

95 30 6.4 NONWYN NIND
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6.5 NONYN NIND

Elx(t)] = E[A]E[w(t)] =0
Ry(t,t +7) = E[A?|Ry(T) = 0202 6(7)
Sy (F) = o%c?

6.6 NONVYN NIN9

I NINYN NOoMN O
MINNNVD O
22 NINVN N O

22 NINVYN N O

6.7 NONYN NIND

Ela;] =0 -Pr(a, =0)+1-Pr(a,=1) = %
E[a?] = OZ'PY(an =0) + 12-Pr(an =1)= %
Var[a;] = E[af] ~ B =
Zg(t —nl) =1
Elz(t)] =Y. Ela,] gt — nT)
— %;g(t—nT) = %
Ela(t)] = Y B|a2| gt - nT)
= %;92<t—nT) = % = Px
Var[a:(t)] - E[IZ(t>] B EQ[x(t)] - % - <%> - i = Var|a;]

JLOANND NNV NN g() NN P W ,00N YAt MY NIV

7.1 NONWA PINS

Ry(t,t+7) = E[y(t)y(t + T)]
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—E [(alxl (£) + asxa(t)) (arxy(t + 7) + aaxa(t + T))]
= a3 Ry, (T) + 109 Ry, %, (T) + 0102 Ry (—T) + @3 Ry (T) = Ry (7)
R,(t,t +7) = R,(7) T 19N
Ry,(t,t +7) = Ely(t)z(t + 7)]
=F [(apcl (t) + asxa(t)) (bixi(t + 7) + boxo(t + 7'))]

= a1b1 Ry, (T) + a1ba Ry, x, (T) + a2b1 Ry x, (—T) + a2bo Ry, (T) = Ry (T)

7.2 NONVYN PINS

Blx(t)] = BIAP?] = PE[A] = ]

1 1 1
Ry(t1,ty) = E[x(t))x(ty)] = E[AAL3] = 213E[A%] = tft%J x21—0dx = tftgg

0 —

1 1 2
Ely(1)] = E[A%2] — 2 B[A2] — 12 J 2t gt
2.5 nonT

1 1 t2t2
Ryy(t,ta) = E[x(t))y(t2)] = E[A; A%]] = t1t3E[A%] = tftgjo 1:31 —gdv = %

Cxy(t1,t2) = Rxy(t1,t2) — E[x(t1) ]| Ely(t2)]
p(y(t) > 3|x(t) = 2) = p(A(At?) > 3|At* = 2) = p(2A > 3) = p(A > 3/2) = 0

E|A?] = Var[A] + E*[A] = &5 + 35 = £+ 2N noon 711
Ry (t1,t3) # Ry (1) NPANINONVD 22D

ny(t17t2) 7 ny(T)

7.3 NORWN PIND

E[v(t)] = E[x(t)] + aE[y(t)] =1 +a
Ry(t,t+7)=F [(X(t) + ay(t)) (X(t +7) 4+ ay(t + 7'))]
=F [X(t)x(t + 7')] +a’F [y(t)y(t + T)]
+aB [x()y(t+7)] + aB [x(t + 7)y(t)]
= Ry(t,t +7) + a®Ry(t,t +7) +a+a
= Ry(7) + @Ry (7) + 2a = Ry (1)
E[w(t)] = E[x(t)y(t)] = E[x(®)]E[y(t)] =1
Ry(t,t+71)=F [X(t)x(t +7)y(t)y(t + T)]
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| (x(t) + ay()) (x(t + Py (t + 7))

7')] +aF [x(t + 1)y (t)y(t + T)]
aF [X(t + T)] Ry (7)

Var[w[n]] = Co[0] = Ru[0] — 2, = 1 — (%) _3_n

AMYN 0D XD MMNA 1991 /00 X9 NA y[n] 1975 yara MmN 931 (R)
Ely[n]] = E[w[n]] cos([wo + Aw]n) = %COS([wo + Aw]n) = py[n]
Var[y[n]] = cos?(wo + Aw]n)Var[wln]] = ° cos* ([ + Awln) < (x118) rmenens
— B|y[n]| - B*[y[n]]
= B[w[n]] B[cos? (fwo + Awln) | ~ § cos? ([en + Aw]n)

NO MMRD TR .wy < Wy + Aw IWUNRD (6.8 NDINT) WSS NN MMNIN TR 95 ()
.9Mmwna oo

E|y[n]] = E[w[n]] E|cos([wo + Aw]n + 9)] = w0

[
S
il

nl]] =0 <« 6.8 NONT

| —
|

W2[n]] E[cosz([wo + Aw|n + 9)] «— (3.23) NNOD

_ %RW[O] (1 +W) - %RW[O] _ %

Ryy[n,n + k] = E[w[n]wln + k]] E[cos(won +0) cos([wo + Aw] (n + k) + 9)]

# Rxy[K]

DDIANN PNIND .gMYNIL DD RO MMKRD 199 00 KO NN y[r] 190D yara mdn S5 ()
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6.8 NONIT DY

Ely[n]] = E[w[n]] E[cos([wo + Aw] n)] = pwE[cos(won + Awn)]

11 in(ax + b
= —J —cos(won + zn) dr < Jcos(ax + b)dx = sinfaz +b)
2).4,2 5 a
Ix (x)g(x)
1
1 sin(zn + won) 1 [sin(won +n)  sin(wen —n) (1]
= - = — — — n
4 n 4 n n Hy

-1

= % [sin([wo +1]n) — sin([wo — 1]n)] = % sin(n) cos(won)

w0 = pi/20; % arbitrary chosen 0NN DY 2N NNNTD PNNNDD
N = 20; n = 0:N-1;

dw = rand(1,1ed4)*2-1;

y = cos((wO+dw') .*n);

Ey = mean(y);
plot(n,Ey,'-',n,1/2./n.*(sin((wO+1)*n)-sin((w0-1)*n)),'o"')

AMWYNA DD XY MMRN 1991 00 KXY NN y[n] 1905 yara mdn 591 (1)

1
1
Ely[n]] = E[cos(won + w[n])] = J 3 cos(won + x) dz
T
fx(@)g(x)
1
=3 sin(won + x)‘ =

[sin(won + 1) — sin(won — 1)]

H
N | —

= sin(1) cos(won) = py[n]

w0 = pi/8; NOMN SV WND NNNTY TPNNPD
w = rand(100,1e4)*2-1;
n = 0:99;

cos(wO*n + w');

<
1]

Ey = mean(y);
plot(n,Ey,'-',n,1/2*xsin(w0*n+1)-1/2*sin(w0*n-1),'o")

Simulation
O Theory

Simulation

0.8 |-

0.6 -

0.4

. Ebn
Ely[n]]

02

- I I I I I I I I I I 1 I I I I I I I
0 10 20 30 40 50 60 70 80 90 100 0 2 4 6 8 10 12 14 16 18 20

"7 yo (2) ) PYo (N)
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<0

S|
| —
g
[\
=
| S

I B3 &3 Ao e

E [COSQ(H)]

N | — t

= —sin
T

51

5

1
2

2
- cos(2x)dx

(1)
—7/10

/10
5,5 V5 0.935489
T\ 8 8

™

5

(5)

P = E[COSQ(Q)] ~ 0.967745

Ry[n,n + k] = E[x[n]x[n + k]]

= E[w[nlw[n + k]| E 0052(6)]

- R, [k]E[cosQ(G)] — Ry[K]

Ry[n,n+ k] = E[y[n]y[n + k]]

SR

[wln]w[n + k]| E[cos(@[n]) cos(@[n + k])]

[wln]wln + k]| E[cos(@[n])] E[cos(@[n + k])]

7.5 NORYN PIND

(v/5 — 1) ~ 0.61803
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S
—
=,
=,
|
S
2
S
=
S
—
Q
]
wn
—~
(S
=)
S
+
>
=,
~
[

8.1 NONWN NIND

A1.1,6.7 MINONTO MYTA ,NPIVAN D077 3-2 NN NINON (W)
N 71T Ri[n,n+ k] = E [x[n]x[n + k]
=F [(W[n] +wln—1]) (wn+ k] + wln—1+ k])]

= Ry[k] + Rwlk — 1] + Rw[k + 1] + Rw[k]
= Rylk — 1] + 2Ry [k] + Rw[k + 1]

= [k — 1] + 20[k] + o[k + 1]

= {1,%,1}

Ryln,n+ k| =FE [y[n]y[n + k]]
—E [(W[n] —wiln—1]) (wln + k] — wn — 1+ k])]
= —Rylk — 1] + 2R [k] — Rw[k + 1]
={-1.2.-1
177 hen] = {1,1}

hy[n] = {1,-1}

Rulk] = Ru[k] * ha[n] * ho[—n]
==L {L1} ={1,2,1}
= Cx[n,n + k]

Ry[k] = Rw[k] * he[n] « ha|—n]



201

= {1} = {%, —1} = {—1, %} = {—1,%, —1}

1+2) =242+ 27" = Z{R[k]}

P9, NPIYAN 0DIT 3-2 NI PNIN9N (3)

N TV Ryy[n,n + k] [x[n]y[n + k]]

=F
ZE[(W |+ wln —1]) (w[n+k]—w[n—1+k])]
= Rwlk] — Rw[k — 1] + Ry [k + 1] — Ry k]

—Ry|k — 1]Rw[k + 1]

= =6k —1]+ o[k +1] = {1,?,—1}

2777 Ryylk] = Rwlk] * he[—n] * hy[n]
= he[—n] = hy[n]
= {179a _1} = OXY[k]

) TIT Sxy(2) = Sw(z)Hi(1/2)Hy(2)
=z — 2" = Z{Rylk]}

Ryy [k] #0 VEk
Cyy [k] #0 VEk

N2 7PNOMP 0N RY ,OPIMOVININ RY O°°ONN2 7121TH 120D ,7.2.1 NNOND ORNNA
.0MON N2

NIV L MOMN NOVPY R¥IND v .10.2 NNOM 10.1,5.3 ©PI9D OXRNNA NXIN PINAN ()
LDPNIPNR OINWNN NWVIDY DV covariance

Cov[x[2],x[2]] Cov[x[2],x[3]] Cov[x[2],y[4]]
C = | Cov[x[3],x[2]] Cov|[x[3],x[3]] Cov[x[3],y[4]]
Cov|y[4],x[2]] Cov[y[4],x[3]] Cov|y[4],y[4]]
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G0 Cell] Cayl2] 21 0
| a1l oo Cofi] =t 2 -1
Col-2] Cuy[-1] Cy0] 01 2

r T
u=1o o 0]
.PI0NYD IDINY PIVYD 22XD 7.2.1 NNOM 6.4.3 NNON :NAVN NNON
L(8.7) NNNYWNA WY Nnd NMT 192 ﬂ1bﬂ|7ﬂ)3 mxvnn (1)

mse = E[(y[n] — a1X[n] — agx[n — 1])2]
2 _ b2 (vla] - orxt] — o~ 1) ()
— 92F [x[n]y[n] + a1 x%[n] + agx[n]x[n — 1]}
= —2Ryy[0] 4+ 2a1 Rx[0] + 2a2Rx[1] = 0
9 _ E[z (y[n] — a1x[n] — azx[n — 1]) (—x[n — 1])]

= —2Ryy[1] + 2a1 Ry [1] + 2a2R«[0] = 0
Ry[0] Ry[1]] |a1| _ ar| | 3
Ro1] RfO]| |as] = T lay| T |2

8.2 NONRYN NIND

Ry [0]
Ry [1]

NI MIANDNN YN .OITHNIN MNY) NOMN DY POIN) OXIPR TONNA 1DTN (N)
ONNN2

x[n] ~ N (,ux = E[x[n]] = 0,0} = Var[x[n]]| = Cx[0] = R\[0] = 4)

X

_1-0 (g) _1-0Q@2) = Q(~2) ~ 0.9772

WSS TONN SV MXTN P2 7PNOMP OTPN DY NITHND ORNNA (2)

Cx [3 - 1] RX[Q] —2

P = = =e

P90N 2WwN2 1NN ()
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NN NN PNV FIR NO9yN2 921 (1)
y[n] = x[n] = h[n] = x[n] = {1,0, 2}
= x[n] = (8[n] + 26[n — 2])

SOINY P NYIAP NOMIN) DNPPNN 6.4.2 NNINA DRINNY MXRIND N2 PAOND
{7252 It wIaN2 DN NP

™MIANDNN 2N 19Y N LTI NN TIT X0 ORIPR TOIN DY 12yna H21m (N)
y[n] ~ N <uy, 0—3) SV DI MIANDN SV MNON DY DOANN

py = Ely[n]] = px Y h[m] = 0 « (11.3) nxnwn
Ry[k] = E[y[n]y[n + k]]

E
E[(x[n] +2x[n—2]) - (x[n + k] + 2x[n — 2 + k])]
E

l

[x[n]x[n + k]| +2R«[k — 2] + 2Rx[k + 2] + 4Rx[k]

-/

S5Ry[k] + 2Rx[k — 2] + 2R«[k + 2]

x[k] = h[n] = h[-n] < naow 777
<| k] = S5[n] + 2d[n — 2]) x (5[n] +26[n + 2])

/

R
R

v

26[n—2]+58[n]+28[n+2]

oy = Var|y[n]| = Cy[0] = Ry[0]
= 5Rx[0] + 2R« [2] + 2R«[-2]
= 5R[0] + 4Ry[2] = 20 + 162 ~ (4.708)?

Ry[0]  Ry[2]
Oy = Ry[2] R

Cov[y[l], y[3]] Var [yf3]]

Var [y[l]] COV[Y[l] Y[3]]] —

DN NOIYNA TNV DOX2 ,9MYUNa OPINNNOLD 0N OONNN (7)

Ryy[k] = Rx[k] * h[n]
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[k] = (8[n] + 26[n — 2])

Rx
Ry (k] + Rx[k — 2]

DT NN JMI NITHIN 290 2N 2D

Ry K]

l

E [X[n]y[n + k:]]

I
(& =

[x[n] (x[n + k] + 2x[n — 2+ k:])]

[x[n]x[n + k]| +2E[x[n]x[n — 2 + k]]

J/

v

Rx[k]

= Ry[k] + Rx[k — 2]
"y DAPHN NYSINND TPV INNDY OV DNINN (N)
mse = E[(X[TL + 1] — agy[n] — a1y[n — 1])2]

—mse = 2F

o (<[ + 1] = aoy[n] — ary[n — 1]) - (~y[])

(
[

é)%qlmse =2F (X[n +1] — agy[n] — ary[n —1]) - (—y[n — 1])]
[

NI NAXNN NN PNINN

2 + Te? + et
_ ~ 0.0808184
9= Je + 1663 1 2560
2 (1 + 62)
g = ~ —0.0112818

4+ 162 + 25¢4

8.3 NONWYN NIND

E|z[n]| = E[x[n]] cos(won) + E[y[n]]sin(won) = 0
R, n,n+ k| =FE [(x[n] cos(won) + y[n] sin(won))
<x[n + k] cos(wo(n + k) + y[n + k] sin(wo(n + k)))]

= Ry[k] cos(won) cos(wo(n + k))
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— %Rx[k] COS(W()]{?) + %Rx[k] COS(WO(2n + k>)

+ BgfhT cos(win) sin (wo(n + £)) — 0
+ Ry sin(won) cos(wn(n + k) = 0

+ Ry [k]sin(won) sin(wo(n + k))
— %Ry[k;] cos(wok) — %Ry[k] cos(wo(2n + k)

= Ry[k] cos(wok) = R,[k]

Ry n,n+ k]l =FE [x[n] <X[n + k] cos(wo(n + k)) + y[n + k] Sin(wo(n + k:)))]

- E[x[n]x[n + k] cos (wo(n + k))] + E[X[n]y[n + k] sin(wo(n + k))]
R

# Ryz|k]
pP= g:—g] = R,[2] = Rx[2] cos(2wp) = (—1) - exp (_%)

z[n + 2] = a1z[n] + agz[n — 1]
mse = E i z[n + 2] —z[n + 2])2]

(
=F (z[n + 2] — a1z[n]| — asz[n — 1])2]
(

—mse =F

day z[n + 2] — arz[n] — axz[n — 1]) Z[n]] =0

= E[z[n + 2]z[n]| — a1 E [z[n]z[n]]| — axE[z[n]z[n — 1]]

imse = E|z[n + 2|z[n — 1]] — a1 E [z[n]z[n — 1]] — asE[z[n — 1]z[n — 1]] = 0

6’@2
R,[0] R,[1]
R,[1] R,[0]

a1
a

Rk + 2] = a\R,[k] + asR,[k —1] k=0,1
z[n] ~ N(E|z[n]] = 0, Var[z[n]]| = 1)

8.4 NONRWN NN

E|z[n]| = E[x[n]] E[cos(won + 0)] + E[y[n]] E[sin(wen + )] =0 (N)
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R, n,n+ k] =E [(x[n] cos(won + 0) + y[n]sin(won + 6)) -
. <x[n + k] cos(wo(n + k) + 0) + y[n + k] sin(wo(n + k) + 0))]

DNR-IDN NND W

S
l

[x[n]x[n + k]| E|cos(won + ) cos(wo(n + k) + 9) Ry[k] cos(wok)

N — N~

cos(won + 6) sin(wo(n + k) + 8)_

l

1E| Ry [K] sin(wok)
] B [cos(won + k) +0) sin(won + 6)] — —%ny[—k] sin(wok)

S

[y[nly[n + k]| E[sin(won + 6) sin(wo(n + k) + 6) | — %Ry (K] cos(wok)

, 01205
Ro[k] = %cos(wgk) [Rulk] + Ry [K]] + %sin(wok) [Ray [F] — Roy[]]
PoON 2NWN

[Rel0] + By[0]] = 51 +1] = 1

TPNOMP 0N OPONINVNN JWSS :0N MMNXD :MMNXD P2 WP ()
Rya[n,n+ k] = E[x[n](x[n + k] cos(wo(n + k) + 0) + y[n + k] sin(wo(n + k) + 0))]
= Rx[k]E[cos<w0(n + k) + 9)] + ny[k:]E[sin(wo(n + k) + 0))] =0

= Ryz[k] n-2 7510 omba

YOIND ONIAPN MNYN May ()
Var[z[n]] = C,[0] = R,[0] — pz = R,[0] = P, =0, =1

2[n] ~ N(0,02) — Pr(z[n] . 1) _0 ( L

20,

> — 223919

NVYAN DWN ()

E[(z[n] —aln— 1])2] - E[ﬂn]] — 2E[z[n]z[n — 1]] + E[z2[n - 1]]
= 2R,[0] — 2R,[1]

195, 070N YNN HY IRYY P8yamp 0N x[n], z[n] ©2YNn 8.5 ndNwN PIna
NN NYITI NOY NPIDN NN NIV .9MYNA DPINNXOD) DPINNNVD ,0PDIN) DN
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L795 naom

E
= E[xi[n]xi[n + k]| + E[xo[n — 1]x2[n + k — 1]]
+ F[Xl[n]] E[xo[n + k — 1] +E[x2[n — 1]] E[x1[n + k]]

/

R
oOMYN dNY3 DNV Y91

= Ru[K] + Rulk] + 2112 = Ry [H]

Py = Ry[0]
= Rl [O] + RQ[O] + 2/}4/12
R:[0] = Var[x;[n]] + E*[x1[n]]
= o7 + i
Py = o} + pi + 03 + iy +2u o
W__/
R2[0]

= 0% + 05 + (p + p12)°

= Ry[k] + Ro[k] + 2u1pta — (p1 + p12)”
—
E7yln]]
= Ry[k] — 1% + Ry[k] — 122
= Cl[k‘] + Cg[k’]

Var[y[n]] = Ry[0] - E[y[n]]
= Var[x;[n]] + Var[xa[n — 1]]

2 2
=07+ 05
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/ /

[0]
— 20, [0] + 2C[1]

y[0] + y[1] ~ N(2(p1 + p2), 2Cy[0] + 2Cy [1])

Var[y[0] + y[1]] = Var[ [0]] +2 90v[y[0], y[1]] + Var[y[1]]
[ [

Cy[l] Cyl0]

‘<

E|z[n]] = p1 + po = E[z[n]]
R,[k] = Ez[n]z[n + k]]
= Ry[k] Ry[k] 5v 21¢on5 pint 2won

Ry,[n,n+ k] = E[y[n]z[n + k;]]

= B[ Galin] + ol — 11) Galn — 1+ K]+ xofn + )|

= E[xi[n]xi[n — 1 + k]| + E[x2[n — 1]x2[n + k]| + 2p1
= Ri[k — 1] + Ro[k + 1] 4+ 2p1pt0

= p2 =0
mse(a) = E[(z[n] - ay[n])2]
= R,[0] — 2aRy,[0] + a®R,[0]

dmse(a)

da

— —2Ry,[0] + 2aRy[0] = 0

+ R2 [O] — aRQ [1]
—aR; [1] + CL2R1 [O]
—alRy [1] + a2R2 [O]

dmse(a)
da

= —2R[1] = 2R,[1] + a (2R:1[0] + 2R4[0]) = 0

_ Ry[1] + Ry[1]
~ Ry[0] + Ry[0]
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8.6 NONYN NIND

E[y[n]] = E[xi[n]] + E[x2[n — 1]] = p1 + po

E 1) (x1[n + k] +X2[n+k—1])]
E[xl[n]xln+k] E[xs[n — 1]xa[n + k —1]]
+Ex1[ o[n + k —1]] + E[xa[n — 1]x1[n + k]]

R Rolk] + Ris[k — 1] + Roa[k + 1]

R |+ Riolk — 1] + Rio[—k — 1] = Ry [k]
1)] = Rio[—k — 1] <« nO5nwa M &Y Ry k]
Py, = Ry[0] = R1[0] + R2[0] + 2R2[—1]

E[Z yln] | = Z E[y[n]] = 2(p1 + p2)

Var[y[0] + y[1]] = Var[y[0]] + 2Cy[1] + Var[y[1]]
= 2C,[0] + 20y [1]
y[0] + y[1] ~ N(2(pu1 + p2), 2Cy [0] + 2Cy [1])

Ry,[n,n+ k] = E[(Xl[n] +x2[n — 1)) (x1[n — 1 + k] + xa2[n + k])]]
= E[xi[n]xi[n — 1+ k]| + E[x2[n — 1]xa[n + k]
+ E[xi[n]xa[n + k]| + E[x2[n — 1]xi[n — 1 + k]|
= Ri[k — 1] + Ro[k + 1] + Riz[k] + Rau[K]
= Ri[k — 1] + Ro[k + 1] + Rio[k] + Rio[—k]

p = p2 =0
mse(a) = E[(z[n] - ay[n])Z]
= R,[0] — 2aRy,[0] + a®R,[0]

dmse(a)
da

— —2R,[0] + 2aRy[0] = 0
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mse(a E[ z[n] — ay[n ]
_ E[(xl[n] +Xo[n — 1] — axy[n — 1] — aXz[n])Q]

= Ro[0] + Rio[—1] — aRy[1] — aRy3[0]
+ Ro1[1] + R2[0] — aRy2[0] — aRy[1]
—aRy[1] — aRy2[0] + a®R1[0] + a*Ry[1]
— aRy3[0] — aRo[1] + a®Ryiz[1] + a* R,[0]

dmse(a) _ o Ry[1] 4+ 2R12[0] + Ro[1]

da R1[0] + 2Ry2[1] + R[0]
9.1 NONVYN PINS

x(t) = Acos (2w fet + 0) + Amsin (27 f,,t + @) cos (27 fot + 0)
E[x(t)] = AE [cos (27cht + 0)] + AmE([sin (27 fint + ¢)|Elcos 2mfet +6)] =0
Var[x(t)] = E[x — E?[x(t)] = E[x*(t)]
E[x*(t)] = A [cos (2mft + 0)] + A2m2E[sin”® (27 fyut + ¢)]E[cos® (2n f.t + 6)]
+ 2mA*E[sin (27 fint + ¢)]E[cos® (2nfot + 0)]
B A N A2m2
2 4

Ry(t,t +7) = E[x(t)x(t + 7)]
— A2E [cos (2 fut + 0) cos (2nfu(t +7) + 9)]
+ mAPE [ cos (27 ot + 0) cos (2mfu(t + 7) + 0) | E[sin (27 fun(t +7) + 0) |
+ mA2E [cos (2 fut + 0) cos (2mfu(t +7) + 0)] E[sin (27 fut + 6)]
+ m2A%E | cos (2m [t + 0) cos (2 fo(t +7) + 6) | x

X E[sin (27 fit + @) sin (27 frn(t + 7) + ¢)]

2 2 A2

= A?cos(Qch )+ cos(2m f.7) cos(27 f,7)

P, _J \ Se(f)df = f fdf = Ry(0) = P, = E[x*(t)]
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10.1 NORYN PINS

10.2 NONWN PINS

4
2
:f 2
4 CL2 + (27TF)
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4
1
= 4af —_— dF
0

a? - 2 2
W+F2 47'(' (i) _|_F2

a (4 1

1
— | +
8

2 42
= — atan(SﬂF)’ = —atan(327) ~ 1
7T o

x(t) ~ N(0,1) = Pr(x(1) > 3) = Q(3)

E[x(0) + x(1)] =0
Var[x(0) + x(1)] = Var[x(0)] + 2Cov[x(0),x(1)] + Var[x(1)]

:1+1+20x(1)=1+1+2Rx(1)=2(1+e—i)

Pr([x(O) + X(l)] = 3) =@ (\/\/’ar[x(z) + X(D])

y(t) ~ N (cos(Qot),1) <« Qo = 2730g
Varly(t)] = E [y*(t)| - B2 [y(t)]

=F :XQ(t) + 2 cos(Qot)x(t) + cos2(Qot)] — cos?(Qot)

- :XQ(t)] +2cos(Qut) E [x(1)]
— R(0) =1
Var[y(t)] = Var[x(t) + cos(27300)] = Var|x*(t)| < vafax+s]-avaix)
P(t) = B |y*(1)|
—E [XZ(t) + 2 cos(Qot)x(t) + cos2(90t)]

=1+ cos*(Qt)

E[y(t)] = cos(Qt)
Ry(t,t+7)=E[y(t)y(t+71)]
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- E [(x(t) + cos(Qot)) <X(t +7) + cos(Qo(t + T))>]
- F [x(t)x(t + 7')] + cos(Qt)E [x(t + T)]
+ F [x(t)] cos(Qo(t + 7')) + cos(Qot) COS(Qo(t + 7'))

1 1
= Ry(7) + 3 cos(Qo7) + 5 cos(2Q0t + Qo7)

10.3 NONYN NINS

Ry (1) = 106(T)
Sy = 10

P,

y

B,

o0

3
f Sy (F) [Hy(F)[* dF = f 10 - 12dF = 60

-3
—0

3 9 3 F2 2
10f |Hy(F)|"dF = 10J exp | = | dF ~25.0
-3 -3

3 F2
10J exp <——) dF

_3 2

o F?
10V27r—— —— | dF
[ (-5)

10v2m (1 —2Q(3))
e¢)

J Sy (F) |Hy(F)[* dF

—00

K 2
10 J exp (—%) dF = 10V27

—00

z(t) ~ N(0,10v/27)

Ryo(1) = F 7 {Sy,(F)} = F Sy (F)e?* TR
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10.4 NONRWYN PINS

22 SV N8¥WM )95 ()25 wyd SV Non) E[x[n]] = 0 n5Mn ndya NN N5 O
E[yi[n]] = Elys[n]] = E[ys[n]] = 0 »on LTI m>ynn

JDOMYN OINY NIDONN ¥ TN 091591 ,1POINI NN MDIWNNIN NNN DD DY X8 O

.cov NYIVN OV WD NI NINSN O

SX(f) =4
Var [yl[n]] =Py,

- [ ) ar
— 1 [P
0.15
= 4[_0.15 df =4%2+%0.15=1.2
Var|ya[n]] = Py, =4+2+(02—-0.1) = 0.8
Var|ys[n]] = Py, =4+2%(0.3-0.2) = 0.8

Cyoa[0] = Ry, [0] = j Syl f)df
_ f Sl ) HE (F)Ho( f)df
4 j H3 (F)Hy(f)df

0.15
:4*2J df =4+2%(0.15—0.1) = 0.4

Ry [0] = 4 | H} () HalH)df =0
Ry (0] = 4 [ HY(F)H(1)df =0
vi[n] 0 1.2 04 0

voln] | ~N | [o].]04 08 o0
ys3[n] 0 0O 0 038
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J

Ry[k] = 4exp(— [k]) My

0

Self) = D, Ry[k]e 7>/

k=—o0
R.[0] + R, [1]e™*/ + R,[1]e?*™/
+ R,[2]e ™2 4 R,[2]e7™ 2 4 ...

—|—2ZR cos(2m fk)

=4+38 Z e ¥ cos(2m fk)

k=1
=4+ 8¢ cos(27f) + 8e 2 cos(4n f) +

JOMNM AN VNN XN NN NOAPNNN PaDN MO’aN )amd

Var [yl[n]] =P,

,TNPNA ONTPNNS 0PN Pyod onim Ry, ,[0], Ry,,[0]

0.15 0.15

Self)df = 2 f Su(f)df

0.15 0

0.15 0.15 0
=2f 4df+2f 826 cos(2m fk)df

0 0

0.15
=2.4. 015+16Z —’ff cos(2m fk)df

k=1 0

- ] f=0.15

= 12416 ), e*’“ﬂ sin(27 fk)
T

k=1

£=0
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2
=12+ ( o + o2 + 3edm "
— g + % (log <6 ( 1)3/1(]) log <(_1>7/10 * e))
~ 2.12415
) Pyo
vl ([Ef00]| [Culo) Coalo
y3 [n] E[Y3 [n]] ’ OY23 [0] Cy3 [0]
Elyz[n]] = E[ys[n]] = E[x[n]] =0
Cy2 [0] = R}’Q [O]
— JO Se(f) |Hy(f) Ha(f)| df
L, Jo.w 4df
=2+4x0.00=04
Cy,[0] = Ry,[0]
_ L Se(f) | Hy(f) Hs(f)| df
~0
Cy[0] = j Sy, () H (F) Ha(f)df
_ J (S<(F)HL(f)) Hs () Hs(f)df
-0
,012°00
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PINRND ORNNA 11.1 NOXYA PINS

Ry[k] = 0®h[n] « h[-n] = h[n] « h[-n] = 3" h[m]h[m + k]

Ry[3]

m

n 5;
h 1./2.7[0:n];
hh= conv(h,fliplr(h))

hh(n+1+3)

’

% final answer

N h[m]h[m + 3] = h[0]A[3] + A[L]A[4] + A[2]A[5]

21
1928

:Matlab *”y 27wnNn

% define h[n] values

% evaluate h[n]l*h[-n]

(11.27) nxnwnd orNNA Ry [k] 21won 11.2 NORWN PIN9

11311

4’2’?’2’4

|

!

19 9239 91

8’16’8’%6’8’16’8

1 1
4} fh
T2 21

|

conv([1/4,1/2,3/4,1/2,1/4], conv([1,1/2],[1/2,1]))
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23
Py = R,[0] = T¢ = 14375

Ry,[k] = Ry[k] * ha[—n] = ho[n] =0 Vk

ha[=n] = h[n] = {% %} . {ho,hl}

h h
:{§7h0+?1,h1}7é0fork#0
—_———

1

07PNN RO NN Lh[n] = h[—n] = 0 w17 NN
Vho,hy # 0 2y 29TN2 Moaan hy[n], hx[n] mdyny MxINS NN NION MIVAN
(9.3 APN)

1
Hi(f) =5 + el

Hy(f) = ho + hye 927

11.3 NORYN NIND

N = 1le6; % length of white Gaussian noise signal
x = randn(1,N); % white Gaussian noise signal

y = filter(1,[1 -0.1],x); % output signal

C = xcorr(y,1, 'biased'); % auto-correlation

c( % answer

12.1 NORYN NIND

(N)
h(t) = z(to —t) = u(ty — t) [exp (—a(to—t)) —exp (—ap (to — t))]

y(to) = (z = h)(to) ()

- JOO [exp (—at) — exp (—ozﬁt)]2 dt

_ JOO exp (—2at) + exp (—2a3t) — 2exp (—(a + 1)Bt) dt

1 1 2
%+2a5_(a+1)5

2
e R
Py(to)_y<t°)_[2a+2aﬁ (a+1)6]
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o)
P= f Su(F) [H(F)|" dF o)
—o0
N Q0
=5 | lHE)far
2
—00
Ny 2
- et ar
—00
No
=yt
5 y(to)
2
y(to) _ 2
SNR = = —y(t
A
N = led: 13.1 NONYN PINS
x = randn(1,N);
f = designfilt('lowpassiir', 'PassbandFrequency', .32,
'StopbandFrequency', .34, 'PassbandRipple', 1, .
'StopbandAttenuation', 70, 'DesignMethod', 'ellip');

y = filter (f,x);
pwelch(y); % pwelch(y,hann(N/10))
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"ONNN NAY)

NMNYANN
MY NYNOONN :1./2 NIV
Notation PDF CDF E[X] | Var[X]
1 0 r<a ,
<z <b — b | (b—
Uniform Ula,b] b—a 7 —— a<xr<b ot (b—a)
0 otherwise b-a 2 12
1 b<zx
Normal | N(u,o?) ! exp | — (o —p)’ O (x) 0 o?
7 o227 202
Exponential | Exp(\) Aexp (—Ax),xz =0 1 —exp (—Az) /A 1/)\2
MTT2 NYNOONN :2/2 NIV
Notation PMF CDF E|X]| Var[X]
0 x <0
_ 1—p k=0
Bernoulli | Ber(p) P 1-p 0<z<1 P p(1—p)
b B 1 1<z
Binomial | Bin(n,p) (Z) pk(l —p)nk np | np(l—p)
1 1-—
Geometric | Geo(p) p(1 —p)Ft - 2]?
p p
AF ko)
Poisson PA) | p(X =k) =exp(—]) o exp (—=A) 2 — A A
! =0 0:




221

(12)

(272)

(3.12)

(4.2)

(5.2)

(6.2)

(7.)2)

(8.2)

(9./2)

(10.2)

(11.2)

(12./2)

01291 ©990N

e/ = cos(a) + jsin(a)

cos(a) = w
. el — eI
sin(a) = 5
NN
natn
d n __ n—1
et =ne
d - .
7D [f(@)] = exp [f(@)] = f(x)

001 XY Y3901N

0901 Y9909N
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(13./2)

(14.2)

(15./2)

(16.2)

(17.2)

(18.2)

(19.2)

(20./2)

(21.2)

(22.32)

(23.2)

(24.2)

(25./2)

(26.2)

(27.72)

Y99 HMNN

nMon

d" 7. n
90 <= (G2mF)"G(F)
F

9(~1) < G (F)
g(t — 1) < G(F)e

g(t)el? ot Lo G(F - Ry)

mamnn

u(t) << % <;%F - 5(F>>

F 1
—at)u(t) <& ————
exp(—at)u(t) ot o

F 1
t —at)ul(t —
exp(—at)u(t) <= (a + j2nF)?

2a
a2 + Am2F?

exp (—at2> é \/gexp (— (ij)2>

F

cos(27 fut) < %[5(1? ~ F)+8(F+ F)|

exp(—a\t\) Z,

sin(27 fut) <2 2%[5(1? —F)—6(F + Fa)]

u(t+a) —u(t —a) Z sinc(2n Fa) It2 ©919

sinc(27Fa) < u(F +a) —u(F —a)
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NNYONNINIO NYAY

1

(28.2) sin?(a) = 3 (1 — cos(2a))
(29.12) cos?(a) = % (1 + cos(2a))
(30.2) cos?(a) — sin?(a) = cos(2a)
1
(31.72) cos(a) cos(f) = 3 [cos(a + B) + cos(a — )]
1
(3272) sin(a) sin(f) = 5 [cos(a — B) — cos(a + )]
1
(33.2) sin(a) cos(f) = 5 [sin(a — B) +sin ((a + 5))]
Z DMNHHN
X(z) = Z w[k]z*
k=—o0
1920 372 NPYVIYY Z MINNN
Signal Z transform ROC
d[n] 1 C
1
uln] T |z| > 1
—ul-n 1] : <1
u[—n I z
. C — {0} if m > 0,
O —m] - C— {0} ifm<0
“uln] 1 4| >
a"uln T zl >a
—arul-n 1] 1 4| <
a"u[—n g zl <a
. az™t
na™uln| Ao 1) 1z] > a
-1
. az
—na"u[—n — 1] Ao 1) 1z] < a
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1 — cos(wg)z™?

cos(won)u[n] [ pe |z| > 1
_ sin(wp)zt
sin(won)u[n] T Zcos(wy)z 112 |z| > 1
1 —rcos(wy)z!
" >
™ cos(won)uln] = 9 cos(wo) 2! 1752 2] >
1
r™ sin(won)uln] rsin(wo)z- |z| > r

1 —2rcos(wp)z=t + 12272

nMon
Property Discrete Signal Z transform ROC
Linearity a1 [TL] + CLQIEQ[’/L] a1X1 (Z) + CLQXQ(Z) includes Rl M R2
Time shift x[n — ny] 27" X (2) R
Frequency scaling zpx[n] X (i) |20| R
<0
Time reversal z[—n] Xz R™Vifm <0
Conjugation x*[n] X*(z*) R
. R1 M R2 (or
Convolution (21 = x9)[n] Xi1(2)Xa(2) possibly more)
dX
Frequency derivation nxn] —Z%(Z) R
Time differentiation | x[n] — x[n — 1] (1-2"HX(2) R n{|z| > 0}
= X
Accumulation Z x[k] ] —(zzl Rn{|z| > 1}
k=—o0
DTFT 9909
CE .
X=X = o
z=el¥  pn——op
1 (™ ) .
z[n] = —J X ()™ dw.
™ —T
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Properties Signal DTFT

Linearity ary[n] + bxo[n] | aXy(e’) + bX:(e?¥)

Time shift x[n — ng] eI X (ev)
Frequency scaling ej“’onx[n] X (ej (“_WO))




3 NAY)
19990

MY NNOONN NDAVN PPND TPIAYN NOYD TIDPN 2IWIN DY DNINI OMDN 51301 O”P
LDN19) DIVIN 90N

English Term ‘ Abbreviation ‘ nvaya oy

. INAPN MNWN
Random variable RV P IR

| [}

Expectation ‘ ‘ nomn
Average ‘ ‘ YNNI
Variance ‘ ‘ nnv
Covariance | | nOMVYN MNY

MANIVNN NMXPNS
Cumulative distribution function CDF NH3VNN MIANON NNPND
NI208D NMOONN NPXPNS

mMa’aN N»NPND

Probability density function PDF

MONINON MDAN NNMNPNID
Probability mass function PMF (PDF) MHINON NPNPNI
Joint probability density function Joint PDF NOMYN MOAN NHNPNI

PO MO NINPN

Marginal probability mass function Marginal PMF POV MIANDN NOSPN

Joint probability mass function

Correlation coefficient (or Pearson

product-moment correlation DN OTPN
coefficient)

Un-correlated DNINY dNYa

|
|
Marginal probability density function ‘ Marginal PDF
|
|
|
|

|
|
|
|
Joint PMF ‘ NOMYN MHIANON NMMNPNS
|
|

Random process YNIAPN TONN




"t HAD)

TYHN IR

JNYN NOHN OV N2D MMNNA ONPN DN NAY TVNN IRV DY PN Ndwa 1oND
DNTPNN DININD ,D0NP DY NITO N ,OMP W D XY DD May 0”12

DXNYPN DIRYDN NN WY TIN2 MIX MNYNN N :(detection theory) 230 NN O
MK OV NMAIYAN YNV P2 NudNnD

MTTN NN OIVNIY DY OVIN MN  :(estimation theory) TIWYWN NN O
Ball IVl

MK OV PN IR/ WD (machine learning) NN21N NN O
NN OV 0M IO M) :(deep learning) NPY NTNO O

TIDY YN PTNN-IT MIRD ANNND ONYNND JN2) :NAVYMNND IR INNN MY O
PO NINN PRIND DNYPN DMY» DIV NN NI 00D INNN DY MM
Y M0N VYT IMYY INA

N OV TPONRIVPIAD PADN MOAN 1IN :(spectrum estimation) OIIVPAD TIWVY O
0 M) PN L ££E NTIPY DNDN A5 INY NP "IPMN” NN ONRIPN

TTMND DNIVNY AT OINYN ONON NN :(adaptive filtering) 2INON YO O
ANDNN MIND 2IMANRND OV 0PV DY

MVIANY PO PNN MNMPY MPY PWINR 190N NN :(queueing theory) ©DNNN NNN O
DOVITIN DIVNN PARYN IR/ DN AMIINND 20°IPNNN y% MNADI MPT x N Myn
JDMVPN MNYI2 DOMY YWD TNIVN DY

DONT ,MNIY NN IR M99 ©TP :(information theory) YT0N NMN O
D5 DRYHN DY NMIPYWA 2773 ,DORYN PN TP WyIa 9190 1PNI90 NN O

oV DOTIN M YNV MMNX OV ADNATY MY TR0 MMNX DY MNY/My O
LNV PN TP DT MMN

MLVYNN S2APO MNONIYV NP2 MOIWYN DY DN MNPN PION :INTPIN NIpa O
NOIYN OV NANNN 20 MYTH PN NIV DXNYD Q0N .MU MTTN TR0 DY
(It Y1ap RS NMON DTNV NOIYN) NIPINN
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:DMINND DOPVYN TYNN IRV NOND XD NNYwIN
JPOPa MYMN PIND DOTIN D NP O

YNIMY NPODN N2 ,MIIYN MPNN ,NN? D DY PNDIDVNN ID 0071 N»Ywyn O
Q2N PN Hv

NY 292 MO INNND 29N YN DD ,OPOY DM O

LO»TNY DN DY NNNN D ,)PNN Py NDODS O



45 oo 3.14 monT
51 ..o 4.1 NONT
52 .00 4.2 NINT
3 4.3 N7
56 ..o 4.4 DONT
63 ..o 5.1 NNT
63 ..o 5.2 N7
64 .. oo 5.3 "onT
64 .. 5.4 monT
65 ..o oo 5.5 NnT
66 . ..o 5.6 NONT
67 .o 5.7 "onT
68 ... oo 5.8 manT
0 o 5.9 monT
70 L 5.10 NONT
80 ... 6.1 NNT
81 ..o 6.2 MONT
8 oo 6.3 NONT
8 oo 6.4 NHONT
8 oo 6.5 NINT
87 ..o 6.6 NONT
88 ..o 6.7 NONT
92 oo 6.8 NHONT
o 6.9 NHONT
100 . . ..o 000 7.1 onT
100 . . ..o 000 7.2 ONT
1010 ... 7.3 NONT
102 .. .00 7.4 DONT
109 ..o 8.1 NuNT
3 8.2 NNNT
3 8.3 manT
112 o000 oo 8.4 NONT
119 . ..o 8.5 NONT
122 0000000 9.1 NNT
D 9.2 NINT
124 . ..o 9.3 "MONT
128 . ..o oo 9.4 NONT
131 ..o 10.1 "ONT
132 ..o oo 10.2 "7
135 000000 10.3 NONT

DINNDIT MIIYH

............. 1.1 N7
............. 1.2 PonT
............. 1.3 onT
............. 1.4 N7
............. 1.5 nmonT
............. 1.6 NHONT
............. 1.7 nonT
............. 1.8 nnnT
............. 1.9 "nT
............ 1.10 "7
............. 1.11 N7

............. 2.1 nonT
............. 2.2 "ONT
............. 2.3 NHNT
............. 2.4 "ONT
............. 2.5 NNNT
............. 2.6 "ONT
............. 2.7 NNNT
............. 2.8 NNNT
............. 2.9 N7
2.10 NONT

............

............. 3.1 monT
............. 3.2 ONT
............. 3.3 nnT
............. 3.4 N7
............. 3.5 nnonT
............. 3.6 NONT
............. 3.7 o7
............. 3.8 N7
............. 3.9 monT
3.10 NONT
3.11 "onT
3.12 NnNT
3.13 NnNT

............

............



MNXONT XY 230




D NAv)

D901 P2 DMWY DTN DIND

7905 790 P2 DNV OI2T 2 DY
LT ORIPNR MINWN DY PDF N2y PMF ThPn OWa vy O
NI RN NN WSS MR MY T =ty — 1 IN T =11 — 19 DV NI P20V O

CTIP2 V) P15 Ted 2190 27 P2 5T7aN 9531 Ny 102

.DVN O190N Pa OOTAN DIDD 1N NDAV

T PMF/PDF Npn
t; — o PDF [1]
ty — 1 PDF (2]
to — 11 PDF [3]
to — 11 PMF (4]

- PMF (5]
ty — 11 PDF [6]
to — 11 PMF (7]
to — 1 PMF (8]
to — t1 | discrete PDF, PMF | Wikipedia
t1 — 1o PDF Matlab
t1 — 1t PDF scipy
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